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0 ����� ��� !��,�����
�� �� �#��1�� �� ��
 ��
"����� 2)
H�G ,���4#����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � K3
H�5 ����!#����� ,����/�#�!� � � � � � � � � � � � � � � � � � � � � � � � � � � KH
H�3 ����
�� �� ����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � KH

H�3�G &�� ��M������� ����
�� �� ����� � � � � � � � � � � � � � � � � � � KH
H�3�5 
����� ������ �� ����!���� ��#��4���� �� �� �#������ � � � � � � � KN

H�3�5�G 
����� ����� �� ApT0 ηB ��� ����� AπB �� F#��� ASB � � � KN
H�3�5�5 
����� ����� �� ApT0 ηB ��� �#����� 
�#���� ��  �#�6 � KK
H�3�5�3 
����� ������ �� ApT0 ηB ��� �����#�
�� Aφ0 >Dψ0 ΥB � � L�

H�H &�� ���2���#�
�� �� I ���""�� J � � � � � � � � � � � � � � � � � � � � � � LG
H�H�G �Q
#
��� �� I ���""�� J � � � � � � � � � � � � � � � � � � � � � � L3

H�H�G�G �Q
#
��� �� I ���""�� J ���� ��� ����� ����!�� � � � � L3
H�H�G�5 �Q
#
��� �� I ���""�� J ���� !�� AπDSB→ µ0 !� 
�#���

�� !#  �#��� � � � � � � � � � � � � � � � � � � � � � � � � LN
H�H�G�3 �Q
#
��� �� I ���""�� J ���� !� ��"�#! Aφ0 >Dψ �� ΥB � LK

H�H�5 �#�6 �� I ���""�� J � � � � � � � � � � � � � � � � � � � � � � � � � G�G
H�H�5�G 
�������� � � � � � � � � � � � � � � � � � � � � � � � � � G�G
H�H�5�5 
�� # �!��� �� I ���""�� J � � � � � � � � � � � � � � � � G�G
H�H�5�3 ,������ ��� ������� ��� �#�6 �� I ���""�� �������

 �#� J � � � � � � � � � � � � � � � � � � � � � � � � � � � G�H
H�H�5�H ��� �� ��?�� �� 
�!!������ ���!#������� �#� ��
���� ��

2��
���� �� !# 
����#!��� � � � � � � � � � � � � � � � � � G�H
H�H�5�N �#�6 �� �����
���� ��� ��M������� ����
�� �� ����� ��

2��
���� �� !# 
����#!��� � � � � � � � � � � � � � � � � � G�N
H�H�5�� 8����#���� ��� ����
�� �� ����� � � � � � � � � � � � � G��
H�H�5�O �#�6 �� I ���""�� �������  �#� J �#�� �M��� 
�� ��#/

������ � � � � � � � � � � � � � � � � � � � � � � � � � � � G�O
H�H�5�K �#�6 �� I ���""�� �������  �#� J #4�
 !�� �M��� 
��/

 ��#������ � � � � � � � � � � � � � � � � � � � � � � � � � G�K
H�H�5�L ���#����� � � � � � � � � � � � � � � � � � � � � � � � � GGO

H�H�3 �#�6 ���

��#���� ��� 
�#� ��� �� I ���""�� J � � � � � � � � � � GGL
H�N ���
!����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � G5G

3 �����
���� ��� ���� �� !����
���� ��� ����� 4!�� �� �'3
N�G ,���4#����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � G5N
N�5 8����#���� ��� ���
���� �� �#��� � � � � � � � � � � � � � � � � � � � � � G5�

N�5�G ����
�� �� ����� � � � � � � � � � � � � � � � � � � � � � � � � � � G5�
N�5�5 ������� �� ����
���� � � � � � � � � � � � � � � � � � � � � � � � � G5�
N�5�3 �������� �� ��!�
����� � � � � � � � � � � � � � � � � � � � � � � � G5O
N�5�H ���
��� �� �#��� ��� ������� �� ��"��� ������� � � � � � � � � � G5O

N�5�H�G &�� ��#�F���# � � � � � � � � � � � � � � � � � � � � � � � G5K
N�5�H�5 &� 
�������� 
����!� � � � � � � � � � � � � � � � � � � � G5K
N�5�H�3 &� 
�������� ���/
����!� � � � � � � � � � � � � � � � � G3�

N�3 �6��#
���� ��� �#�6 �� �����
���� � � � � � � � � � � � � � � � � � � � � � G3�
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N�3�G �6��#
���� ��� �#�6 �� �����
���� ��� ��#�� ����!�� � � � � � � � G3G
N�3�5 �6��#
���� ����!�#��� ��� �#�6 �� �����
���� �� 
�#��� 
����!�0

�� !#  �#��� 
����!�� �� ��� ��#�F���# � � � � � � � � � � � � � � � G3N
N�3�5�G ���
����� �� 2���� � � � � � � � � � � � � � � � � � � � � G3O
N�3�5�5 %<�������� "!� #! �� �#�6 �� �����
���� � � � � � � � � GH�

N�H '���� �� !# ����������� ��� ��#�� ����!�� � � � � � � � � � � � � � � � � � GH5
N�H�G $������
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GH5
N�H�5 
������#���� �� ���.!� � � � � � � � � � � � � � � � � � � � � � � GHN
N�H�3 Υ′/Υ �� 2��
���� �� !# 
����#!��� � � � � � � � � � � � � � � � � � GH�

N�N ���
!����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GHO

���
 ����� �0/

� �� ���1 � �� ������� �3�
%�G $������
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GNG
%�5 &� ��?#� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GNG
%�3 ��!!����� ������/��?#� � � � � � � � � � � � � � � � � � � � � � � � � � � � GN5
%�H ��!!����� ��?#�/��?#� � � � � � � � � � � � � � � � � � � � � � � � � � � � GN3

����� ��� 56���� �.)

����� ��� ��7 ���� �.2
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����� �!�� �� ������ #��0 !�� ��?��
���� �������� !� ��#"�#��� �� ��#�� �� !#
�#��.�� ��
!�#��� �#� !����������#��� ��� 
�!!������ ������ !����� �!��#/��!#��4������ &#
�#��.�� ��
!�#��� ����#!� A������0 ��?#�B �� 
������ �� �#���
�!�� ���/�!�����#����

�������� �!!��/�E��� �� ��#�F� �� �� "!����� +�0 
�� �������� �� ���� �#� � ���4�� ;
!���#� !� �� 	 �!� ���� ���<���� 
������ ; !���������� ��� �#������ �� �� �!#
� 
���� �#��.��
�#�������� �#�� ��� 
��������� �������?�#������ �6��E��� A�#��� ������#���� ��D��
�#��� �������  #�?������B0 !� ��
��������� ��� ��#�F� �� ��� "!���� �����#�� #4���
!��� 
���� !� ������ !# ������� �� !# ������/
?�#����� *�#������ A*�
B �� 2�����
�� I �!#��# �� ��#�F� �� �� "!���� J� 
��#�� !�� �����.��� ��
��/��
����� #��.� !�
I 7�" 7#�" J0 !����4��� �� ���#�� ����4� �#�� �� ��!!�� 
���������� �������0 �� 2#�� ��
��� �6�#�����0 �! #��#�� �4�!�� 4��� !����4��� �#�������� ��! ��� ���� !� 
���#������
#�<��������� �� ���4�! ��#� �� !# �#��.�� ��
!�#���0 !� �!#��# �� ��#�F� �� �� "!����0
�������� ��� 
#�#
����������� ��M������� �� 
�!!�� �� !# ��#�� �#��������� 
� 
� 2#��0
�� ��� ������ ��"�#����� ���������� ��� ��� ��������� ������ �!�� �� 4��"� #�� ����
�# ���� �� �4����
� �6��������#!�� ��� ��� ��"�#����� #4#�
��� �#� (� �#�= �� ��
,#���� �� GLK� ��� !# ����������� ��� ��#�F���# �#�� !# ��#�� �!#��# �#� �
�#��#"�
�� 
��!���� &� ���"�#��� �6��������#! ��� 
�!!������ ������ !����� �!��#/��!#��4����� #

�����
� �#�� !�� #����� K� ; !�%8� AI %!����#���" 8�#����� �?�
������ JB0 ���� �����
�������4� #� �
� AI ����� 
����� �?�
������ JB� 
����� 5���0 !� �($� AI ��!#��4����

(�#4? $�� ��!!���� JB 
������� 
� ���"�#��� �� ��
���
�� ��0 ; �#���� �� 5��O0 !� &(�
AI &#�"� (#���� ��!!���� JB �� ����# ��� ���"�#��� �6��������#! #4�
 ��� ����"��
5K 2��� ���������� ; 
�!!� �� �($�� &�� ������� � ������ �#� ������ ��� �6������
��
���� 
���!�����#���� 
#� !�����"�� ��� 2#��
�#�6 ��� ��M������ 
� ��� ������ �� ������
��� ��"���� ��M������� �� ��#"�#��� �� ��#�� �� !# �#��.�� ��
!�#����


��#�� 5� #�� ���6�!��#���� �� ��#"�#��� �� ��#�� �� !# �#��.�� ��
!�#���0 ��
��� ���6 ����
�� �� !# 2���#���� ����� ��#�� �!#��# ��� ��<; ��� � ���4�� �#�� 
��
�6������
��� ������0 �#� �6���!�0 !# ����������� �� >Dψ ���� �� �4����
� #� �
� �� !#
����������� ��� �#����� �� �#�� pT � ���4�� #� �($�� �� 5���0 !������ !� ��� ����!�#��
� ����� #� �
� # 
������ !�� �������# !�� ��� �6������
�� ; �� !��� �� 
���������
�� ������� �� 
��������� �� ������ ������#�� ����� ���4�! ��#� �� !# �#��.��0 �T !��
��#�F� �� !�� "!���� ���� ��
������0 #4#�� ��� ��� �� �4����
� �#�� !�� 
�!!������ ������
!����� #� �
�� �� 5��N0 !�� ����!�#�� � ����� ���#�� !�� ��#��� �����.��� #����� ��
������ �� ������� #� �($� ��� 
������ ; !# ��M����� ���� 
��������� �� ������� ��

��������� #����U#��0 
���� 
�!�� �� �
�0 !# 2���#���� ���� ��#� ��
����� �� !#
�#��.�� ��
!�#��� ��.� ����� �� ��.� 
�#�� �#�� !�� 
�!!������ ������ !����� 
���������
�� ��#�F� �� �� "!����� �� ���4�! ��#� �� !# �#��.�� � ���4� #� �($� �� ��M����
��
�� 
�!�� ������� #� ���� �� �#���� �� !# 2���� �����#
���� �� ��� 
�������#��� ���T
!� ��� �� �*8
 ���� I �����"!? �����#
���" *�#�F/8!��� 
!#��# J� ������#��0 �!
2#�� ����� ��� 
���#��� #���
�� ��� ������� 
�!!�
���� #� �
� �� #� �($� ���� ��
���
��
������ �� ��� ���! �� ����� !� �� ��"�#����� �����# ���!!����� ��"��� �� 
#�#
�������
��?��������� 
� ���4�! ��#� �� !# �#��.���
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����� ��.�� ��� ��"#����� �� !# �#��.�� ���4#���� 
#�� !� 
�#����� G0 !� 
����6�� ����/
����� �� �6��������#! �� !# ��?����� ��� 
�!!������ ������ !����� �!��#/��!#��4����� ���#
���������� 
#�� !� 
�#����� 50 !�� 
#�#
����������� �� 2���� 
�!!��������� &(� AI &#�"�
(#���� ��!!���� JB �� �� ����
���� %&$�� AI % &#�"� $�� ��!!���� �6�������� JB0
��� ��� !� ����
���� ����� ; !������ ��� 
�!!������ ������ !����� �!��#/��!#��4�����0 ������
����������� &�� ���2���#�
�� ��� ����/����
����� �� !# �#���� 
����#!� �� �� ���
���/
�.��� ; ����� ������ ��
����� �"#!������ ���#!�����0 
���� �#���� �� ��������# �#�
��� ���
������� ���#�!!�� �� �?��.�� �� ��
!��
������ �� ���
����.��� ; ����� �� ��
��� �!�
�������� #���
���� 
#�� !� 
�#����� 30 <� ���������#� !�#�#!?�� ��� ���2���#�
��
����� �
� AI �������4� 
!#�� ��#� �� JB ��� ��� !# ��
���!�"�� �� ����
���� ���!����
���� !� �?��.�� �� ��
!��
������ �� ���
����.��� ; ������ &�� ���2���#�
�� �����
�
� ������?�� ��� ��� �������� ���� 2#��
�#� #� ���� �� 5��3� %��.� ��� ���
�������
�� ���������2 �6��������#! �� 
� ����0 ��� #�#!?�� ��� ���2���#�
�� �� 
���� �
�0 ��
�!�� �#���
�!�.������ �� !�����"������ �� !��Q
#
��� �� ����
����0 ���# ���
����� 
#��
!� 
�#����� H0 !������ ��� ���2���#�
�� �� �?��.�� �� ��
!��
������ �� ����� ���Q/

#
��� �� �� 2������
� �� ��
!��
������0  #��� ��� ��� ����!#����� ,����/�#�!�0 ���#
���������� 
#�� !� 
�#����� N0 <� ��
���#� ��� ������� ���6��#
���� ��� �#�6 �� ���/
��
���� ��� ��#�F���# ; �#���� �� ���
��� �� �#��� ��4#��#��� ��� �#���� �� ����� ��
��"��� ������� #������� #��.� �� ���� �� 
�!!������ 
 /
 #� &(� #4�
 !� ���
����.���
; ������ &�� ����!�#�� � ����� ������ ������� ���
�����
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∑
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�#��� �� ��#�F� �� �#��� m0 �� �#4��� j Aj = u, d, s, c, b, tB0 ��

���� 1
2
�� �� 
��!��� α Aα = 1, 2, 3B� 
��� ��� 
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αS(Q2) =
αS(µ2)

1 + αS(µ2)

(

33 − 2Nf

12π

)

ln
Q2

µ2

AG�KB
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����#��� �� 
���!#"� ���
������ # ��� � ����� �� �� ����#�� �� 
�����
��� !�� ��#"�#���� ; !������ �����  ��
!�� �� !� ��� �� �� �#4���� ����� �#� ��.� "�#��
ANf < 17B0 �� � ���4� ��� αS(Q2) ��
��-� ; ������ ��� Q2 #�"�����0 
����/;/���� ���
!# 
����#��� �� 
���!#"� ��4���� ������ ; 2#� !� ����#�
� A2#� !� �����#
���� ����� !��
��#�F� �� !�� "!����B� ����� ��������� 
#�#
���������� �� !# *�
 ��#���!!� !# !� ����
#�?��������� A�"��� G�GB�

$! ��� ���!� �� ���
���� !# 
����#��� �� 
���!#"� �� ���������#�� !� �#�#�.��� ���
��!!�
Λ �� !# �#��.�� ���4#��� 	
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αS(Q2) =
12π

(33 − 2Nf) ln
Q2

Λ2

#4�
 Λ2 = µ2e
−

12π

(33 − 2Nf)αS(µ2) AG�LB


��6 
������������ ������
�� ���� ; ������"��� ��!�� !��
��!!� ������"�� Q2 ; !#/
���!!� �� �� �!#
� ���� � ���4�� !�� ���
����� ��?������ 	

V ���� Q2 >> Λ2 	 αS(Q2) ��� �����0 !� ��4�!�������� ������ #��2 �� !# *�
 ��
�����#�
� �� αS ��� 4#!# !�� &�� ��#�F� ���� #!��� 
��������� 
���� ��#��/!� ���
A!� ���� #�?���������B� ����� !� ���#��� ������"�� �� !# *�
 ������ #��4� W

V ���� Q2 ≃ Λ2 	 !# 
����#��� �� 
���!#"� ��4��"�0 !� ��#������� ������ #��2 �� !#
*�
 ����� �!�� 4#!# !�� &�� ��#�F� �� !�� "!���� �����#"������ 2��������� �����
�#�� 
� ���#��� ������"�� ��������4���� !� 
��������� ��� ��#�F� �� ��� "!�����
����� !� ���#��� ������"�� �� !# *�
 ���/������ #��4��

&� �#�#�.��� ���
��!!� ��� �� �#�#�.��� !� �� �� !# *�
 �� ���� E��� ����������
�6��������#!������ 
��� �� �#�#�.��� ���
��!!� �6� �#� !�� ������� �6��������#!�� XN℄
; Λ = 210 ,�: �� Nf = 50 !# 
����#��� �� 
���!#"�0 αS0 ��� �"#!� ; 0, 1182 ���� ���
4#!��� �� * �6�� ; !# �#��� ��  ���� ���������#��� Z0 A�"��� G�GB�
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��	 � �� �������� �� ��� V

'(0 
� "#���� �� ����$� �� �� %#����

����� �� ��
��� 
� ��
 �� �
� ��� ��
�� � 

&� ���.!� �� �#
 X�℄ ������ ��� ���
������� ���������!�"���� �� 
��������� ���
��#�F� ; !���������� ��� �#������ 
#�� !� ���.!� �� �#
0 !�� ��#�F� ���� 
���������

���� ��� �#���
�!�� ��!#��4����� �#�� �#��� �4�!�#�� !� ������ ; !���������� ���� �#

��������� �� ��������� ���� �� !������ �� !# �#�!!� �� �#����� &� 
��������� �#��

� ���.!� ���4���� �� !�����!� �� ����� !# �������� 7 �6��
�� ��� !� �#
 �#� !� 4��� ��
*�
 �� !�����"�� 
�������� ��� ��#�F� 
������� &# �������� �� �#
 7 ��� ��� ��#�����
���������!�"���� ���������� ���� ������� �� 
����� !�� �M��� ���/������ #��2� ��

��������� �� *�
� 
�#��.� 
� ���.!�0 �� �� 
�����.�� �� �#���� 
���� �� ]����
�#�2#�� AI  �!!� �� "#= J �� 3 ��#�F� !� ���B ������ ; ��� �������� 7 �� 4���0 !� �����.��
�� 7������!!� ���� ����� #!��� 	

3 × Ec +
4π

3
R3B = cte #4�
 Ec =

2, 04

R
AG�G�B

&�����"�� 
�������� ���� ��#�F !� �� AEcB ��� � ���� ; �#���� �� !����#���� �� 
��#

�#�� �#���0 γµpµΨ = 00 ; !#���!!� �� #<���� ��� 
��������� #�6 !������ �� �#
 	 !� 4���
�� *�
 ����#�� �#� 
�!��� �#� ���������0 !� 
���#�� �� 
��!��� AJµ = ΨγµΨB �� !#
������� �� 
�#�"�� �� 
��!��� Aρ = ΨΨB ���4��� ��#���!�� #�6  ���� �� �#
0 �� �#?��
R�

�� ����4#�� !����#���� ���
������ �#� �#����� ; R0 �� ���� !��6�������� �� !# ��������
B �� �#
 	

B =

(

3 × 2, 04

4π

)

1

R4
AG�GGB

�� �� �����0 �#� �6���!�0 !� �#?�� �� 
��������� �"#! #� �#?�� �� ������ R = Rp =
0, 8 2�0 �� � ����� #���� ��� �����#���� �� !# �������� �� �#
 	

B = 0, 235 8�:D2�3 AG�G5B

+� 
������� �#�� !� 
#��� �� 
� ���.!� 
������ ��� ��#������� �� ��#�� ���� #�/
�#�#-���� �� �M��0 �� !# �������� 
�������� ; !���������� �� �#
 ��4���� ���������� ; 
�!!�
�� �#
 A�#� 
�#�M#"� ��D�� #�"����#���� �� !# ������� �� �?��.��B0 
�!��/
� �� ����
�!�� 
������� !�� ��#�F�� 
#�� �� ��!!�� 
���������0 ��� ���4�!!� ��#�� �� !# �#��.��
��� 
����0 
������� �� ��#�F� �� �� "!���� ��
������ A; !���#� !� ��B�

\ �#���� �� 
� ���.!�0 �� ���� �#�����#�� ������� !�� 
#�#
����������� �������?/
�#������ A������#���� �� ������� ������"�� 
�������B �� !# ��#������� �� ��#�� �����
�� "#= �� ����� �� �� �!#��# �� ��#�F� �� �� "!����� &�� ���6 ��#��� ���� �����/
���� E��� ��� "#= �#�2#���� 
#�� !# �����0 !�� 
#!
�!� ������ ����!���� �� 
�������#��0
���� !�� ���6 ��#���0 !� ��������! 
�������  #�?������ µB ��!� �� ������� ���������� !#
��M����
� ����� !� ��� �� ��  #�?��� �� ��#���/ #�?���� &�� ����� ���� �������� �#��
�#��� A����� �!��#/��!#��4�����B� 
��� �� "#= ��  ����� A2�������B �� ������#���� T ��
�� ��������! 
�������  #�?������ µB ��!0 !� ��� �� ��  ����� A2�������B ������!����
p �� ������ �� ���4#�� ��� !�� �� 7���/�������� A�����/
��#
B 	

f(p) =
1

ep/T ± 1
#4�


{

+ ���� !�� 2������� A��#�F� �� #���/��#�F�B
− ���� !��  ����� A�����0 "!����B

AG�G3B

&# ������� ������"�� �� 
� "#= ���
��� #!��� 	
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ǫ = g

∫

∞

0

4πp2dp

(2π)3
pf(p) =

⎧

⎪

⎪

⎪

⎨

⎪

⎪

⎪

⎩

g
7

8

π2

30
T 4 ���� !�� 2������� A��#�F� �� #���/��#�F�B

g
π2

30
T 4 ���� !��  ����� A�����0 "!����B

AG�GHB
&� 2#
���� �� ��"������
��
� g 4#�� 3 ���� !�� ����� 
���������#�� #�6 ����� ��#��

�� 
�#�"� Aπ+, π−, π0B0 G� ���� !�� "!���� A5 ��#�� �� ���� × K ��#�� �� 
��!���B �� 5H
���� !�� ��#�F� A5 ��#�� �� ���� × 3 ��#�� �� 
��!��� × 5 ��#�� �� �#4��� × 5 ��#�� ��

�#�"�B� &� 2#
���� ODK 
��������� #� �#����� ��� ��������� A�������� ������"���B �����
�� "#= �� ����� �� �� "#= �� 7����

&# �������� �� !# ������� ������"�� ���� "#= �#�2#�� �!��#/��!#��4���� �� 7��� A�� ��
�����B ���� !���� �#� !����#���� ����#�0 ǫ−3P = 0� &# ������� ������"�� ǫ �� !# ��������
P ���
��4��� #!��� �� 2��
���� �� !# ������#���� 	

ǫπ = 3
π2

30
T 4 Pπ = 3

π2

90
T 4 AG�GNB

���� �� "#= �� ����� �!��#/��!#��4�����0 ��

ǫQGP = 37
π2

30
T 4 + B PQGP = 37

π2

90
T 4 − B AG�G�B

���� �� �!#��# �� ��#�F� �� �� "!�����
&# 
����#��� 7 ���������� ���� !� �!#��# �� ��#�F� �� �� "!���� ���������� !# �������

������"�� ��
���#��� ���� #������ !� ��
��������� ��� ��#�F� �� ��� "!����0 �����#!�����

������ ; !���������� ��� ������ &# 4#��#���� �� !# ������� ������"�� �� 2��
���� �� !#
������#���� ��� ������� ��� !# �"��� G�50 ���� !�� ���6 ��#��� 
����������� ����� �"���
��"".�� ��� !# ��#������� �� ��#�� ����� !# ��#�� �#�������� �� !# ��#�� �!#��# ��� ��
������� ����� A���
��������� �� !# ������� ������"�� !��� �� !# ��#������ �� ��#��B ��
#��#�#-� ���� ��� ������#���� 
������� �� 	

Tc ∼ 0, 148 8�: AG�GOB

&# ������#���� 
������� Tc ��� ���������� ��#�� !# �������� �� "#= �� ����� ��4����
�"#!� ; !# �������� �� �!#��# �� ��#�F� �� �� "!���� APπ = PQGP = Pc ∼ 20 ,�:D2�3B�
\ �#���� �� 
� ���.!�0 !# ������� ������"�� 
�������0 ������� #4�
 !����#���� G�G�0 4#��
ǫc ∼ 1 8�:D2�3� \ !# ������#���� 
�������0 !# ��M����
� ����� !�� �������� ������"��
���������� !# 
�#!��� !#����� 4�!������0 l ��� 4#�� 	

l = ǫQGP (Tc) − ǫπ(Tc) ∼ 0, 93 8�:D2�3 AG�GKB

����� 
�#!��� !#����� ���������� !# 
�#!��� 4�!������ ��
���#��� #� ��
��������� ��
!������ !� ��� ��#�F� �� ��� "!����0 �����#!����� 
������ ; !���������� ��� ����� A
2�
�"��� G�5B�


�� 
#!
�!� ����!#���� ���4��� E��� ����� ; ��������! 
������� ���/��!� &# �����/
�#���� 
������� �� !# ������� ������"�� 
�������0 � ������ #4�
 �� ���.!� ��!#��4�����
����!�0 ���� 
�����#�� ��.� ���
��� ��� ����!�#�� ����� �� 
#!
�!� �!�� ��#!����� �� *�

��� ����#� A
2� �#�#"�#��� ���4#��B�
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����	 �� ���������� 
� �!��� �� ���

&�� ��
���� 
#!
�!� �� *�
 ��� ����#� ���������� ��������� �!�� ���
������� !��

#�#
����������� �������?�#������ �� !# ��#������� �� ��#�� ����� �� "#= �#��������
�� �� �!#��# �� ��#�F� �� �� "!����� &# *�
 ��� ����#� XL℄ ��� ��� ������� ��� ������
�� ��#���� !�� 
#!
�!� �� *�
 �#�� !� ���#��� ������"�� �T !� ��#������� ������ #��2
����� �!�� 4#!# !�� ����� �#�� 
� ���#��� ���# !��� !� ��
��������� ��� ��#�F� �� ���
"!����� &� ����
��� 
������� ; ���
������� !����#
�/����� ��
!������ &# �#�!!� �� !# �#�!!�
�!�����#��� �� ����#� ��� #
���!!����� �� !������ �� �0G 2�� &�� ����"�#!�� �� 
�����
��� 
� ����#� �� �#�!!� ����0 �� !������ �� 3 2�0 ��4������� #!��� ��� ������ ��� !���
���� 
#!
�!��� &� ��� �� �� ������ ; 
#!
�!�� ��� ��4�������� ������������! ; !# �#�!!�
�� !# �#�!!� �!�����#��� �� ����#� �� ��
������ ���  ������ �� 
#!
�!� 
�!���#�6�

��� !� ����#� ��
!����� ���
������0 !# *�
 ��� ����#� ������ �� 
#!
�!�� !# 2��
/
���� �� �#������� "�#�� 
#������� Z(T, V, µB) �� �?��.�� ; ��� ������#���� T �� ;
�� ��������! 
�������  #�?������ µB� +� �� ������ ������� !�� � ���4# !�� ������/
�?�#������0 ; �#4��� !# ������� ������"�� ǫ0 !# �������� P �� !��������� S0 ; !�#��� ���
��!#����� ���4#���� XK℄ 	

ǫ =
T 2

V

(

∂ ln Z

∂T

)

V,µB

P = T

(

∂ ln Z

∂V

)

P,µB

S =

(

∂T ln Z

∂T

)

V,µB

AG�GLB

&# �"��� G�3 ������ !��4�!����� �� !# ������� ǫ A; "#�
��B �� !� ����� �������#
����
A; ������B �� �?��.�� �� 2��
���� �� !# ������#���� T 0 ; ��������! 
�������  #�?�/
����� µB ��!� &������ !# ������#���� #4������ !# ������#���� 
������� Tc0 �� 
����#��
��� 4#��#���� �#���� �� !# ������� ������"�� �� �?��.��0 
#�#
���������� �� !# !� ��#/
���� ��� ��"��� �� !� ���� �#�������� �� �?��.��0 �� ���
 ����� ��#������� �� ��#���
����� ��#������� �� ��#�� 
���������D��
��������� ��� �� �#���� 
������� ; 2#� !�
��������! 
�������  #�?������ 	 
���� ��� ��#������� �� ��#�� �� �?�� I 
�����4�� J

#� !�� 4#��# !�� �������?�#������ �� ���������� �#� �� 
����������� ���"�!��� A���/

���������B� \ �!�� "�#�� ��������! 
�������0 !# ��#������� �� ��#�� ���#�� �� �������
����� #4�
 ��� ���
��������� �� !# ������� ������"�� #� 4�����#"� �� !# ������#����

������� Tc XG�℄� &� ����� �������#
���� A�"��� G�3 ; ������B ���������� !# ��4�#���� ��
!����#���� ����#� �� *8
 �#� �#����� ; 
�!!� ���� "#= �#�2#�� �� ��#�F� �� �� "!����
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A�#�� �����#
���� ����� !�� ��#�F� �� !�� "!����B ���� !����! ǫ−3P = 0� ����� ��4�#����0
������#���0 ��"���� ��� !�� �#�����0 ��� 2��� ��
������0 �����#"������ 2�������� �#��
!# ��#�� �!#��# �� �� ���� ���
 �#� !� ��� �E�� ; ��.� �#��� ������#�����

\ ��������! 
�������  #�?������ ��!0 
���� ��#������� �� ��#�� ���� �� �!#��# ��
���6 �#4���� �� ��#�F� !�"��� Au, dB #��#�� !��� ���� ��� ������#���� 
������� Tc =
173 ± 15 ,�: �� ���� ��� ������� ������"�� 
������� ǫc = 0, 7 8�:D2�3 XK℄�
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���� ��#������� �� ��#�� ��#

���#"���#�� �� !# ����#��#����
�� !# �?������ 
���#!� ��#��.� !�� 
#!
�!� �� *�
 ��� ����#� XK℄�

����� �� 
�������� 
� �!��� 
� ���

&� ��#"�#��� �� ��#�� �� !# �#��.�� ��
!�#��� �#�� !� �!#� AµB, T B0 ���� ��� 
#!
�!�
�� *�
 ��� ����#� XGG℄0 ��� ������ ��� !# �"��� G�H� &� ��#"�#��� �� ��#�� # ���
� ���� ���� ���6 �#4���� �� ��#�F� !�"��� Au, dB �� ��� �#4��� �� ��#�F !���� AsB� ���

� ��#"�#���0 �� ������"�� ����� ��#��� ��M������� 	

V !� "#= �� �#����� ��� ��� ��#�� ���!#��� �� 
��!��� 
#� !�� �#����� ���� �������
4��/;/4�� �� !# 
�#�"� �� 
��!���� ����� ��#�� �#�������� ���#�� �������� ; 2#� !�
������#���� �� ; 2#� !� ��������! 
�������  #�?������ W

V !� �!#��# �� ��#�F� �� �� "!���� ��� ��� ��#�� 
����
���
� �� 
��!��� 
#� !�
��
��������� ��� ��#�F� �� ��� "!���� !� .�� ��� ��"��� �� !� ���� �� 
��!����
����� ��#�� ���#�� ��������!!����� �������� ; �#��� ������#���� W

V ��� ��#�� ����#
����
���
� �� 
��!��� 	 !�� ��#�F� ��
������ �� !���#���� �#�
�#���� �� ������0 
#�#
���������� ����� ��#�� ����#
����
���
� �� 
��!���� �����
��#�� ���#�� �������� ; ��������! 
�������  #�?������ �!�4� �� ; 2#� !� ������#/
�����
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#!
�!� �� *�
 ��� ����#�0 !# ��#������� �� ��#�� ����� !� "#= �#��������
�� !� �!#��# ���#�� 
������� ; 2#� !� ��������! 
�������  #�?������ A��#������� �� �?��
I 
�����4�� JB �� ��4�����#�� �� ������� ����� ���� ��� µB �!�� �!�4��� �� ����� 
�������
�6�����#�� #� ����� �� ���
����� �� 
�� ���6 ��#�������� �T !# ��#������� ���#�� �� ��
���
������ &�� 
#!
�!� �� *�
 ��� ����#� ������� !� ����� 
������� ; µB = 360 ± 40 ,�:
�� ; T = 162± 2 ,�: XG�℄� &# �#��.�� ��
!�#��� I ����#!� J 
��������� ; µB = µ0 ∼
940 ,�:0 ���� ρ0 = 0, 16 8�:D2�30 �� ; T = 00 �!!� ��� ����!���� �#� ��� ��#�� !�������
&# !�"�� 
�����U#�� ; 
� ����� 
��������� ; !# ��#������� !������/"#= �� ������� ������
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����� �� ���" ������� �� ����(� ������ #u, d$ �� ��� ������
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�##������ ������ #����� �#���+��#���2�����


��
��������0 ���� #4��� 4� ��� !# ��#������� �� ��#�� ����� !� "#= �#�������� ��
!� �!#��# �� ��#�F� �� �� "!���� # !��� ; ��� ������#���� �6��E�� �� T = 173 ,�:0
���� ; ��� ������#���� �� !������ �� G�13 S� \ ����� �� 
���#�#����0 !# ������#����
#� 
����� �� ��!��! ��� �� !������ �� G�8 S�

+T ����4�� 
�� 
��������� �������?�#������ �6��E��� ^
V ����#�� !�� �����.��� ��
����
����� �� I 7�" 7#�" J 	 !�� ���#����� ��
��4#��
!��4�!����� �� !����4��� ��������� ��� 
�!��/
�0 ; ��� �� ���0 �� ����4#�� ���� !#
2���� ���� �!#��# �� ��#�F� �� �� "!���� ����� ��=#��� �� F�!��.���� 
��� ���!���
��
����
����� #��.� !� I 7�" 7#�" J0 !����4��� # �� �� ��� ��#������� �� ��#��
4��� !����4��� �#�������� ��� ���� 
���#������ #�<�������� W

V #� 
_�� ��� ����!�� !�� �!�� ������ 	 �� �!#��# �� ��#�F� �� �� "!���� ����/
�#�� �6����� #� 
����� ��� ����!�� ; ��������0 �T !# �������  #�?������ ��� ��.�
������#��� W

V !��� ��� 
�!!������ ������ !����� 	 
���� !� ��?�� ���!��� �#� !�� ��?��
���� ����
������ �� �4����
� �� ������� 
���� ���4�!!� ��#�� �� !# �#��.�� ��
!�#���� &��
��?#�6 ������ !����� ���� #

�!���� <�����; ��� 4������� ���
��� �� 
�!!� �� !#
!���.��0 ���� ������� �� 
�!!������ �� �!#��# �� ��#�F� �� �� "!���� �����#��
#!��� �� 2����� 
#� !�� �������� ������"�� #�������� �#�� �� ��!!�� 
�!!������ ����

�!���#!��� &# ������� ������"�� #������� �#�� 
�� 
�!!������ #�"����� #4�
 !�����"��
��� 2#��
�#�6 ������ !����� ��
�������
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�!��#����� �� �
� AI ����� 
����� �?�
������ JB0 �� �($� AI ��!#��4����

(�#4? $�� ��!!���� JB �� �� &(� AI &#�"� (#���� ��!!���� JB ���� ���������� �#�� !�
�# !�#� G�G� �� 5��O0 �� �#�� ������ �� ����"�� ���# ��#!��� #4�
 !� &(� ���� !������
�� �!#��# �� ��#�F� �� �� "!����0 #4�
 ��� ����"�� ��� 2#��
�#�6 ��
������ 5K 2���
���������� ; 
�!!� �� �($�0 
� ��� ���!���� ��� ��#�� �� �!#��# �!�� 
�#���0 �!��
!��"�� �� �!�� ��������

��!!������ 
����#!��
�
� A����B �($� A7�&B �(� :����;
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√
sNN A8�:B GO0K 5�� 33??

ǫ A8�:D2�3B 3 N �.9.0

τ0 A2�D
B ∼ G ∼ �05 ∼ ?@�

τQGP A2�D
B < 2 5/H > �?

τf A2�D
B ∼ G� ∼ 5�/3� ∼ )?90?

Vf A2�3B ���!��� 103 ���!��� 104 $�� $�� �?�

���� �<� = ������� ���� �� 
����� �� ����� #
√
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τ = 1 ��*
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#�� !� �
��#��� �� 7<��F�� XG5℄0 !��4�!����� ��#���/�������!!� ����� 
�!!����� ������
!����� �!��#/��!#��4����� �#�� !� �!#� Az, tB ��� ������� ��� !# �"��� G�N �T !�� �?��� �!��

������������ ; ��� ����� ������� τ 
����#����� 
#�� !� 
#��� �� 
� �
��#���0 !��
��M������� ��#��� �� !��4�!����� ����� 
�!!����� ���� !�� ���4#���� 	

V ; τ < 00 !�� ��?#�6 ���� ���� ��# ��� #

�!���� <�����; #�������� ��� 4������ ��.�
���
�� �� 
�!!� �� !# !���.��� 
#�� !� ��2�������! �� 
����� �� �#��� �� !# 
�!!�����0
!�� ��?#�6 �������� #!��� !# 2���� �� ������ ����#������ 2R/γ �T γ ��� !� 2#
����
��!#��4���� �� &�����=� �� R ��� !� �#?�� �� ��?#�� &� I ��!�� 8!#�� �������#�� J
A�� �8�B A
2� `G�H�3�3B �����#�� <���� �� ��!� ������#�� ; 
� ��4�#� �� !# 
�!!�����
�� 
� <�����; τ < 0, 2 2�D
 W

V ; τ = 00 !�� ��?#�6 �� �!�� ������� �� 
�!!����� �� !�� �����.��� 
�!!������
�#����/�#���� ��� !��� W

V !�� 
�!!������ ����� �#����� 
��������� ; �� ��4�!����� �� !� �?��.�� �4�!�� 4���
�� ��!��� �� ��#�F� �� �� "!���� ��
������ �� !# ������� ������"�� ��� ����������
; !# ������� ������"�� 
������� AǫcB� �� !# �#�!!� �� !# ����� �� 4�� �� 
� ��!��� ����
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√
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 ����( ���� �
� �����
� ��������
�� 2R/γ ) *'**+ �� �� R
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#���= "�#���0 �� ����!� �� �������?�#����� ��� #!��� #������ ; τ = τ����� �� ��
*8
 ���� #!��� �� 2����� W

V �������0 !� *8
 �� ��2������ ; 
#��� �� ��� �6�#����� !��"������#!� �� �#���� �?/
����?�#������ �� �� ��2�������#��0 !� �?��.�� �� �� #!��� ��� ��#������� �� ��#��
�� �?�� I 
�����4�� J ; T = Tc = 173 ,�: �� !� *8
 �4�!�� ���"�����4�����
4��� �� "#= �#��������� %�  ��� ���� 
���#�� �����0 ���� !�� ��"��� �� !� ����
�#��������� ��� ����#�� �� !� �?��.�� �� ����4� #!��� �#�� ��� ��#�� ��������
�#�������� W

V ����0 !� �?��.�� �4�!�� 
���� �� "#= �� �#����� !� ��� �#�� !����! �� ������"��
���6 ��#���� &# �����.�� 
��������� #� ������ �T !�� 
�!!������ ���!#�������

������ 	 
���� !� "�! 
������� AI 
����
#! 2���=� ��� JB� &# 
���������� �#���/
����� ��� #!��� �6��� &# ���6�.�� ��� !� "�! ��������� AI �����#! 2���=� ��� JB
�� 
��������� #� ������ �T �! ��? # �!�� �� 
�!!������ �!#�������0 !# 
����#�����
��� �#����� ��� #!��� �"��� ��� �������� �� ������."���� �4�����!!����� �������
���� 2����� ��� �#���
�!�� ��# !�� ��� ������ ����
�����
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���� #4��� 4� ��� !� �!#��# �� ���#��0 ��� 2��� �����#!���0 ��� �6�#����� �?����?/
�#����� !��"������#!�� +� ���� ���
 �� ���#���� 
������ �4�!�� !# ������� ������"��0
!# ������#���� �� !��������� �� �?��.�� �#�� !� ����� ^


��� �������� ; 
���� ��������0 7<��F�� XG5℄ # 
�������� !� �?��.�� 
���� �� ]����
��!#��4���� �#�2#�� � ����#�� #�6 !��� �� !��?����?�#����� ��!#��4����� �� �?����?�#/
����� ��!#��4����0 !� ������� ����"��/����!���� ���� E��� 
�����4�0 ���� 	

∂µT µν = 0 #4�
 T µν = (ǫ + P )uµuν − Pgµν AG�5�B

�� 
�������#�� !� �!#��# 
���� �� "#= �#�2#�� �!��#/��!#4����0 !# �������� �� !#
������� ������"�� ���� ��!���� �#� !����#���� ����#� ǫ − 3P = 0� &� ���.!� �� 7<��F��
������� �"#!����� ��� ��4#��#�
� �� �?��.�� �#� �#����� ; !# �#������ y� &��6�#�����
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�� �?��.�� �� ������ ���
 ��� �� ����� ������ τ = t
√

1 − v2
z �T vz ��� !# 4������ !��/

"������#!� �� !��6�#����� �� �?��.�� �#�� !� ��2�������! �� !# ��#������ ����� �6�#�����
��� ���
 ����4#!���� ; !��6�#����� �� !����4��� �#�� !� �
��#��� �� (�  !�� ���#!�����0
�� � ����� !����#���� ���4�!����� �� !# ������� ������"�� �� 2��
���� �� ����� ������
τ 	

∂ǫ

∂τ
+

4

3

ǫ

τ
= 0 AG�5GB

�� ����!4#�� 
���� ���#����0 �� ����4� !��4�!����� �� !# ������� ������"��0 �� !# ���/
���#���� AT ∝ ǫ1/4B �� �� !��������� 4�!������ As = (ǫ + P )/T B �� 2��
���� �� �����
������ τ 	

ǫ(τ) =
(τ0

τ

)4/3

ǫ0, T (τ) =
(τ0

τ

)1/3

T0, s(τ) =
(τ0

τ

)

s0 AG�55B

�T s00 T0 �� ǫ0 ���� �����
��4����� !���������0 !# ������#���� �� !# ������� ������"��
�����#!� �� �?��.�� ; τ = τ0 = τ������ ��� ���#����� ���� !�� �E��� ��� !�� ���#�����
���4�!����� �� !����4��� �#�� !� ���.!� �� I 7�"/7#�" J0 
���� ���� 
�!# ����� �����
���4��� !� ���.!� �� 7<��F�� 	 !� ���.!� �� I &���!�/7#�" J� ���� #4��� 4� ���
����/
���� ��� !����#���� ����#� �� "#= �#�2#�� ����#�� �#� 4#!# !� ���� !� �!#��# �� ��#�F�
�� �� "!���� 
#� !�� ��#�F� �� !�� "!���� �����#"������ 2�������� Aǫ > 3P B� +� ����
���
 ���� ��� !# ������� ������"�� ��� #!��� 	

ǫ0
τ0

τ
> ǫ(τ) > ǫ0

(τ0

τ

)4/3

AG�53B

�T !� ������� ����� 
��������� ; !��4�!����� �� !# ������� ������"�� �� �?��.�� #�6
�������� ����#��� �� !# 
�!!����� ���� τ < τ������

��"�	 �� 
��������$ 
#��� 
��������

&# 
����#!��� �� !# 
�!!����� �� ������ ; �#���� �� �#�#�.��� �����#
� b �� !# 
�!!�����
��� ��� !# ����#�
� ��#��4���� ���#�#�� !� 
����� ��� ���6 ��?#�6� &# 
����#!��� �� !#

�!!����� ��� ����
������ ��!��� ; !# ������� ������"�� #������� !��� �� !# 
�!!������ 
!�� !#

�!!����� ��� 
����#!�0 �!�� !� �#�#�.��� �����#
� ��� ����� �� �!�� !# ������� ������"��
#������� ��� �!�4��� 
#�� !�� 
�!!������ ������ !�����0 !# ������ �� b ���� ���
 ���������
!������ ��� � ���4# !�� ��?������ �� �?��.�� �� 2��
���� �� !# ������� ������"���

&� �#�#�.��� �����#
� b ����� �#� ����
������ �����# !� �#�� !�� 
�!!������ ������
!������ &� ���.!� "���������� �� 8!#� �� XG�K℄ A
2� #���6� %B ������ �� ��!��� 
�
�#�#�.��� ; ��� � ���4# !�� �����# !�� ��!!�� ��� !�����"�� ��D�� !# ��!���!�
��� ��
���
 �� !� ����������� ����#���#�� !� �#�#�.��� �����#
� �� !# ��
���� �Q
#
� ������/
������ ���� ���
����� ��?�����0 !� ���.!� �� 8!#� �� ������ #!��� ��������� !# ��
����
�Q
#
� ��?#�/��?#� A
2� #���6� %B�


#�� ��� 
�!!����� ��?#�/��?#� A%/7B0 �! ��� �"#!����� ���!� �� ������ 
���#����
4#��# !�� ��� ���� 
����!��� ; !# 
����#!���0 ��!!�� ��� 	

V N 	
��
�� AN 
	�


�� B 	 !� ��� �� �� ��
!���� �#���
��#��� A���
�#�����B ; !# 
�!!�����
��?#�/��?#�� �� ��
!��� ��� ��� �#���
��#�� ���! �#���
��� ; #� ����� ��� 
�!!�����
���!#������ W

V N ����
�� 	 !� ��� �� �� 
�!!������ ������/������ ���!#������� �#�� ��� 
�!!����� ��?#�/

��?#��

#�� !�� 
�!!������ ��?#�/��?#�0 
�� 4#��# !�� ���
��!!�� ���� ���!����� ���� �6��#/

��!�� !�� � ���4# !�� ��� 
�!!������ �/� #�6 
�!!������ ��?#�/��?#�� �� �M��0 !� ��� ��



�0 V �	
����

��	 � �� �������� �� ��� V

�� ���
����� ���� I ���� J A�� "�#��� ��
���� �Q
#
� ��D�� �� 2#� !� pTB �#�� ���

�!!����� ��?#�/��?#� A%/7B0 N 
���

�� 0 ���
��� 	

N 
���
�� =

1

2
N 	
��

�� ×N 
���
		 AG�5HB

�T N 
���
		 ��� !� ��� �� �� ���
����� I ���� J �#�� ��� 
�!!����� �/�� %!��� ��� !�

��� �� �� ���
����� ���� I ��� J A�� 2#� !� ��
���� �Q
#
� ��D�� �� �#�� pTB �#�� ���

�!!����� ��?#�/��?#� A%/7B0 N �
��

�� 0 ���
��� 	

N �
��
�� = N ����

�� ×N �
��
		 AG�5NB

�T N �
��
		 ��� !� ��� �� �� ���
����� I ���� J �#�� ��� 
�!!����� �/��

��"�� ��� �'��� 
��� �#$��� �������

&� 2#
���� �� �����
#���� ��
!�#��� RpA(p�, b) ������ ��������� !�� �M��� ����#�
�����#! �#�� !�� 
�!!������ ������/��?#� �� ������/��?#�� �� 2#
���� ��� ������ �� !#
�#��.�� ���4#��� 	

R	�(p�, y, b) =
d2N	�/d2p�dy

< N ����
	� (b) > ×d2N		/d2p�dy

AG�5�B

�T N ����
	� (b) ��� !� ��� �� �� 
�!!������ �/� ���!#������� �#�� ��� 
�!!����� ������/��?#�

A�/%B ��� ���� E��� ������ �� ���!��#�� !� ���.!� �� 8!#� �� A
2� %���6� %B�

�<0<)<� �-�
�����6� ��
 ����� �� A �"���B��6 C

&�� 
�!!������ ��?#�/��?#� ���M�
��#�� #� ��4�#� �#��������0 �! 2#�� 
���#���� !��
������ ������ ��� �#����� ; !���������� �� ��?#� ���� �4#!���0 �#� �6���!�0 !�� ��
�����
�Q
#
�� ��?#�/��?#�� &# ������ ����� ��� �#����� �� ��
!��� �#�� �� ��?#� ��� ��M�/
����� �� 
�!!� �� ��
!��� !� �� �� 2#�� �� !# ������
� ��� #����� ��
!����� 
��� �������

���� ��M����
�0 �� ��������� "����#!����� !� �#����� ���4#�� ���� �� �#���� j A"!���
�� ��#�FB 	

RA
j (x, Q2) =

fA
j (x, Q2)

A × fN
j (x, Q2)

AG�5OB

�T fA
j (x, Q2) �� fN

j (x, Q2) ������������ �����
��4����� !�� ������ ������ �� �#�����
A

�B ; !���������� �� ��?#� A �� �� ��
!��� !� �� N 0 #!��� ��� x = 2pz/

√
sNN ��� !#

2�#
���� ������!���� !��"������#!� �������� �#� !� �#���� j �� Q2 ���������� !��
��!!�
������"�� ; !#���!!� �� ����� !� ��
!��� �� !� ��?#��

�� 
� �#����� ��#�� �"#! ; G0 #!��� !� ��?#� A ���#�� ����4#!��� �� ����� �� ������ �/
���� �#�������� ; !# ����� �� A ��
!���� !� ���� &# ������
� ��� ��
!���� #� ���� ��
��?#� �� �������#�� ���
 �#� !# ������ ����� ��� �#����� 
���#��� ; 
�!!� �� ��
!���
!� ��� &� �#����� ��� ������ ������ �� �#�����0 
#!
�!� #4�
 !� ���.!� �S�LK XG�O℄0 ���
������ �#�� !� 
#� �� �!�� AA = 208B ��� !# �"��� G�� �� 2��
���� �� x �� ����
��M������� 4#!���� �� Q2�


�M������� ��"���� ���� ; ������"���� 
#�� !� ���#��� ��� ������ x #

���� !�� #�
&(� Ax ∼ 10−4B0 !� 2#
���� ���
�#��#"� ��
!�#��� ��� ��2������ ; G� 
#�� 
���� =���0
!# �����
���� ��� �#���
�!�� �#� 2����� �� "!��� ��� #���� ��������� �� ������.�� ��
����������� ��� #���!� !��
�#��#"� ��
!�#��� AI ��#��@��" JB� 
��� ��� 4#!���� �� x ��
!������ �� �0G #

���� !� #� �
�0 �� # #� 
����#��� �� �#����� ��������� ; G 
� ��� #
���� �M�� ��#�"������ !# �����
���� �� �#���
�!�� �#� 2����� �� "!���� +� �#�!� #!���
��#���/�
�#��#"� ��
!�#��� AI #���/��#��@��" JB�
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#A = 208$ �� �
�
��
� �� x ���� �� �
���� 9:.;&� '�� ��<������� 
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����� 	 ��� Q2 ������ �� 8�8 =�>2 	 )???? =�>2� '�� ����
�� �

�������� ��" ���5
������� �

����������� 	 ���
�� �� ./.� �� 012� �� �� '1�� �
�� ��������� ����������

�<0<)<' �-�D�� ������

�� #���� �M�� ; 
���������0 �#�� !���#� �����#!0 ��� !��M�� ������ XG�℄� 
#�� ��� 
�!!�/
���� ������/��?#�0 �� �#���� �� ������ 4# �� �� �� ��!���!�� ��M������ �!#������� #4�

!�� �#����� �� ��?#�� �� �#���� 4��� ��� ����!���� ��#��4���� �� ��?���� #�"������
����� ; 
�� ��!���!�� ��M������ �!#������� #4�
 !�� �#����� �� ��?#�� %����0 
�� �M��
�� ��#���� ���#����� �#� ���  #���� ��� �#�6 �� �����
���� ��� �#����� ; 2#� !� pT0

����  #���� ��#�� 
�������� �#� ��� #�"����#���� �� 
�� �#�6 �� �����
���� ; ���
pT ���������#���� A∼ 2 − 4 8�:D
B� ��� �M�� # ����#�
� ; #�"������ 
���� A1/3 ��
��#���!� ���� !�� "�#��� pT�

�<0<)<) �� A �� �� & ��� ���������� C �� �&�

&� I 
�!�� "!#�� 
������#�� J XGO0 GK0 35℄ # ��� ����4� �#� !�� ����!�#�� �� (��% A
�!/
!��������� �!�
����/������B ��� !# ������� "!������� xG(x, Q2) �� ������0 ������� ���
!# �"��� G�O� \  #��� ����"��0 !� ��
!��� 
������� ��������!!����� ��� ��#�F� �� 4#!��
�
����0 !������ !�����"�� #�"�����0 ��� "!���� ���� �������� 	 !# ��� # �!��� ����������
���� "!��� ��� ������������!!� ; αS ln(1/x) �T x ���������� !# 2�#
���� ������!���� !��/
"������#!� �� "!��� �������� &�� "!���� �� ������ x ���� ���
 �������� �#<����#��������
�#�� ��� !# ������� "!������� ����� 2#� !�0 ��� �4�!����� #4�
 !�����"�� ��� !���#���� +�

����#�� ���
 ��� !# ������� "!������� �� ��
!��� 
��-� ; ������ ��� x ������� �� ���
Q2 #�"�����0 
� ��� ��� �� #

��� #4�
 !�� ����!�#�� � ���4�� �#� !��6������
� (��%�
���!� !# ������� "!������� ��� 
��������� 
#�0 ; �#��� ����"��0 !# ������� "!�������
#�"�����  �#�
��� �!�� �#�������� ��� !# ������� �� ��#�F��

����� �4�!����� ��� ��#������ ������� !������ !# ������� �� "!���� #������ ���
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�� ��#���� ��� "!���� �#� 2����� �� "!���� Agg → gB�

2

x1010 1010

Q = 200 GeV

Q = 20 GeV 

xG(x,Q )
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Low Energy

High Energy

Gluon
Density
Grows

���� �<* = ��
����
� �� �� ������� ���
����� ���� �� 
�
�
� �� �
�
��
� �� x �� 

��
��<������� ���
����
�� Q2� ������ 
�� ���"
�����
� 190@ #	 ���
��$� 0�
���������
�
�� 
�
�
� 	 ����� x #������ �������$ �� 	 
���� x #����� �������$ #	 ��
���$�

&� ��!�� 8!#�� �������#�� �����#�� �"#!����� �6�!����� ��#����� �M��� ����#� �����#!

���� !��
�#��#"� ��
!�#��� AI ��#��@��" JB �� !��M�� �������

\ ����� x0 !# ������� "!������� ��� ��!!����� ������#��� �#�� !� ��
!��� ��� !��
"!���� �� ���6 ��
!���� ��M������ �� ��?#� ���4��� #!��� �� ��
�� ���� �#� 2����� ��
"!����� ��
� ����#��� ���0 ���� !�� ������ x0 !# ������� "!������� �� ��?#� ��4���� #!���
��2������� ; % 2��� !# ������� "!������� �� ��
!��� 	

xG�(x, Q2) < A × xG�(x, Q2) ⇐⇒ RA
g (x, Q2) < 1 AG�5KB

�T RA
g (x, Q2) ��� !� 2#
���� ��������� ���
�������� ���� ������� !��
�#��#"� ��
!�#����

&� �8� ������ ���
 ���6�!����� !� ������.�� ���
�#��#"� ��
!�#��� ; ����� x� &�
�8� ������ ��� !��
�#��#"� ��
!�#��� #�"����� ; ������ ��� x ��������


#�� ��� 
�!!����� ��
!���/��?#�0 ; 
#��� �� !# "�#��� ������� �� �#����� ; �����
x0 �� �#���� �� ��
!��� ���� #!��� �����#"�� �!������� 2��� #4�
 !�� �#����� �� ��?#��
&���� ��� 
�!!������ ������� !���#� ��#! �� !�� #����� �������� ���!����� ��� ����!�����
��� �M�� ��� ������#�� ; ����� pT A"�#��� ��
���� �Q
#
�B �� ��4���� ��! ; "�#�� pT� ��
�M��0 ; "�#�� pT A�#��� ����"�� �� 2#� !� ��
���� �Q
#
�B0 !# ��M����� ��� ������� �#�
��� ���!� 
�!!������ &� �8� ���� ���
 ��������� ���6�!����� �"#!����� !��M�� �������

$! 2#�� ����� ��� ��� ����
�� �� !# 2���#���� ���� �8� ���� �������� �#�� !�� �������
�6��������#!�� �� �($�� &# �"��� G�K ������ !� 2#
���� �� �����
#���� ��
!�#���0
RdAu(p�)0 ���� !�� �#����� ������� ; ��M������� �#������� �#�� !�� 
�!!������ �/%� �#�
!��6������
� 7�%(,� X5�℄� \ 2#� !� �#������0 ��� ����������� ��� �#����� ;  #� pT ��
�� #

���������� ��� �#����� ; �#�� pT ���� � ���4��0 
#�#
���������� �� !��M�� �������
\ "�#��� �#������ A������ xB0 ��� ����������� ��� �#����� ; ���� !�� pT ��� � ���4��0

#�#
���������� �� !��
�#��#"� ��
!�#��� AI ��#��@��" JB� *�#�� !# �#������ #�"����� Ax
�������B0 !�#��!����� �� 
���� ����������� #�"�����0 
� ��� ��� ������ �#� !� �8� X5G℄�

&� &(� ��������# ��������� !� �8� �� ����#�� !�� ��.� ������ x0 #4�
 ��� 6 ∼ 10−4

; η ∼ 0 �� ���4#�� ���
����� <�����; ��� x ∼ 10−7 ���� !�� "�#���� �#�������� &�
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���� �<2 = 0�


�� �� �
��A
���
� ��
������� RdAu(p�)� ��� ����
�� ������� 	 ��<�5
������ ��
������ 
�� ���"
�����
� 60@1B. ���� ��� 

�����
�� �5@� �8?℄�

���
����.��� ; ����� ��%&$�� ����
��� ���
 �#�2#������� �#�� 
� 
#��� A−4 < η <
−2, 5B�

&�� 
�!!������ ������/��?#� �� ������/��?#� ���� ���!����� ���� ������ !�� �M���
�#�� !���#� �����#! �T ��� ��#�� �� �!#��# �� ��#�F� �� �� "!���� ����� �#� 2������
&�� 
�!!������ ��?#�/��?#� ���4��� E��� �������� ���� ������ �� �4����
� ��� ��#��
�� �!#��# �� ��#�F� �� �� "!���� �� ������#?#�� 
�� �M��� �� �� �� �!#
#�� �#�� ���
���#���� 
����#������ �T 
�� �M��� ���� ��"!�"�# !���

'(3 
�� ��%������� �� "#���� �� ����$� �� �� %#����

�� !� �!#��# �� ��#�F� �� �� "!���� ��� ���!!����� 2���� �#�� !�� 
�!!������ ������
!����� �!��#/��!#��4�����0 �� ��#����� ���
 ; ��� �����
#���� �� 
���#��� �#�#�.����
��?������� ��� �
#�� �#� �#����� #� 
����������� #������ �#�� !� 
#� �T !� �!#��#
����� �#� 2���� ��"�� #���� �# 2���#����� 
!������� ��"�#����� ������ �� �����
�����
���������� ��� ��� #4#�
����

������ ���!���� ��� �� 
�� ��"�#����� 	
V !�� ������� ���������� W
V !�#�"����#���� �� !����#�"��� W
V !# ����������� ��� ��#�F���# W
V !# ����������� ��� <����
���!�� !�� ���6 �����.��� ��"�#����� ������ ���
����� �#�� !# ������ $! 2#�� ����� ���

���!� !�� ���4#���� ���� ����� !� �� ��"�#����� �����# ���!!����� ��"��� 
���� ���4�!!�
��#�� �� !# �#��.�� ��
!�#���� 
� �!��0 ����� �# ���� �� �4����
�0 !������ !� �� 
��
��"�#����� ��������# �"#!����� �� 
#�#
������� ��?��������� 
���� ���4�!!� ��#�� ��
!# �#��.�� ��
!�#����

+���� 
�� ��"�#�����0 �! �6���� �"#!����� ��� � ���4# !�� "!� #!��0 
���� �#� �6���!�
!# ������� ������"��0 !# ��!���!�
��� �� !# 
����#!���0 ��� ���������� �� 
#�#
������� !#

�!!������ ����#���� �� 
�� � ���4# !�� ���4��� 2������ ��� ����
#����� 
��
���#�� !#
����� !� 2���#���� ����� ��#�� �� �!#��# �� ��#�F� �� �� "!�����

��(�� ��� �)���%�)��� ���)����

�<3<�<� �� �� ��! �
���

&# ��!���!�
��� 
��������� #� ��� �� �� �#���
�!�� ��������� �#�� ��� 
�!!������
����� ��� 
����#���� ; ������� �� 
����� �#�� !# 
��
������ ��� ����
������ �!!� ����



�2 V �	
����

��	 � �� �������� �� ��� V

���6������ �� 2��
���� �� !# �#������ y �� �� !# ������/�#������ η�� ����� � ���4# !� ���
��.� ������#��� 
#� �!!� ������ ��������� !# ������� ������"�� #������� �#�� !�� 
�!!������
��?#�/��?#� 	

ǫ =
< m� >

A�τ0

dN

dy

∣

∣

∣

∣

y=0

AG�5LB

�T < mT > ��� !# �#��� ��#��4���� ��?���� �� ������ !�� �#���
�!�� ������ �#�� !�
�!#� ��#��4���� �� A� 
��������� ; !# ���2#
� �� ��
��4������ �#�� !� �!#� ��#��4����
��� ��?#�6� dN/dy|y=0 ���������� !# ��!���!�
��� ��� �#���
�!�� ��������� �#�� !� �!#�
��#��4�����

&# �"��� G�L ������ !��4�!����� �� !# ��!���!�
��� �� �#���
�!�� 
�#�"��� ; �#������
��!!� Nch/(0, 5N	
��) �� 2��
���� �� !�����"�� ��
������

√
sNN ���� !�� ������� �/�

�� ��?#�/��?#� 
����#!��� 
��� !�� 
�!!������ �/�0 ��� ������#�
� !�"#��������� ���
�������0 
����#���� ; �#��� ����"�� �#� !�� ������� �� !��6������
� �
� ;

√
sNN =

2 ��:� +� #��#�� #���� �� �/�0 �� ��� �� �� �#���
�!�� 
�#�"��� ; �#������ ��!!� ��
!������ �� G0K A50H �� NB ;

√
sNN = 17 8�: A5�� 8�: �� N0N ��:B� 
��� !�� 
�!!������

��?#�/��?#�0 !� ���.!� �� �#���#���� X55℄0 ���������� ��� !# �"��� �#� !# 
��� � ��
����� !��"0 ������ �� 
����������� �� ��� �� �� �#���
�!�� 
�#�"��� ��

√
sNN

0,38�
�� 
����������� ��������� 
����
������ !�� ������� �� �($�� &# ��!���!�
��� ��
�#���
�!�� 
�#�"�� ������� #� �($� ��� dNch/dy|y=0 ∼ 650 ;

√
sNN = 200 8�:�

%� &(�0 
� ���.!� �� �#���#���� ������ #���� ��� ��!���!�
��� �� �#���
�!�� 
�#�"���
; ������/�#������ ��!!� �� dNch/dη|η=0 ∼ 5N�� ���� !�� 
�!!������ 
����#!�� 
 /
 ;√

sNN = 5, 5 ��:�
%4#�� !�� ����!�#�� �� �($�0 !# �!��#�� ��� ���.!�� ������#�� ��� ��!���!�
��� ��

�#���
�!�� 
�#�"��� ��������� ����������0 ���4#�� #�������� <�����; K��� �#���
�!��

�#�"��� �#� ����� �� �#������ ; �#������ ��!!�� %&$�� # ���
 ��� 
��U�� ���� ��#4#�!!��
�#�� 
�� ��4���������� �� ��.� �#���� ��!���!�
����0 ���� dNch/dy|y=0 = 8000�

�<3<�<' �� ������� �-����6��

&�� 
#!
�!� �� *�
 ��� ����#� ���� ��� ������ �� ������� ��� !# ��#������� ��
��#�� ����� �� "#= �#�������� �� �� �!#��# �� ��#�F� �� �� "!���� #��#�#���#�� ��#��
!# ������� ������"�� ��4���� ���������� ; !# ������� ������"�� 
������� �� !������ ��
G 8�:D2�3� $! 2#�� ���
 #���4�� ; ������� !# ������� ������"�� �����#!� #������� �#�� !��

�!!������ ��?#�/��?#�� +� ���!��� ���� 
�!# !# 2����!� �� 7<��F�� XG5℄ ��� ���
��� 	

ǫ0 =
1

A�τ0

dE�

dy

∣

∣

∣

∣

y=0

AG�3�B

�T ET ���������� !�����"�� ��#��4���� ; �#������ ��!!�0 τ0 ��� !� ����� �� 2���#���� ��
�!#��# �� A� ���������� !# ���2#
� ��#��4���� �T ��� ������� !�����"�� �� !# 
�!!�����0

����/;/���� !# ���2#
� ��#��4���� �� ��
��4������ ��� ��?#�6� 
#�� !� 
#� �� 
�!!������

����#!�� ��?#�/��?#�0 !# ���2#
� A� ��� �"#!� ; πR2 �T R ��� !� �#?�� �� ��?#�

���������

&�����"�� ��#��4���� ������� �#�� !�� 
�!!������ 
����#!�� #�6 ����"��� �� �
� �� ��
�($� ���� ��� !�� �� �����#�
� ��

√
sNN X53℄ 	

dE�

dy

∣

∣

∣

∣

y=0

= 133
√

sNN
0,3 AG�3GB

��� ��
���-�������� 
�� ��$��
 
���
 η = − ln[tan(θ/2)] �� θ 
�� ����
�
 ������
 ���������� �
 ��
�����
��
 ��� ������� , ����
 �� ����

��� .��� �� �����
 �� ��  ��
��
 �
 �� �����
��
 v �
��  
�� c'
����� η  
�� y�
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����� 
5
 #@5@$ �
�� �7������ 
�� ���
�
�
��
� �
����������� ��
�������� �� ����� 
���� #����� 

�������$� '�� �
����� @5@ �
��
�7���� ��������� 
�� ��� �
� �� 
������
� ����� ���� �
���� �� ��������
� �88℄ #

����
�� ������ �
���$� '� 

���� �� ������ 

���� ��� �� �7�������� �������� ��� �
����� @5@�

&��6��#��!#���� ���� !� &(� ����� ��� ����"�� ��#��4���� �� GO�� 8�: ���� !��

�!!������ 
 /
 � 
#�� !� 
#� ��� 
�!!������ 
����#!�� 
 /
 A%�/%�B0 !# ������� ������/
"�� #������� G 2�D
 #��.� !# 
�!!����� ��� �� !������ �� G5 8�:D2�3 AN 8�:D2�3B #� &(�
A#� �($�B�

%� �($�0 !� ����� �� 2���#���� �� �!#��# ��� ������ �� �����!#�� ��� !�� �#���
�!��
#?#�� ��� ����"�� ��?���� < m� > �#�� !� �!#� ��#��4���� Ay = 0B ���� 2������ ��
��?���� #��.� �� ����� τ0 ��� ��� ��������� 
���� ���� XG3℄ 	

< τ0 >=
h̄

< m� >
#4�
 < m� >=

2

3

dET /dy

dNch/dy

∣

∣

∣

∣

y=0

AG�35B

&�� ������� �� �
� �� �� �($� �������� ��� !# �#��� ��#��4���� ��?���� �#����
#�6 ����"��� �� �($� ; �0� 8�: XG3℄� &� ����� �� 2���#���� �� �!#��# ��� #!��� �"#! ;
τ0 = 0, 35 2�D
0 4#!��� ��� ���  ��� ���������� #� ����� �������������#���� ��� ��?#�6
�� 
!�� A2R��/γB� +� ����4� #!��� ��� ������� ������"�� �����#!� �� ǫ0 ∼ H� 8�:D2�3

#������� �03N 2�D
 #��.� !# 
�!!����� �#�� !� 
#� ��� 
�!!������ 
����#!�� 
 /
 #� &(��
��� 2��� !� �!#��# 2����0 �! 2#�� ����! �� �����#!���� %� �($�0 !�� ���.!�� �?���/

�?�#������ ��������� �� ����� �� �����#!��#���� ���� !� �!#��# 
������ ����� �0� ��
G 2�D
 XG3℄�

*�� 
� ���� #� �($� �� #� &(�0 !# ������� ������"�� #������� G 2�D
 #��.� !#

�!!����� ��� ��������� ���������� ; !� ������� ������"�� 
������� Aǫc ∼ 1 8�:D2�3B� +�
���� ���
 ��#������� ; 
� ����� �!#��# �� ��#�F� �� �� "!���� �����#!��� ���� 2����
#� �($� �� #� &(��
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�<3<�<) 
��1 � ��������$�� �� !����
���� �� "������

&�� �#����� ���� �������� �#�� !�� �����.��� ��#��� �� !��4�!����� �� �?��.�� 2����
�#�� !�� 
�!!������ ��?#�/��?#�� &������ ��� �#�6 �� �����
���� ��� �#����� ; !�#���
�� ���.!�� ��#��������� ���� ���
 ���� ��2����� ��� !�� 
#�#
����������� �������?�#/
������ �� "�! 
������� AI 
����
#! 2���=� ��� JB0 ������� !# 
���������� ��� �#�����
��� �6�� #� ������ �� "�! 
������� A!�� 
�!!������ ���!#������� 
������B� 
#�� !���/
��� !� "�#�� 
#�������0 !� �#�6 �� �����
���� ��?�� ���� �#���� i �����#�"��� Si0 ��
��� ��  #�?������ Bi �� �� 
�#�"� �!�
������ Qi ��� #!��� ����� �#� 	

< Ni > =
giV

2π2

∫

∞

0

p2dp

e(Ei−µi)/T ± 1
#4�


{

+ ���� !�� 2������� A #�?���B
− ���� !��  ����� A������B

AG�33B

�T T ��� !# ������#���� �� Ei =
√

p2 + m2
i ��� !�����"�� ���#!�� µi = µBBi +µSSi +µIIi

��� !� ��������! 
�������0 #4�
 µB0 µS �� µI !�� ��������!� 
�������� ��!#��2� #� ��� ��
��  #�?���0 ; !����#�"��� �� ; !��������� gi = (2Ji + 1)(2Ii + 1) ���������� !� 2#
����
�� ��"������
��
� #4�
 Ji �� Ii0 !� ���� �� !�������� �� �#���� i� &�� �#�#�.���� µS0
µI �� !� 4�!��� V ���� �6�� �#� ��� !��� �� 
�����4#����� ��� ��� ��� ��#�������
A!����#�"���0 !# 
�#�"� �!�
������0 !� ��� �� ��  #�?���B ����� !���#� �����#! A!�� ��?#�6
#4#�� 
�!!�����B �� !���#� ��#! A����� ��� ���� !�� �#����� �������� #� ������ �� "�!

�������B� ���#!�����0 !�� ���!� �#�#�.���� !� ��� �� ���.!� ���� !# ������#���� T
�� !� ��������! 
�������  #�?������ µB� ������#��0 �� �#�#�.��� ����!�����#���0 !�
2#
���� �� �#���#���� �� !����#�"��� γS0 ���� E��� ��������� ���� ���������� !�� �#�6 ��
�����
���� ��� �#���
�!�� ���#�"���

&# 
���#�#���� ��� ������� �6��������#!�� �� �($� A
�!!����� %�/%� ;
√

sNN =
130, 200 8�:B #4�
 !�� �����
����� ���� ���.!� ��#�������� X5H℄ AγS = 1B ��� ������ ���
!# �"��� G�G�� &# ������#���� T �� !� ��������! 
�������  #�?������ µB #� ������
�� "�! 
������� ���� #!��� �6��#�� #4�
 
� ���.!� X5H℄� &�� 4#!���� � ������ ���� !��
���4#���� 	

V T = 174 ± 7 ,�: �� µB = 46 ± 5 ,�: ;
√

sNN = 130 8�: W
V T = 177 ± 7 ,�: �� µB = 29 ± 6 ,�: ;

√
sNN = 200 8�:�

%� �
� A
�!!����� 
 /
 ;
√

sNN = 17, 8 GeV B0 !# 
���#�#���� ��� ������� �6��/
������#!�� #4�
 !� �E�� ���.!� ��������� ������ ��� !� "�! 
������� #��#�#-� ����
��� ������#���� T = 170 ± 5 ,�: �� �� ��������! 
������� µB = 255 ± 10 ,�:� %�
&(�0 !�� �6��#��!#����� �� �
� �� �� �($� �������� ��� !� "�! 
������� ���#�� #������
���� ��� ������#���� �� !������ T ∼ 175 ,�: A
���� #� �
� �� #� �($�B �� ����
�� ��������! 
������� �� µB ∼ 1 X5H0 53℄�

��(�	 �� ����� 
#$������ 
�� ������� 
��� �� ������ 
����

�� GLK50 7<��F�� # ��� !� ������� ; ����
�� !� ������.�� ���6���
���� ��� <��� ��
�#��� ����!���� ��#��4���� �#�� �� �!#��# �� ��#�F� �� �� "!���� X5N℄� 7��.4�����0
!����� ��#�� !# ���4#���� �� !� ��!��� 2���� �#�� !�� 
�!!������ ��?#�/��?#� ��� ��
�����
�� ��� !# ������� �#�������� ��� �!�4��0 !�� �#����� �� �#�� pT 4��� ������ �� !�����"��
�#� ��M����� �!#������ #4�
 !�� ��#�F� �� !�� �#����� �� ��!��� !��� �� !��� ��#4����� ��
��!��� ��
������ �� �� 
�����.�� �� �#���� �#�� �#��� ������� �#�� !� �!#� ��#��4����
Ay = 0B #4�
 ��� ����!���� ��#��4���� pT0 #!���0 ��� 2��� !� ��!��� ��#4����0 !� �#����
#��# ��� ����!���� ��#��4���� p′� ��� ���
��� 	

p′� = p� − dE

dx
L #4�


dE

dx
≃ α2

S

√
ǫ AG�3HB
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Model prediction for
 = 29 MeVbµT = 177 MeV,   

Model re-fit with all data
 = 41 MeVbµT = 176 MeV,   

/pp Λ/Λ Ξ/Ξ Ω/Ω +π/-π +/K-K -π/-K -π/p -/h*0K
-

/hφ -/hΛ -/hΞ *10-π/Ω /pp +/K-K -π/-K -π/p *50-/hΩ

���� �<�? = �
�
�����
� ��� ��


��� #����5$����
�*����
� �� 012� ���
 ��� 
��5
��
��
�� ���� �
���� ����������� �84℄�

�T dE/dx ���������� !# ����� ������"�� �#� ����� �� !��"���� �� �#���� �#�� !� ��!���
�� L ��� !# !��"���� ��� �#�
���� !� �#���� �#�� !� ��!���� ǫ ��� !# ������� ������"��
�� ��!���� �������0 
�� �#����� ���#��������� �� !�� �#����� #���� 2����� 4����� !���
����!���� ��������

������#��0 !# ����� ������"�� �#� ��M����� �!#������ ����� �#� !# ���!� ����
� ��
����� ������"�� ��� �#����� �#�� !� ��!��� ������ �� �M��0 !� I "!�������#�!��" J0
!�����4#!��� �� *�
 �� I  �������#�!��" J �� *�
0 ���� E��� ��� #���� ����
� ��
����� ������"�� X5�0 5O℄� 
��#�� �# ��#4����� �� ��!��� �����0 !� �#���� ���� #���� ��
!�����"�� �#� �#?�������� �� "!�����

�<3<'<� �� ��!!������� ��� !����
� �� �� "��� pT

$! ��� ���!� �� ������ !� 2#
���� �� �����
#���� ��
!�#���0 RAA(p�, b)0 ���� !�� 
�!/
!������ ��?#�/��?#� #�� ��������� !# ����������� ��� �#����� �� �#�� pT� $! ��� ������
�� !# �#��.�� ���4#��� 	

RAA(p�, b) =
d2NAA/d2p�dy

< N ����

��� (b) > ×d2Npp/d2p�dy

AG�3NB

�T < N ����

��� (b) > ��� !� ��� �� ��?�� �� 
�!!����� �/� ���!#������� �#�� ��� 
�!!�����

��?#�/��?#� ��� ���� E��� ������ �� ���!��#�� !� ���.!� �� 8!#� �� A
2� %���6� %B� ��
�#����� ��� �"#! ; G �� ��� 
�!!����� ��?#�/��?#� ��� ��� ������������� ��������#���
�� N
��� 
�!!������ �/��

&�� 2#
����� �� �����
#���� ��
!�#��� ������� �� 
�!!����� �/%� �� %�/%� A
��/
��#!��B �#� !��6������
� 
(��$� ���� !�� ����� ������� �� !�� �#����� 
�#�"�� ����
��������� ��� !# �"��� G�GG A; "#�
��B� +� ���#���� ��� 
� �#����� #�"����� �#��
!�� 
�!!������ �/%� ���� !�� �#����� 
�#�"�� #�6 ����!����� ��#��4����� ���������#����0

� ��� ��� �6�!���� �#� !��M�� ������ ��� �������� �� !# �����
���� ��� �#����� ��  #�
pT 4��� !�� �#�� pT� 
#�� !�� 
�!!������ %�/%� 
����#!��0 �� 
����#�� ��� !� 2#
����
�� �����
#���� ��
!�#��� ��� ��.� ��2������ ; G ��� 
� ���� ���� !�� �#����� �� ����
!�� π0� ����� ����������� �#� �#����� #�6 
�!!������ �/%� ��� �� !������ �� N ���� ���
����!����� ��#��4����� #!!#�� �� N 8�:D
 ; G� 8�:D
� ����� ����������� ��� �#�����
�� �#�� pT �#�� !�� 
�!!������ %�/%� ���� E��� �� �M�� �#�� !���#� ��#! 
#� �! ����� �#�
� ���4� �#�� !�� 
�!!������ �/%�� ����� ����������� ���!���� !# 
��#���� ���� ��!���
��.� ����� �#�� !�� 
�!!������ %�/%� �T !�� �#����� �� �#�� pT ������� !��� ����"��
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����

��	 � �� �������� �� ��� V

�#�� !� ��!��� ����� �#� �#?�������� �� "!���� ����#��#��0 #��.� �#������#����0 ���
����������� ��� �#����� �� �#�� pT�

&# �"��� G�GG A; ������B ���������� !� 2#
���� �� �����
#���� ��
!�#��� ��� �����
�������0 ��� η �� ��� ������� ����
�� ���� !�� 
�!!������ %�/%� 
����#!�� ������ �#� !��6/
������
� 
(��$�� &�� ������� ����
�� �� ���� �#� ��������� ���� ��� pT a 5 8�:D
0

#� �!� ���� ��� ����� !�� ; !# ��#�� �#�������� A������ �� 
��!���B� &�� ������� ��/
��
��0 ����� �� ���
����� ���� Aqq̄ → γg �� qg → γqB0 ���������� ���
 �� 4������ !#
����#!��#���� �� RAA ���� !�� pT �#�� !� ���#��� �� ����!���� ��#��4���� �T #��#�#-�
!# ����������� ��� �#������ 
#� 
�����0 �� 
����#�� ��� !�� ������ π0 �� η ��� ���
����������� ��������� ���� 2#
���� ∼ N �� �� 
����������� 
����#�� �#�� �� ���#���
�� pT 
������ ����� H �� 5� 8�:D
� ����� ����������� ��� !� ���
 E��� ��������#���
�� !# �#��� �� �#���� A����������� #� ��4�#� �#��������B 
� ��� ��� �� #

��� #4�

!� �
��#��� �� ����� ������"�� ��� �#����� �#�� �� ��!��� ������ ��� �����
���� ����/
����� ���� !� RAA ��� ����� ������� ��� ��������� ��� !# �"��� G�GG A; ������B� 
#�� 
�
���.!� X3�℄0 !�� �#����� ������� !��� ����"�� �#�� !� ��!��� ����� �#� �#?�������� ��
"!����� %4�
 ��� ������� �� "!���� �� dNg/dy = 11000 !� ���.!� ��� !� ���������� !��
�������� ����� 4#!��� 
������ ; ��� ������� ������"�� �����#!� �� GN 8�:D2�3 �#�� !��

�!!������ 
����#!�� %�/%� ;

√
sNN = 200 8�: X3�℄�

�<3<'<' �� ��!!������� ��� E��� �� A E�� $���
"��6 C

&�� �#����� �� �#�� pT ���� �������� �#� �#��� �#� ��� ���
����� ���� I ��� J
A2 → 2B ��� !��� ���� ��#���� �#� !# *�
 ������ #��4�� &�� 5 <��� �� �#�� pT ����
�������� ���/;/���0 #4�
 p1

� = p2
�� ��� <��� ���4��� E��� ��� ����� ��.� ��������#���

�� ��!��� ����� 2���� #�6 ���� �������� ����#��� �� !# 
�!!������ �� �M��0 !������#
����
��� �#����� �� �#�� pT #4�
 !� ��!��� ����� A
������ �� ��#�F� �� �� "!����B ����
����#-��� ��� �����
#����� ��� !# ����!�"�� �� !# 
����#����� ��� <��� ��������

*��� ���4�/���� ��� !# ��?����� ��� <��� #� �($� ^
&�� <��� �� �#�� pT ���� �������� �#�� �� ��4���������� �� �#��� ��!���!�
���

AdNch/dy|y=0 ∼ 650 �#�� !�� 
�!!������ 
����#!�� %�/%� ; 5�� 8�:B ����#�� !# ��/

������
���� ��� <��� ��Q
�!�� 
��� �#!��� 
���� ��Q
�!��0 !�� �6������
�� �� �($�
��!�
�������� !�� �#����� �� �!�� �#�� pT �� �������� !# ������ ����� #=����#!�0 ∆φ =
φtrig − φ0 �#� �#����� ; 
�� �#���
�!�� �� ��2����
� AφtrigB0 ��� #����� �#����� �� !#
�E�� 
�!!����� AφB�

&��6������
� ��%� # ������ !�� <��� �#�� !������4#!!� �� ������/�#������ |η| < 0, 7
#4�
0 ���� !�� �#����� ��
!��
�����0 ��� ����!���� ��#��4���� ptrig

� 
������� ����� H ��
� 8�:D
0 ��0 ���� !�� �#���
�!�� #���
����0 ��� ����!���� ��#��4���� 
������� ����� 5 ��
ptrig
� � &# �"��� G�G5 ������ !�� 
����!#����� #=����#!�� ��� �#����� �� �#�� pT ��������
�#� !��6������
� ��%� ���� !�� 
�!!������ �/�0 
����#!� �/%� �� I �������  #�� J �/%�
A�"��� �� �#��B� +� 
����#�� �� ������� ��
 ; φ ∼ 0 ���� !�� �#����� ��
!��
�����
#���
���� #� ������� �#���� �� �� ��
��� ��
 ; φ ∼ π 
���������#�� #�6 �#����� ����
�#�� !# ����
���� ������� ; !# �����.�� �� ���4��#�� �� ��
��� �#����� *�� 
� ���� ����
!�� 
�!!������ �/� �� ���� !�� 
�!!������ �/%�0 !�� ������ ������ #=����#!�� ��� �#���
�!��
�� �#�� pT �������� ��� 
����!#����� ���/;/��� 
#�#
����������� �� 5 <��� �� �#�� pT

�������� ���/;/��� �#�� 
�� 
�!!������� &# �"��� G�G5 A��  #�B 
���#�� !�� 
����!#�����
�#�� !�� 
�!!������ �/� �� �/%� #�6 
����!#����� �#�� !� 
�!!������ %�/%� 
����#!���

#�� !�� 
�!!������ %�/%� 
����#!��0 !�� 
����!#����� ��� 
���!.������ ����#����� ��
�
���6�!���� �� !��� #���� ����� ��� �#����� # ����� ��� 2�#
���� ������#��� �� ���
����"�� �#� �#?�������� �� "!���� !��� �� �# ��#4����� �� ��!��� ����� #!��� ��� !�
�#���� #���
�� # �#�
���� ��� 
����� ����#�
� A��#��/��!!�B �#�� !� ��!��� ����� �� #



��� ��6������� �� ! ���� �� $���>� �� �� 6 ���� ')

���
 �� ���� �
�#���� �#�� ����� ������"���

����� ; 
�� � ���4#����� �6��������#!�� A����������� ��� �#���
�!�� �� �#�� pT ��
�
�#��#"� ��� <���B0 �� ���� 
��
!��� ��� !� ��!��� 2���� #�6 ����"��� �� �($� ���� E���
�� ��!��� ����� �T !�� 
�������#��� A�#�����B �����#"������ 2��������� ����#��� �������
��� 
�� � ���4#�����0 #���
���� ; ��#����� ������� 2#���� #� �($�0 ���� !# ����4� ��
!# 2���#���� ���� *8
 �� �!���� ���� �*8
 A���� �����"!? �����#
���" *�#�F/8!���

!#��#B #� �($� X35℄�

&� &(� ���� ��������� ��� ��
������
���� ��� <��� ����"������� �4������� �#�
�4������� ���� !�� 
�!!������ �/� �� 
 /
 �� ��� ����� �� RAA <�����; ��� 4#!����
�� pT �� G�� 8�:D
 X330 3H0 3N℄� 
� �!��0 !�� ��#�F� !����� Ac, bB ������ �������� ��
# ���#�
� #4�
 ��4���� 53� AG�B �#����� 
�#���� A �#�6B #�������� �#�� !�� 
�!!������

 /
 
����#!��� &# ����� ������"�� ��� ��#�F� !����� �#�� !� ��!��� �����# #!��� E���
������� #4�
 !# ������ �� RAA ��� �#����� 
�#���� ��  �#�6 X3�℄�

��(�� �� ����������� 
�� *���+����

�<3<)<� 
������
����

�� GLK�0 (� �#�= �� �� ,#���� X3O℄ ��������� ��� ���4�!!� ��"�#���� �� �!#��#
�� ��#�F� �� �� "!����� &����� ��� ��� !� ��������! ��� !�� ��� �#��� ��#�F/#�����#�F
���#�� �
�#��� �#�� �� �!#��# �� 2#�� �� ��
��������� ��� ��#�F� �� ��� "!����� ���
�#��� ��#�F/#�����#�F # ���
 ��� ��� # �!��� �!�� 2#� !� �� 2����� �� ��#� !�� ��#�F/
#�����#�F A��#�F�����B �#�� �� �!#��#� +� ���� ���
 ��#������� ; ��� ����������� ���
��#�F���# �� !� ��!��� 2���� �#�� ��� 
�!!������ ��?#�/��?#� ��� �� �!#��# �� ��#�F�
�� �� "!�����

&�� ��#�F���# ���� ��� ��#�� !��� ��#�F/#�����#�F !����� A
�#��� ��  �#���B� 
������
!�� ��#�F� ���� !�����0 #4�
 mc ≃ G05/G0N 8�: �� mb ≃ 4, 5 8�:0 !# ���
����
����
��� ��#�F���# ���� E��� ������� �� ���!��#�� !# ������� ��#������ ���/��!#��4���� �T !#
2��
���� ������ �� !���#� !�� i0 Ψi(r)0 4����� !����#���� �� �
��b���"�� ���4#��� 	

{

2m − 1

m
∇2 + V (r)

}

Ψi(r) = MiΨi(r) AG�3�B

�T :A�B ��� !� ��������! �������#
���� ����� !�� ��#�F� ���#��� ����� ����#�
� r ��� !���
����!��� "����#!����� �� !# �#��.�� ���4#��� 	

V (r) = σr − α

r
AG�3OB

�T !� ������� ����� ���������� !�#���#
���� ��� ��#�F� ; "�#��� ����#�
� A
���������B
#4�
 ��� ������� �� 
���� �� σ ≃ 0, 2 8�:2 �� !� ���6�.�� ����� 
��������� ; !#
����!���� 
��!�� ����� ��� 
�#�"�� �� 
��!���� ; ������ ����#�
� #4�
 α ≃ π/12�

&# ����!����� �� !����#���� �� �
��b���"�� ������ �� ���������� !# �#��� Mi0 !�
�#?�� ri �� !�����"�� �� !�#���� ∆Ei ��� ��M������ ��#�� !��� i� &�� 
#�#
����������� ��

�� ��#�� !���0 � ������ #4�
 
� ���.!�0 ���� �������� �#�� !� �# !�#� G�5 �� �6#�� !#
�#��� ��� ��#�F� ; mc = 1, 25 8�: �� mb = 4, 65 8�:� &# ���
����
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3 8�:D2�3� �#
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(� �#�= �������.�� 
���� ����������� �#����!!� �� >Dψ 
���� ��� ����������� ���#!� ��
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���� �� *�
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S(J/ψ) = 0, 6Sψ + 0, 4Sψ′,χc AG�H5B
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�����B �������� �"#!����� E��� ���������
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����� 2��
���������� ��
���� #4#!#�
��0 ��� ����.�� ��� ��.�  ���� ����!����� �������!!�� �� �M��0 !�� ��������
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�#�0 ���� L� ����!�� ���� �� ���#! �� ∼ G����� 
�!!�!�� �� !�
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!���� ��#?#�� �#�
�����#"�� !��� �� !# 
�!!����� ��?#�/��?#�B0 #�� ��������� !# 
����#!��� �� !# 
�!!������
�� 2#��0 !� 
#!����.��� ������ !�����"�� ������� �#� !�� ��
!���� ���
�#����� AEZDCB�
����#���#�� !�����"�� ��?���� �� 2#��
�#� �#� ��
!��� AEnuclB0 !� ��� �� �� ��
!����
�#���
��#���0 Npart0 ��� #!��� ��������� 
���� ���� 	

Npart = A − Nspec = A − EZDC

Enucl

A5�5B

�T A ��� !� ��� �� �� �#��� �� ��?#�0 ���� 5�K �� H�0 �����
��4�����0 ���� !�� ��?#�6
�� �!�� �� ��#�"��� &� ��� �� �� �#���
��#��� ��� !�� #� �#�#�.��� �����#
� �� !#

�!!����� ��� ���� #!��� E��� ��������� �� ���!��#��0 �#� �6���!�0 !� ���.!� �� 8!#� ��
A
2� %���6� %B�

&�� 9
� A
2� �"��� 5�G�B ������ �!#
�� ; GG� � �� ����� �������#
����� $!� ����

������� �� ���6 ����!��0 !��� ���� !# ����
���� ��� ������� �� !�#���� ���� !# ��/
��
���� ��� ��������� &# ��
������ #������ ���� 
�� ����
����� ��� !# 
#!��������� �#�
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&# ����!����� #������� ���� �� ��
!��� �� 50O� ��: ��� K03R ���� !�� �������� ��
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A9�,B ���# �!#
�� ; O � �� �#�� �� ��#���� �� ����� �������#
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���# �����  #��� �� ��#���������
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#
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�� !# �
� ���#�� #!��� ���� ������".�� ���4#�� !# !#�"��� �� I ����� J �� 2#�� �� !#
2���� ���������� �� ��"�#! A∆�i ≃ H� �:B�


#�� !� 
#� �T ρ �= 00 !� ��"�#! ��#����� ; !# 
#��� ���!�
�������� ��7 ������
�� ��"�#! ��
�����0 �� ��"�#! ��]�
�� #���� ��� �� ����#�#"� �������! ����� 
�� ���6
��"�#�6� ���� #!!��� 
��������� ���6 
#� �6��E��� ��� 4��� ���� ��������� ���4#!���
!��M�� ��� !� ��"�#! ��#����� ; !# 
#��� ��7 ����� �#�4#��� #�#��#���� �������#�
�
#�6 �6�������� �� I ����� J�
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!�� ��"�#�6 ��
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�� Ur ������� #� 4�����#"� �� !# 
#��� ��% ��
����#"��� �#�� ����#�#"� �������! <�����; !# 
#��� ��7� &� ��"�#! ��
����� U ′
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#���4#�� ��� !# 
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U ′

i = Ui + Ur = (1 + ρu) Ui A3�3B

�� ��"�#! �� �� ������� ��� ��]�6��� #� 4�����#"� �� !# 
#��� ��7� &� ��"�#!
��#����� ; !# 
#��� ��7 ���� �� ��"�#! ������ #� 4�����#"� �� ��% ���
��� 	

UFEA
t = U ′

i + ρu U ′

i = (1 + ρu)
2 Ui A3�HB
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�� ���� �#�����#�� ����#���� �� �M��0 !� ��"�#! ��/
]�
�� #���4� #4�
 �� ���#�� �i ; !# ����#"#���� �� 
� ��"�#! ��� ����� !# !��"����
�� !# !�"�� �� ��#��������� A#!!�� �� ������B� �� !# !�"�� �� ��#��������� ��� ��/
!#��4����� !��"�� A���� &eN� 
�0 ∆t = 2L/c = 3.5 ��B0 !�� #��!������ ���
��"�#�6 ��]�
�� �� ��
����� ��U��� �#� !# 
#��� ��7 �� ��#<������ �!��� %����0
!� ��"�#! �����#�� E��� ����Q�#�� ���� �#���� !�� ����!� �� ��
!��
������ �� !#

#��� ��7� �#���!��� ��� !# !#�"��� ; ��/�#����� �� ��"�#! I ����#��� J ��� ��
!������ �� H/N ��� 
#�� !��?����.�� �T !��� ��"!�"� ���#!����� !� ��"�#! ��]�
��0
!� ��"�#! ��#����� ; !# 
#��� ��7 ���� �� ��"�#! ������ #� 4�����#"� �� !# 
#���
��7 ���
��� 	

UFEB
t = Ui + ρu Ui = (1 + ρu) Ui A3�NB

+� ���#���� ���
 ��� ��M����
� ����� !�� ��"�#�6 ��#����� ; !# 
#��� ��7 ���4#��
!# �������� �� !�����!���� �����#!� ��� !# !�"�� �� ��#���������0 ��#��!����� �#6���� 	

UFEA
t = (1 + ρu) UFEB

t A3��B

�� !� ��"�#! ��� ������ ����� 
�� ���6 ��������� �6��E���0 !� ��"�#! ��#����� ; !# 
#���
��7 ���# ��������� ; UFEB

t �#�� ������# ��2������ ; UFEA
t �

&�� 4#!���� ��� ��"�#�6 ��#����� ; !# 
#��� ��7 ���� !�� ���6 
#� �6��E��� ���������

�/������ ���� ������������ �#�� !� �# !�#� 3�G� ��� �#�4#��� #�#��#���� �������#�
�
��� I ������ J ����#-�� ��� ���������� �� ��"�#! ��#����� A∆�t ≃ 28 �:B0 �#�� �!��
2#� !� ��� �#�� !� 
#� �T !�� I ������ J ���#����  ��� #�#���� A∆�t ≃ 40 �:B� �����
���������� �� ��"�#! ������ �� !# �������� �T ��� ������ !� ��"�#! ��� !� I ����� J �� �� !#
!#�"��� �� I ����� J ���
��� +� ��#����� ���
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���#��
!��Q
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&� 4�!��� �� "#= �� !# �
� ��� ����� !� #�6 
��������� #������������� A���/
���#���� �� ��������B0 �����#�� #���� !� 
����������� "!� #! �� !# �
� �� �����
���Q
#
���� �� �M��0 !# ������� �� "#= ������ �� !# �������� �� �� !# ������#���� A
#�
�� "#= �#�2#�� 	 ρ ∝ P/T B� �� !# ������� �� "#= #�"�����0 ���� !��M�� ����� �#����
�� !# �������� �#� �6���!�0 !� !� �� �#�
���� ��?�� ��� �!�
����� �#�� !� "#= �������0
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� ��#�"������ !� "#�� #���� ��� !��Q
#
��� �� !# �
� ����
��� �#��� ������� �6��� 
� �#��.�� ; ������� 
���� ����� �!���0 �� ������ ��� �#���
������� �M�
��4� AVeffB ��� ������ �� !# �#��� ������� #��!����� AVaB �� ��� 
���������
#������������� AT 0 P B0 
���� ���� XKK0 KL℄ 	
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���� ��2����
� #4�
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��� ��� �#��� ������� ������0 !��Q
#
��� ��� ������� �� ����#�� 
���� ��2����
�
!� ��� �� �� �����0 Nhodo0 ����
��� �� 
�c�
����
� �#� !�� ���6 �����
����0 !�� ��/
���
���� #?#�� ��� �Q
#
��� 4������ �� G��R� 
��� ��� =��� ������ �� !# �
�0 ��
� ����� #���� !# 
��� � ���Q
#
��� �� 2��
���� �� !# �#��� �������0 �� �M�
��#�� !�
�#����� �� ��� �� �� �����0 NRPC 0 ����
��� �#� !# �
� ��� Nhodo ���� ��M�������
�#���� �������� �� 2��
����������� &��Q
#
��� 
��-� #4�
 !# �#��� �������0 �#��� �#� ��
����� ����]�6��� ����� ����� !� "����0 ���� #������ ������� �� �!#��#� �T !��Q
#
���
��� ���
�� �� G��R� &� "���� ��� ����� 
���� !# �#��� ������� 
���������#�� ; ���
�Q
#
��� �� L�R0 �� ���� �� ����� �� ��2����
�� ����� �#��� ������� ��� � ����� �#�
�� #<�������� �� !# 
��� � ���Q
#
��� ; !�#��� ����� 2��
���� #?#�� !� 
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f(HV ) = α1 · [tanh(α2 · HV − α3) + α4] A3�KB

�T α10 α20 α3 �� α4 ���� !�� ��#���� �#�#�.���� !� ��� �� 
���� 2��
���� ��#<���������
+� ������ �"#!����� !# �#��� ������� �� 2��
���������� 
���� !# �#��� �������

���������� �� H�� : #� "����� 
��6 
��� �� ���Q
#
��� ���� �������� ��� !# �"��� 3�H0
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�#/
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�� ���������0 !�� �������� �� !# �
�0 �� ����� ���Q
#
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���� !�� ���6 �!#�� �� !�
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��� !# �������� ��2����
�� H�3 ��� !# �"��� 3�H0 �� ���#���� ��� ������� #� "����
�� !������ �� OHN� : �� ��� ������� �� 2��
���������� �� !������ �� OKN� :0 !# �������
��#�� ��������#��� �� �!#� �� !�
����� �� 
� ��� 
��
���� !# �������� 5�G0 �� 
����#��
��� ������� #� "���� �� !������ �� O��� : �� ��� ������� �� 2��
���������� �� !������
�� K��� : ���� !� �!#� �� 
��� !� �!#� )0 �� ���#���� �� ��
#!#"� �� ������� �#�
�#����� #� �!#� � �� !������ �� G�� :�

+� ���#���� #���� ��� ������"������� ������#���� ����� �#�� �� !# �������� ��
2#��
�#� ��� !# �
� �� ��#���� �#�� �� �!#� �� !�
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��� ������ !�� ���������  #!#?��� �#� !� 2#��
�#� �� �����0 !# 4#!��� �� !# �#���
������� 
���������#�� ; ��� �Q
#
��� �� K�R # ��� � ����� �#� #<�������� #4�
 !#
2��
���� ������ �#� !����#���� 3�K� ��� 4#!���� ���� ��������� ��� !# �"��� 3�N ����
!�� ���6 �!#�� �� !�
����� *��! ��� ���� !� �!#� �� !�
����0 �! 2#�� #��!����� ��� �#���
������� ��?���� �� O��� : ���� � ����� ��� �Q
#
��� �� K�R� %����� �� 
���� 4#!���
��?����0 �� 
����#�� ��� ���������� A∆HV = HVmax − HVminB �� �#��� ������� ��
!������ �� �N� : ���� !� �!#� � �#���� ���0 ���� !� �!#� )0 
���� ���������� ��� �!����
�� !������ �� NN� :�


#�� !�� ��"���� 
����#!�� �� ����/������������� �� !# �
� A20 < x < 190 
�B0
�� ���#���� ��� ���������� ��������� ����� ������#���0 �� !������ �� 5N� : ���� !�
�!#� � �� 3�� : ���� !� �!#� )� �� 
� ��� 
��
���� !�� ��"���� ������������� �� !#
�
� Ax < 20 
� �� x > 190 
�B0 
�!!��/
� ���� ���� �Q
#
�� �#� �#����� #�6 ��"����

����#!�� �� ����/��������������
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Segmentation en X : Strip 1 cm Strip 2 cm Strip 4 cm

Strip 2 cm Strip 4 cmSegmentation en Y :
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 /
 A%�/%�B ��� �� !������ �� 0, 45 A0, 056B0 #!��� ��� 
�!�� �� Υ
��� ����4���� 9, 32 × 10−3 A1, 11 × 10−3B�
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sNN = 5, 5 ��:

φ >Dψ ψ′ Υ Υ′ Υ′′

σres
pp Aµ B 35000 30, 5 4, 68 0, 50 0, 24 0, 10

Cshad
Pb−Pb 0, 60 0, 62 0, 62 0, 79 0, 78 0, 81

N res
Pb−Pb A×10−3B 5 × 106 446 68, 5 9, 32 4, 42 1, 91

��!!������ ;
√

sNN = 6, 3 ��:

φ >Dψ ψ′ Υ Υ′ Υ′′

σres
pp Aµ B 63000 33, 1 5, 1 0, 56 0, 28 0, 11

Cshad
Ar−Ar 0, 70 0, 73 0, 73 0, 86 0, 86 0, 85

N res
Ar−Ar A×10−3B 101865 55, 8 8, 6 1, 11 0, 56 0, 21
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√

sNN A��:B 14 6, 3 5, 5

〈L〉 A
�−2�−1B 3 × 1030 5 × 1028 5 × 1026

σinel A B 0, 07 2, 7 7, 7

Ncoll A(=B 2 × 105 1, 5 × 105 4 × 103
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Fcut(pT) = α arctan [β(pT + γ)]6 + δ AH�LB

&�� 4#!���� ��� �������� 
�� �#�#�.���� Aα0 β0 γ �� δB ���4#�� !# 
������ �� pT

#��!����� �� ���� !�� ���6 ���������� ���� ��"������� �#�� !� �# !�#� H�O�
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� 	 Fcut e ǫcut

α β A8�:D
B−1 γ A8�:D
B δ ǫnom

ǫLpt(pT) �0�GO �0OGO �03K� �05OG × G�−1 LLR

ǫHpt(pT) �0�5L �03GL G05GN /�05H3 × G�−2 LKR
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#
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α β A8�:D
B−1 γ A8�:D
B δ Enom

ELpt(pT) �0�5� �0�L3 �03LN /�0OKL × G�−3 LOR

EHpt(pT) �0�GN �0333 G0��L /�03LG × G�−2 L�R
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������� ���� ����".���� �� �#�����#�� !# �����#�
�
# ��� 2#� !� ����!���� ��#��4����0 �� ��� ����� ���# ���4�!�"�� 
� ��� ����#-���# ���
 #���� �� !��Q
#
���� *�#�� !�����!���� ��#��4���� �� !# �����#�
� #�"�����0 
�� �M��
���� ; ��4���� ��"!�"�# !��

���$���
� �� ��
 ��
"����� �� A ���66�� C ����  �� 
�  ������ ��#��9��#��

\ �#���� ��� �Q
#
���� �� ����
���� �� ��"�#!0 �� ���� ������� !� ��� �� �� ����/
�#�
�� Aφ0 >Dψ �� ΥB ��

���� !�� �� �#���� !�� ��M������� 
������� �� I ���""�� J �#�
��
����� ����� 2������
� �� ��
!��
������ ���6����� �� !# �#��.�� ���4#��� 	

f cut
AA = 〈LAA〉 × σres

AA × αtrig
geo × BRres→µµ × ǫcut AH�G5B

%4�
 	
V 〈LAA〉 	 !# !��������� ��?���� #������� !��� ����� 
�!!����� ��?#�/��?#� W
V σres

AA 	 !# ��
���� �Q
#
� �� �����
���� ����� �����#�
� �#�� ��� 
�!!����� ��?#�/
��?#� W

V αtrig
geo 	 !� 2#
���� ��#

���#�
� 3DH #���
�� ; !# �����#�
� W

V BRres→µµ 	 !� �#����� ��  �#�
������ �� !# �����#�
� �� ������ XG�L℄ W
V ǫcut 	 !��Q
#
��� �� ����
���� �� !# �����#�
��
+� ������� ��� !�� �Q
#
���� �� ����
���� AǫcutB ��� �����#�
�� �� %�/%� ���� !��

�E��� ����� 
 /
 � 
�#��.� !� ���.!� �� 8!#� �� XG�K℄0 !# ��
���� �Q
#
� ��?#�/��?#�
�� ���� I �������  �#� J ����� �����#�
� ���
��� A
2� %���6� %B 	

σres
AA = A2

[
∫ bmax

0

TAA(b) Cshad
AA (b) d2b

]

× σres
pp AH�G3B
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���� 0<2 = 9J
�
��� �� ����
��
� �� H*ψ #�� ����$ �� �� Υ #�� ���$ �� �
�
��
� ��
����
����
� ���������� #	 ���
��$ �� �� �� ��
����� #	 ��
���$ �� �� ���
���
��

�T TAA(b) ��� !# 2��
���� �� ��
��4������ ��
!�#��� ��� ��?#�6 ���� ��� 
�!!����� %/%
�� �#�#�.��� �����#
� b �� σres

pp ��� !# ��
���� �Q
#
� �� �����
���� ����� �����#�
�
�#�� ��� 
�!!����� ������/�������

&� �#�#�.��� �����#
� �#6��#! AbmaxB ������ ��� ��?#�6 �� 
�!!������ �� �#�#/
�.��� ��� �6� ; bmax = 15 2� ���� !�� 
�!!������ 
 /
 �� ; bmax = 9 2� ���� !��

�!!������ %�/%�� &�� �M��� �� I ��#��@��" J ���� ���� �� 
����� �#� !����������#���
�� 2#
���� Cshad

AA (b)0 ��� ������ �� !# 
����#!��� �� !# 
�!!������ ����� ������#�
� ; !#

����#!��� �� 
�� �M�� ��
!�#���0 ����4�� �#� !�� ��#4#�6 ���������� �����!�?#��4 ��
#!� XGG3℄0 # ��� �#�#������ �� !# �#��.�� ���4#��� 	

Cshad
AA (b) = C0

AA + (1 − C0
AA) ×

(

b

bmax

)4

AH�GHB

�T C0
AA ��� !� 2#
���� �� I ��#��@��" J ���� !�� 
�!!������ ; �#�#�.��� �����#
� ��!�

&# ��
���� �Q
#
� ������/������ �� !� 2#
���� �� I ��#��@��" J C0
AA #���
��� #�6

��M������� �����#�
�� ���� �#���� !�� �#�� !� �# !�#� H�N� \ �#���� �� !# 2������
� ��
��
!��
������0 �� ���� 
#!
�!�� !� ��� �� �� �����#�
��0 N cut

AA 0 ��� ��
!��
������ !�
�?��.�� �� I ���""�� J ���#�� �� ���� ��#
��������� 	

N cut
AA = f cut

AA × ∆t, AH�GNB

#4�
 δt = 106 �� &�� 2������
�� �� ��� ��� �� ��#�F���#0 � ����� ���� !�� ��M�������

������� �� I ���""�� J0 ���� ��������� �#�� !� �# !�#� H�G5� +� ���� ��� ���� �� ����
��#
��������� �� 
 /
 A%�/%�B #� &(�0 ���� !�����4#!��� �� G�6 ��
�����0 �� ��#�����
; � ���4�� ��4���� 8, 5×105 A4×106B >Dψ �#��#�� !# 
������  #��� �� pT �� I ���""�� J0
�� GG��� AHN���B Υ 2�#�
����#�� !# 
������ �#��� �� pT�
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 	 fcolleH��� (=

φ >Dψ ψ′ Υ Υ′ Υ′′

fApt
Pb−Pb A×10−3 (=B

�*3? G�L� GL G50� 30� G0L
NApt

Pb−Pb A×103B

fLpt
Pb−Pb A×10−3 (=B

HG� 23? �* G50� G0N G03
N Lpt

Pb−Pb A×103B

fHpt
Pb−Pb A×10−3 (=B

N� 5�� N0O �?@/ '@. �@*
NHpt

Pb−Pb A×103B

��!!����� %�/%� 	 fcolleG�N×G�5 (=

φ >Dψ ψ′ Υ Υ′ Υ′′

fApt
Ar−Ar A×10−3 (=B

�)*?? N�L� LG HL G50H O0H
NApt

Ar−Ar A×103B

fLpt
Ar−Ar A×10−3 (=B

35�� )/2? *2 HL G50H O0H
N Lpt

Ar−Ar A×103B

fHpt
Ar−Ar A×10−3 (=B

H5� G5G� 5O 03 ��@0 *@?
NHpt

Ar−Ar A×103B
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0<0<'<� ��5������

&� �#�6 �� I ���""�� J �� ������ 
���� !# 2������
� �� ��
!��
������ �� I ���""�� J
���4#�� !# 
������ �� pT 
��������� #� ��4�#� �� I ���""�� J� &� �#�6 �� I ���""�� J
F �� 
#!
�!� ; �#���� �� !# ��� # �!��� �� I ���""�� J P �� �� !# 2������
� �� 
�!!�����
fcoll� ��� �6�������� ��� !# ���4#��� 	

F = fcoll × P AH�G�B

0<0<'<' ���7�7� ��� �� A ���66�� C

&# ��� # �!��� �� I ���""�� J ���������� !� ����
���#"� �� 
�!!������ ��� ��!�4����
�� ��"�#! �� I ���""�� J ���4#�� !# 
������ �� ����!���� ��#��4���� #��!����� #� ��4�#�
�� I ���""�� J�

&� �?��.�� �� ��
!��
������ �� ���
����.��� ; ����� �� 
������� �� 2#U��  �/
�#���0 �4������� ��
!��
���� �� ��� ��
!��
����0 ���� !�� ����� ����!�� �� !�� ��/
������ &# ��� # �!��� �� ��
!��
������ �� �?��.�� ���4�# ���
 ��� !��  �����#!� A!��



�?' V $
��� ��� ���!��%�	
�� �� ���
&%� �� ��
��	
��%�	
 V

�� ��� # �!��� ; 
���6  ��#���B ���0 ���� ��� �4�������� �� 2#� !� ��!���!�
��� A��� ��
��?�� �� ����� ����!�� ��� �#����� �� ��� ����!� �� pT �� I ���""�� J �#� �4�������B0
���� 4��� ��� !�� �� 
������� %4�
 
���� �?����.��0 �� ��#����� ; 
� ��� !# ��� # �!���
�� I ���""�� J ���� !�� ����� ����!��0 !�� ������� �� ��"��� ��M������ �� !�� ������� ��
�E�� ��"�� ������ �� 
#!
�!�� ; �#���� ����� !�� �� 
������ 
���� ��4�!���� 
�/#��.��

⇒ !��7�7� ��� �� A ���66�� C !��� ��� ����� ���! ��

&# ��� # �!��� ���� ������ 
�!!����� ��?#�/��?#� ��!�4�� #� ������� �� ��"�#! ��
I ���""�� J ���� ����!� Aµ+0 µ− �� µ0B ���
��� #���� 	

Pµ = 1 − e−mµ AH�GOB

�T mµ = mµ+ + mµ− + mµ0 ���������� !� ��� �� ��?�� �� ����� ����!�� Aµ+0 µ− ��
µ0B ��� 2�#�
������� ��� ��� 
������� �� pT �� I ���""�� J �#� 
�!!����� ��?#�/��?#��

⇒ !��7�7� ��� �� A ���66�� C !��� ��� ������� �� ��6��� ��D������

+� ���� 2����� ��#��� �#���� ��M������� �� ����� �� ��"��� ��M������ ; �#���� ���
����� ����!�� µ+0 µ− �� µ00 ; �#4��� µ+µ−0 µ+µ00 µ−µ0 �� µ0µ0� �� �6#���#�� ������ !��
�������� ����� !�� �� I ���""�� J 
��
���#�� !�� ����� ����!��0 �� �� ����� �� ��#���
��� �� ������� #�
�� ��"�#! ������ �� ��"��� ��M������0 ���� �
� ��� ��#��� ��������
�� !���� ��� # �!���� #���
���� ���� ������������ �#�� !� �# !�#� H�G30 �T m−

µ = mµ−+mµ0

�� m+
µ = mµ+ + mµ0 ������������ �����
��4����� !� ��� �� ��?�� �� ����� ����!��


�#�"�� ��"#��4����� �� ������4����� ��� �#����� ��� ��� 
������� �� pT �� I ���""�� J�

������� �� I ���""�� J ���� !�� ����� ����!��

�� # �!��� �
 #���
���

µ+ µ− µ0

� � � e−mµ

� � G mµ0 · e−mµ

� ≥ G � (1 − e−mµ− ) · e−m+
µ

≥ G � � (1 − e−mµ+ ) · e−m−

µ

���� 0<�) = 0�

���� �� + ������� - ��� �� �
����� ��
�� ������ ����
� �� ������
��<������� '�� 
�
��������� ���

���� 	 
�� ��
�� �� ��

���� �
�� ��������� ��

������
'�� �
����
�� �
�� ��A���� ���� �� ��"���

�� ����#�� 
�� ��� # �!����0 ���� �� ����#�� !� 
���!�����#��� �� � ����� ��#!�/
���� !# ��� # �!��� ���� ������ 
�!!����� ��?#�/��?#� ��!�4�� #� ������� �� ��"�#!
�� I ���""�� J ������ �� ��"��� ��M������0 ���� �
� ����� ��� # �!��� ���
��� 	

P SD
µµ = 1 −

[

e−m+
µ + e−m−

µ − (1 − mµ0) · e−mµ

]

AH�GKB

�� �� ��"!�"� !� ��� �� ��?�� �� ����� �� ��4�#���� ��!!� Amµ0 ∼ 0B0 #!��� !��6/
�������� �� 
���� ��� # �!��� ���� �� ����!���� 
���� ���� 	

P SD
µµ ≃

[

1 − e−mµ+
]

×
[

1 − e−mµ−

]

AH�GLB

�� �� ������� ������� ��� !� ��� �� �� ����� 
�#�"�� ��"#��4����� ��� �"#! #�
��� �� �� ����� 
�#�"�� ������4����� Amµ+ = mµ− = mµ/2B0 #!��� !��6�������� �� !#
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��� # �!��� �� I ���""�� J �� ����!��� �� ���
��� 	

P SD
µµ ≃

[

1 − e−mµ/2
]2

AH�5�B

�� �� ������� ��#!����� ��� !# ��!���!�
��� �� ����� ����!�� AmµB ��� ������0 #!���
�� ���� 2#��� !�#����6��#���� ���4#��� 	

P SD
µµ ≃ m2

µ

4
AH�5GB

⇒ !��7�7� ��� �� A ���66�� C !��� ��� ������� �� �Q�� ��6��

+� ���� 2����� 
��� �#���� ��M������� �� ����� �� �E��� ��"��� ; �#���� ��� �����
����!�� µ+0 µ− �� µ00 ; �#4��� µ+µ+0 µ−µ−0 µ+µ00 µ−µ0 �� µ0µ0� �� �6#���#�� ������
!�� �������� ����� !�� �� I ���""�� J 
��
���#�� !�� ����� ����!��0 �� �� ����� ��

��� ��� �� ������� #�
�� ��"�#! ������ �� �E�� ��"��0 ���� ,�� ��� 
��� ��������
�� !���� ��� # �!���� #���
���� ���� ������������ �#�� !� �# !�#� H�GH�

������� �� I ���""�� J ���� !�� ����� ����!��

�� # �!��� ,� #���
���

µ+ µ− µ0

� � � e−mµ

� � G mµ0 · e−mµ

� G � mµ− · e−mµ

G � � mµ+ · e−mµ

G G � mµ+mµ− · e−mµ

���� 0<�0 = 0�

���� �� + ������� - ��� �� �
����� ��
�� ������ ����
� �� �T��
������ '�� 
�
��������� ���

���� 	 
�� ��
�� �� ��

���� �
�� ��������� ��

������ '��
�
����
�� �
�� ��A���� ���� �� ��"���

�� ����#�� 
�� ��� # �!����0 ���� �� ����#�� !� 
���!�����#���0 �� � ����� ��#/
!����� !# ��� # �!��� ���� ������ 
�!!����� ��?#�/��?#� ��!�4�� #� ������� �� ��"�#!
�� I ���""�� J ������ �� �E�� ��"��� ����� ��� # �!��� ���
��� 	

PMS
µµ = 1 − (1 + mµ + mµ+mµ−) · e−mµ AH�55B

�� �� ��"!�"� !� ��� �� ��?�� �� ����� �� ��4�#���� ��!!� Amµ0 ∼ 0B0 #!��� !����#/
���� ���
������ �� ����!��� �� ����� !# 2���� ���4#��� 	

PMS
µµ ≃ 1 − (1 + mµ+)(1 + mµ−) · e−mµ AH�53B

�� �� ������� ������� ��� !� ��� �� �� ����� 
�#�"�� ��"#��4����� ��� �"#! #�
��� �� �� ����� 
�#�"�� ������4����� Amµ+ = mµ− = mµ/2B0 #!��� !��6�������� �� !#
��� # �!��� �� I ���""�� J �� ����!��� �� ���
��� 	

PMS
µµ ≃ 1 −

(

1 +
mµ

2

)2

· e−mµ AH�5HB

���#!�����0 �� �� ������� ��� !# ��!���!�
��� �� ����� ����!�� AmµB ��� ������0
#!��� �� ���� 2#��� !�#����6��#���� ���4#��� 	
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PMS
µµ ≃ m2
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= P SD

µµ AH�5NB
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������ �� I ���""�� J ���# 4������ �� 
���#�#�� !# ������� ������ ����
������ �#�
!�#!"������� �� I ���""�� J #4�
 
�!!� ������� ��� ���#����� H�GO0 H�GK �� H�55 �����
��/
4����� ���� !�� ����� ����!��0 !�� ������� �� ��"��� ��M������ �� !�� ������� �� �E��
��"��� �� 
���� �?����.�� ��� 4������0 !# ���!� 
���#���#�
� �� ��� �� ��?�� �� �����
����!�� ��
!��
����� Amµ+ , mµ− �� mµ0B ��������# #!��� �� ��#������ !# ��� # �!��� ��
I ���""�� J �� !�� �#�6 �� I ���""�� J�
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���� H�3� &�� ����� ���4��#�� �� !# �������"�#���� ��� ����� ��
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����!�� ���� "������
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���� ����� �� !# ��"��� ��� �#���� �#����0 ���!� !�� �4�������� ��!�
�������
�#� !# 
������ �#��� ApT ≃ 5 8�:D
B �� ����!���� ��#��4���� �� I ���""�� J �� ���
���/
�.��� ; ����� ��� ��� 
���������� 
� �!��0 ��� 
������ #���������!!� ��� !�����!����
��#��4����0 pT > G 8�:D
0 # ��� #��!����� ��� 
�#
�� ��� �����0 #��.� !���#�� ��
I ���#���" J �� ����!���� �� �#��.�� ; ������� !�  ���� �� 2��� �#�������� AπDSB ���
���������� !# ����
� ����
��#!� �� ����� �#�� 
� ���#��� ��� ����!����� ��#��4������

(�	�" ���
��� �� ����� 
�� 
������ 
� ������ �����$�

��� 2��� !�� ����� A������� �� ����
����B �� !�� 
������� #��!������ ��� ���� !��
����� "������0 !� ���
��� �� �#��� ��4#��#��� ��� ������� �� ��"��� ������� ��� ��/

�������� ���� 
��� 
!#���� �� 
����#!��� 
 /
 �� ���� !�� 
�!!������ 
 /
 �#�� 
���.��
�� 
����#!��� AI �������  �#� JB� &�� 
��� 
!#���� �� 
����#!��� ���!����� !��� �� 
����
����� ���� !�� ���4#���� 	 b ∈ [0, 3], [3, 6], [6, 9], [9, 12], [12, 16] 2�� &� ���
��� ��
�#��� ��� ������� �� ��"��� ������� ��� ����� �� ����#�� !�� ���
���� �� �#��� ���
������� ����� ��� ����� 
�����#���� ���4#���� 	 !�� ��#�F���#0 !� 
�������� ���/
����!�
�� !� 
�������� 
����!��

������ ��� �#�� !������ !� �� 
���� �����0 #�
�� �M�� �� ��!��� ��
!�#��� A# ����/
���� �� ����������� ��
!�#���0 ����� ������"�� ��� ��#�F�0���B #���� ��� !� I ��#��@��" J
����� ����������
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�#��� ������ ��� ��
���������
#��.� 
������ �� ������#���� ��� 
�#
�� ��� ����� "������� ���� ���
���� �� �#���
��4#��#��� ���� #!��� ��
��������� ���� 
�#��� ��#� ����!�� �� ���� 
�#��� ��#� 
��0

�#
�� 
���������#�� ; ��� 
!#��� �� 
����#!���� ��� �������� ���� ������� ������#!����
; �� ���� �� 
�!!������ 
 /
 �� 2��
���� �� !# 
!#��� �� 
����#!��� 
��������� 
����
���� 	

Wα(b) =
N PbPb

α (b)

N gener
α

AN�5B

�T N gener
α ���������� !� ��� �� �� ��#�F���# �� �?�� α Aα = Υ0 Υ′0 Υ′′0 >Dψ0 ψ�B "�����

�#�� Hπ� &� ����� N PbPb
α (b) ���������� !� ��� �� �� ��#�F���# ��
�������� #4�
 !�

���
����.��� ; ����� �� �� ���� �� 
�!!������ 
 /
 � �� ����� ���
��� 
���� ���� 	

N PbPb
α (b) = fcoll(b) · TPbPb(b) · σpp→α · Cα

sh(b) · BRα→µ+µ− · ∆τ AN�3B

�T fcoll ��� !� ��� �� ��?�� �� 
�!!������ 
 /
 ���� ��� 
!#��� �� 
����#!��� �������
&��6��#��!#���� #�6 
�!!������ 
 /
 ���M�
��� #4�
 !� ����� TPbPb ��� ��� !# 2��
����
�� ��
��4������ ��
!�#��� ���� !�� 
�!!������ 
 /
 ������ �#� !� ���.!� �� 8!#� ��
A
2� #���6� %B� &�� ��
����� �Q
#
�� ������/������ ;

√
sNNeN�N ��:0 σpp→α0 ����


#!
�!��� #4�
 !� ���.!� ���4#���#���� �� 
��!��� ���� !�� ��#�F���# XL3℄0 �� #4�
 ���

#!
�!� �� *�
 ������ #��4� #� I ��6� �� &�#���" +���� J ���� !� 
�#��� ��4��� ��
!#  �#��� ��4���� XG�N℄0 ���� !�� 4#!���� ���� �������� �#�� !� �# !�#� N�5� &� �����
Cα

sh ��� !� 2#
���� ���
�#��#"� ��
!�#��� I �S�LK J XG�O℄0 #���!� I ��#��@��" J0 ����
!# ������#�
� ; !# 
����#!��� ���� !# 2��
���� ���4#��� XGG3℄ 	

Cα
sh(b) = Cα

sh(0) + (1 − Cα
sh(0)) ×

(

b

16

)4

AN�HB

�T Cα
sh(0) ���������� !� 2#
���� ���
�#��#"� ��
!�#��� ; �#�#�.��� �����#
� ��! Ab e �B�

&# 4#!��� �� 
� �#�#�.���0 ���� !�� ��#�F���# �� !�� ��#�F� !�����0 ��� ������ �#�� !�
�# !�#� N�5� &� ����� BRµ+µ− ���������� !� �#����� ���� �#�
������ �� ������ ��
��"��� �������� ∆τ ��� !� ����� ��#
��������� �� 
 /
 �6� ; G�6 ��

α cc̄ bb̄ >Dψ ψ� Υ Υ� Υj

σpp→α Aµ B ��H� 5G� 3G H0�K �0N�G �05H� �0G��

Cα
sh(0) �0�N �0KH �0�� �0�� �0O� �0O� �0O�

���� 3<' = .�
��
� �J
�
� 
�
�
�5
�
�
� #σpp→α$ �� ��
���� ���
������� ��
������
9:.;& #Cα

sh(0)$ ���� ��� 
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√
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���
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�������� 
���� �

��� 2��� !# �#��� cc̄ �#�������� �� ��� �#��� 
D0 
���� �����.�� ���� �� �������"���
�� ��� �#��� �� ����� 
����!�� �� ��"��� ������� 
���� ���� 	

c + c̄ −→ D + D AN�NB



&��������� ��� �!�
���� �� ����� �'/

#4�

{

D −→ µ+ + X
D −→ µ− + X′

�T 
 �� D ������������0 �����
��4�����0 !�� �#����� 
�#���� A
+0 
00 
+
s 0 Λ+

c B �� !��
�#����� #���/
�#���� A
−0 D

0
0 
−

s 0 Λ−

c B�
��� 2��� !# �#��� ������ 
����!�� ��
���������0 �� ����� ��� #��!���� ��� !� ������


���������#�� #� �#����� ���� �#�
������ �� !# �#��� 
D �� ������ ��� ���
��� 	

BRµ+µ− = BRD→µ++X × BRD→µ−+X′ AN��B


� �E��0 ���� !#  �#���0 #��.� !��#������#���� �� !# �#��� �� ��#�F�  b̄ �� ��� �#��� ��
�#����� 7B0 �T 7 �� B ������������ �����
��4����� !�� �#�����  �#�6 A7−0 B

0
0 B

0

s 0 Λ
0

bB
�� !�� #���/�#�����  �#�6 A7+0 700 70

s 0 Λ0
bB� ����� �#��� ���� ������� �� �������"��� ��

��� �#��� �� ����� 
����!�� �� ��"��� ������� 4�# !�� ��#��� 
#�#�6 �� �������"�#����
���4#�� 	

V  � 
��� 8� � !�� ���6 ����� �� ��"��� ������� ���4������� �� !# �������"�#����
�� 
#�
#�� �� �E�� �#����  �#� A7 → D + µ− + νµ #4�
 
→ µ++�B� &� �����
#��!���� ��� !� ������ ��� �� !# 2���� ���4#��� 	

BRBD
µ+µ− = BRB→D+µ−+νµ

× BRD→µ++X AN�OB

V  � 
��� 8� � !�� ���6 ����� �� ��"��� ������� ���4������� �� !# �������"�#����
�� 
#�
#�� �� �E�� #���/�#����  �#� AB → D + µ+ + νµ #4�
 D → µ− + XB� &�
����� #��!���� ��� !� ������ ��� �� !# 2���� ���4#��� 	

BRBD
µ+µ− = BRB→D+µ++νµ

× BRD→µ−+X′ AN�KB

V  � 
��� 88 � !�� ���6 ����� ���4������� �� !# �������"�#���� ��� ���6 �#�����
 �#�6 ����#���� AB → µ− + νµ + X �� B → µ+ + νµ +X ′B� &� ����� #��!���� ���
!� ���4#�� 	

BRBB
µ+µ− = BRB→µ−+νµ+X × BRB→µ++νµ+X′ AN�LB

V  � 
��� �� � !�� ���6 ����� ���4������� �� !# �������"�#���� �� 
#�
#��
�� ���6 �#����� 
�#���� ����� �� !# �������"�#���� ��� ���6 �#�����  �#�6
����#����� &� ����� #��!���� ��� !� ������ ���
��� 
���� ���� 	

BRDD
µ+µ− = [BRB→D+X × BRD→µ++X′] ×

[

BRB→D+X′ × BRD→µ−+X′

]

AN�G�B

��� 2��� 
���� ������#���� �M�
���� ���� ������ !�� �#���� �� ����� ���4��#�� ��
!#  �#��� �� �� 
�#��� 
����!�0 !�� ���
���� �� �#��� ��� ������� 
����!�� �� ��"���
������� ���4��#�� �� 
�#��� 
����!� Aα = cc̄B �� �� !#  �#��� 
����!�� Aα = bb̄B ����
��
��������� ���� !�� 
��� 
!#���� �� 
����#!��� 
���������0 ���� ����#!���� "!� #!�����

���� ���� 	

Wα(b) =
N PbPb

α (b)

N gener
α

AN�GGB

�T N gener
α ��� !� ��� �� �� �#��� cc̄ Aα = cc̄B �� bb̄ Aα = bb̄B "����� �#�� Hπ� &� �����0

N PbPb
α (b)0 ���������� !� ��� �� �� �#���� cc̄ Aα = cc̄B �� bb̄ Aα = bb̄B ��
���������� #4�


!� ���
����.��� ; ����� ���#�� �� ���� �� 
�!!������ 
 /
 � �� ����� ���
��� 
����
���� 	

N PbPb
α (b) = fcoll(b) · TPbPb(b) · σpp→α · Cα

sh(b) · ∆τ AN�G5B

&�� ��
����� �Q
#
�� ������/������ ;
√

sNNeN�N ��:0 σpp→α0 ���� � ������ �#�
��� 
#!
�!� �� *�
 ������ #��4� #� I ��6� �� &�#���" +���� J ���� !� 
�#��� ��4���
�� !#  �#��� ��4���� XG�N℄� &���� 4#!���� ���� �������� �#�� !� �# !�#� N�5� &�� #�����
������ �� !����#���� N�G5 ���� �6�!�
���� �#�� !# �#���� ���
������ N�5�H�G�
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��� 2��� !�� ����� ��� ��M������� ����
�� "������ �� !�� ����� �� 
������� #��!�/
�����0 
�� ����� ���� 
�� ���� �#� �#���� �� 2#U�� ; ��
��������� !� ���
��� �� �#���
��4#��#��� ��� ������� ���/
����!��� ���!� !�� ����� �� �������"�#���� ��� ��#�F���#
����� �#� 2#�� !�� <�� �� 
�� ��#����� #4�
 
��6 ��� #����� ����
��0 
#� !��� 
����� �/
���� ��� ��"!�"�# !�0 
���� ���
��� #� 
�#����� H� :��
�0 !�� ��M������� 
�� ��#�����
����� !�� 	

V ���7������� (( � !�� 5 ����� ���4������� �� !# �������"�#���� �� ����� ��
F#��� W

V ���7������� �� � !�� 5 ����� ���4������� �� !# �������"�#���� �� ���6 �#/
����� 
�#���� ����� �� ���6 �#���� cc̄ ��M������� W

V ���7������� 88 � !�� 5 ����� ���4������� �� !# �������"�#���� �� ���6 �#/
�����  �#�6 ����� �� ���6 �#���� bb̄ ��M������� W

V ���7������� (� � G ���� ���4���� �� !# �������"�#���� ���� ���� �� F#�� ��
!�#���� ���� �� !# �������"�#���� ���� �#���� 
�#��� W

V ���7������� (8 � G ���� ���4���� �� !# �������"�#���� ���� ���� �� F#�� ��
!�#���� ���� �� !# �������"�#���� ���� �#����  �#� W

V ���7������� 8� � G ���� ���4���� �� !# �������"�#���� ���� �#���� 
�#���
�� !�#���� ���� �� !# �������"�#���� ���� �#����  �#�� $!� ���� ����� �� ���6
�#���� �� ��#�F� ��M��������


��� 
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�� ��#���� ����� !�0 !� ���
��� �� �#��� ��� ������� ���/
����!��
��� ��
��������0 ���� ����#!��� �� 2��
���� �� !# 
!#��� �� 
����#!��� 
��������� 
����
���� 	

Wαβ(b) = fcoll(b) · ∆τ ×
N PbPb

α→µ+(b) · N PbPb
β→µ−(b)

N gener
µ+µ−

AN�G3B

�T α �� β 
������������ #�6 ��M������� 
����� ������ #� 
�������� ���/
����!� AπDS0

�#��� ��  �#���B� &� ����� N gener

µ+µ−
���������� !� ��� �� ���#! �� ������� �� ��"���

������� "������� &� ����� fcoll(b) · ∆τ ��� !� ��� �� �� 
�!!������ 
 /
 ���� ��
���� ��#
���������� &�� ������ N PbPb

α→µ+(b) �� N PbPb
β→µ−(b) ������������ �����
��4����� !�

��� �� ��?�� �� ����� ������2� �� ��"#��2� ������� !��� ����� 
�!!����� 
 /
 ����
��� 
����#!��� ������� ��� ����� ���4������� ���� �� !# �������"�#���� ��� ����� ��
F#��� Aα, β = πDSB0 ���� ��� �#����� 
�#���� Aα, β = 
�#���B �� ���� ��� �#�����
 �#�6 Aα, β =  �#���B� �� ����� ���
��� �� !# �#��.�� ���4#��� 	

N PbPb
γ (b) = TPbPb(b) · σpp→α,β · Cα,β

sh (b) · BRγ AN�GHB

�T !� ����� γ 
��������� ���� ; !# �������"�#���� �� �� ���� ������2 Aγ = α → µ+B0
���� ; !# �������"�#���� �� �� ���� ��"#��2 Aγ = β → µ−B� 
#�� !� 
#� ��� ����� ��
��� F#���0 !� ����� BRγ �� 
��������� �#� #� �#����� ��  �#�
������ �� ����� W
�#�� ��� �"#! ; !# 2�#
���� �� ����� ����� �� !# �������"�#���� ��� ����� �� F#��� #4#��
!�# ��� ��� �!�� !# 2�#
���� �� ����� ��� ���4������� �� !������#
���� ��� ����� �� F#���
�#�� !�# ��� ���� ��� 2��� !�� ���
���� ��
��������� �� ����#!���� ���� 
�#
��� ��� ��6

�� ��#����� ����� !��0 �!� ���� ������� ������ ���� � ����� ��#!����� !� ���
��� ���#!
�� �#��� ��� ������� ���/
����!�� �� ��"��� ��������

3(0 �&���
���� ��� ���& �� "����
����

%��.� ����#!��#���� �� 
�#
��� ��� 
�����#����0 !�� ���
���� A
�������� 
����!�0

�������� ���/
����!� �� ��#�F���#B ���� ������ �� �#��.�� ; � ����� !� ���
��� ���#!
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�!!������

����#!�� 
 /
 � &# ��#�������� "������ ��#�� �!�� ������#��� ��� 
�!!� #�������0 !��
]�
��#����� ��#��������� �� 
� ���
��� ���� "������� I  �� J ; I  �� J �� �M�
��#��
�� ���#"� #!�#����� ����������� #����� �� !# 4#!��� 
����#!� "������� &� 
��������
���/
����!� ���� ������� E��� ������#�� �� ���!��#�� !�� ���6 �������� ���4#���� 	

V !# ������� ��� ������� �� �E��� ��"��� AI !�F�/��"� JB 	 �� ���!��� !� ���
��� ���
������� �� �E�� ��"�� ���� ��#������ !# 
����� ����� ���/
����!�� #� ���
���
��� ������� �� ��"��� �������� �� �M��0 !� 
�������� ���/
����!� ���� E��� ������
�� !# �#��.�� ���4#��� 	

N non−cor
+−

= 2R
√

N++ ×N−− AN�GNB

�T N++ AN−−B ��� !� ��� �� �� �#���� �� ����� �� ��"��� [[ A−−B� &� �#�#/
�.��� R ����� 
����� ����� ����� !� #�?������ �#�� !# ����
���� ��� �#���
�!��

�#�"��� XGGO0 GGK℄�

V !# ������� �� ��!#�"� ���4�������� AI �4��� ��6��" JB 	 ���6 ����� �� ��"���
������� ���� ����� #!�#��������� �#�� ���6 
�!!������ ��M�������0 #����#�� #���� !#
���/
����!#���� �� ������� �� ��
��������#�� !# �#��� ��4#��#��� �� 
� ������0
���� �� �����#�� !# ���
����� �� 
���#�� ��� �� �� 2���0 �� ��
�������� #���� !�

�������� �� �#��� ��4#��#��� ���/
����!� XGGK℄�


��� 
���� �����0 ��� ������#
���� �#�2#��� �� 
�������� ���/
����!� # ��� ���������
���� 
���� �?����.��0 !������� ��#�������� �#�� 
�#��� I  �� J �� ���
��� ��� �������

����!�� ��� ������ �#� !��6�������� ���4#��� 	

σcor =
√

Nbin tot AN�G�B

�T Nbin tot ��� !� ��� �� ��������� �#�� 
�#��� I  �� J �� ���
��� ���#! �� �#��� ���
������� A
����!�� [ ���/
����!��B�


#�� �� ������� �����0 ���!� !�� �#�6 �� �����
���� ��� ��#�� ����!�� AΥ0 Υ′0 Υ′′B
������ �6��#��� ; �#���� ���� #<�������� "!� #! �� ���
��� �� �#��� ��� ������� 
����!��
�#�� !� ���#��� ��� �#���� �#���� AMµ+µ− a H 8�:D
2B� 
#�� �� ��
��� �����0
!�� �#�6 �� �����
���� �� ������ !�� 
�����#���� �� ���
��� �� �#��� ��� �������

����!�� A �#��� 
����!��0 
�#��� 
����!�0 ��#�� 
��0 ��#�� ����!��B ������ �6��#��� 4�#
�� #<�������� "!� #! �� ���
��� �� �#��� ��� ������� 
����!�� ��� ���� !� ���#��� ��
�#��� AMµ+µ− a 5 8�:D
2B�

(���� 25���
���� 
�� ���5 
� ���
�
���� 
�� $���� 6������

%��.� ������#
���� �� 
�������� ���/
����!�0 !�� �#�6 �� �����
���� ��� ��#�� ��/
��!�� AΥ0 Υ′0 Υ′′B ���� �6��#��� ; �#���� ���� #<�������� "!� #! �� ���
��� �� �#��� ���
������� 
����!��� ��� #<�������� "!� #! 
��������� ; ��� �������#���� �� χ2 ����� 
�
���
��� �� ��� 2��
���� �� 2����� &# 2��
���� �� 2���� 
������ ���� �6��#��� !�� �#�6
�� �����
���� ��� ��#�� ����!�� �#�� !# ��"��� ��� �#���� �#���� AMµ+µ− > 4 8�:D
2B
��� !# ����� ����� 2��
���� �6��������!!� ��
��4#�� !� 
�������� 
����!� A
�#��� [
 �#���B �� �� ����� 7����/Z�"��� �������� ���������#�� 
�#
��� �� ��� ����� ��#�� ����/
!��� ��� 7����/Z�"��� ������� # ��� ���2���� ; ��� 2��
���� ����!�#�� �� !# 
��4�!�����
����� "#�������� �#� ��� &#��#� X�H℄0 
#� 
���� �����.�� #<���� 
����
������ !� ���
���
�� �#��� ��� ������� ���4��#�� ��� ��#�� ����!�� ���������� #� 4�����#"� �� ��
 ���
��#�� ����!��� &# 7����/Z�"��� ������� ��������� 
��4��# !����� !# ����� ;  #���
�#��� 
���� �� ���� !� 4��� ��� !# �"��� N�5 �#�� !� 
#� �� ����!��� ����� ����� ;
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Pb-Pb : 0 < b < 3 fm
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������ #�� �
���$� ��� ���" �
�
���� �
�� �
�������� 	 �� �
�� ��


�����
�� 
�������� /�5/��

 #��� �#��� ��� ��� #�6 ]�
��#����� �� !# ����� ������"�� ��� ����� �#� �����#
����

��!�� ����� ���#�� !��� ��#4����� �� !�# ��� ��� 2����#!� &# 7����/Z�"��� �������
��� �#�#������ �� !# �#��.�� ���4#��� ���� 
�#��� ��#� ����!�� i 	

dF i

dMµµ
=

dGi

dMµµ
· Γ2

i

Γ2
i + (Mµµ − Mi)2

AN�GOB

�T !# 2��
���� dGi/dMµµ ��� ��� 2��
���� ��!?����#!� ; 
��� ��"��� �� !� ���� ���
���
��� 
���� ���� 	

dGi

dMµµ
= αi

0 ·
1 + αi

1(Mµµ − Mi)

[Γ2
i + (Mµµ − Mi)2]

αi
2

AN�GKB

�T αi
00 α

i
10 α

i
20 Mi �� Γi ���� !�� 
��� �#�#�.���� !� ��� �� !# 2��
���� �� 2���� AdF i/dMµµB�

&� �#�#�.��� αi
0 
��������� ; !# ����#!��#���� �� 
���� 2��
����� ��� #<�������� #4�


��� 7����/Z�"��� ������� ��� ������� ��� !# �"��� N�5 ���� !� Υ �� ��� !# �"��� N�3
���� !�� ��#�� ����!�� ���!�� &�� �#�#�.���� �� 2���� Aαi

1, α
i
2, Mi, ΓiB �� 
�� #<��������

���� �������� �#�� !� �# !�#� N�30 ���� !�� ����� ��#�� ����!�� Ai = Υ, Υ′, Υ′′B�
&��6��������!!� ���!���� ���� ��
���� !� 
�������� 
����!� ���
��� 	

dF corr

dMµµ

= β0 × exp(−β1Mµµ) AN�GLB

�T β0 �� β1 ���� !�� ���6 �#�#�.���� !� ��� �� 
���� 2��
���� �� 2����� &� �#�#�.��� β1

��
��� !# 2���� �� 
�������� 
����!�� ��!��/
� ��� �6� �#� �� #<�������� �� ���
��� ��
�#��� ��� ������� 
����!�� �#�� !� ���#��� �� �#��� 4 < Mµ+µ− < 8 �� 11 < Mµ+µ− <
12 8�:D
2 �T ���!� !� 
�#��� �� !#  �#��� 
����!�� 
����� ����� ��� #<��������0 ������
�"��� N�H0 ����� β1 = 5, 99 × 10−1[GeV/c2]−1�



�����
���� ��� ���� �� !����
���� �))

i αi
1 αi

2 Mi Γi

Υ −1, 21 1, 38 9, 51 0, 246

Υ′ −1, 09 1, 30 10, 08 0, 247

Υ′′ −9, 45 × 10−1 1, 28 10, 41 0, 254

���� 3<) = >������ ��� 
��������� ���7�������� �� �� �
�
��
� �� �
��� 

�� ���
����� Y
���
�� '�� ������� ��� 
��������� �
�� 
��
����� 

�� ��� ������ �"
������ ��
=�>*
2�
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M
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Υ
Υ

���� 3<' = @7�������� �� �� �
��� �� Y
���
� ���
 ��� 6����5Q����� �
��A�� #�����
�
��� 
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����
� ����� '����� ���
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�
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�
��� ��������� 

�� �� Y
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����� ���� Y
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� ��� ��A��� ���� �� ��"���

&# 2��
���� �� 2���� # ��#!����� ��#��� �#�#�.���� !� ��� Aαcorr0 αΥ0 αΥ′

0 αΥ′′

B

���������#�� ; !# ����#!��#���� �� 
�#
��� ��� 
�����#���� �� ���
��� ��� �������
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���� 3<0 = @7�������� �� �� �
��� �� 

������� 

����� #
����� Z ������$ ���

��� �
�
��
� �"

��������� ���� �� �
����� �� ����� ���������� 4 < Mµ+µ− < 8 ��
11 < Mµ+µ− < 12 =�>*
2�


����!�� A
�������� 
����!�0 Υ0 Υ′0 Υ′′B �� ���
��� 	

dFglob

dMµµ

= αcorr × dF corr

dMµµ

+ αΥ × dFΥ

dMµµ

+ αΥ′ × dFΥ′

dMµµ

+ αΥ′′ × dFΥ′′

dMµµ

AN�5�B

��� 2��� !�� ��#��� �#�#�.���� !� ��� �6�� �#� !# ���
����� ��#<��������0 !�� �#�6
�� �����
���� �� 
�#
��� ��� 
�����#���� �� ���
��� ���� 
#!
�!�� �#� ��� ����"�#����
��� 2��
����� �� 2���� �� 
�#
��� ��� 
�����#���� i �� ���
���0 αi × dF i/dMµµ �#��
!� ���#��� ��� �#���� �#���� AMµ+µ− > 4 8�:D
2B� &# �"��� N�N ������ !�#<��������
"!� #! �� ���
��� �� �#��� ��� ������� 
����!�� ��� ������ ���6��#��� !�� �#�6 ��
�����
���� ��� ��#�� ����!�� ���� �� ���� �� 
�!!������ 
����#!�� 
 /
 � &# �E��
������� # ��� ���!���� ���� �6��#��� !�� �#�6 �� �����
���� ��� ��#�� ����!�� ����
!�� #����� 
!#���� �� 
����#!��� �� ���� !�� 
�!!������ 
 /
 �#�� 
���.�� �� 
����#!���
AI �������  �#� JB0 
���� !� ������ !# �"��� N���

����� !�#<�������� "!� #! �� ���
��� ������ ��� ]�
��#����� ��#��������� I  �� J
; I  �� J �� ���
��� ���#! A
����!�� [ ���/
����!��B0 !# ��# �!��� �� !�#<�������� # ���

��� ������ �� #

���!���#�� ��

����4����� G��� #<��������� ��M������0 
�#
�� 
�����/
����#�� ; ��� ]�
��#����� ��#��������� I  �� J ; I  �� J ��M������� ���� !� ���
��� ���#!
��� ������� A
����!�� [ ���/
����!��B� &# ������ ����� ��� �#�6 �� �����
���� �6��#���0
���� !�� G��� #<��������� ��M������ �� ���� 
�#
�� ��� ��#�� ����!�� ��� ������� ���
!# �"��� N�O� ����� ������ ����� # ��� ������� #<����� #4�
 ��� 2��
���� "#��������0 �T
!# 4#!��� ��?���� �� !��
#�� �?�� ������������ �����
��4����� !� �#�6 �� �����
����
��?�� �� !������� ��#�������� #���
���� ����� #������0 
���� �����.�� ��� �"#!� #�6
������� ��#��������� � ������ �#�� !� 
#� ���� ���! #<�������� A
2� �"��� N�NB0 
� ���
����� 
���#�
� �#�� !# ���
����� ���!����� &�� �#�6 �� �����
���� ��?��� � �����
���� ������� �#�� !� �# !�#� N�H� 
��� 
�#
��� ��� 
!#���� �� 
����#!��� 
���������0 ��
���� ��� ��#�������� ������#��� ���� !� Υ �� ��� ���#�#���� ����� !� ��� ��M������ ��#��
����!��� %��.� �� ���� �� 
�!!������ 
 /
 #4�
 5×1026 
�−2�−1 �� �#�� #�
�� 
���.��
�� 
����#!��� AI �������  �#� JB0 �� ��#����� ���
 ; ������� ��4���� ON�� Υ 0 5��� Υ�
�� G��� Υm �#�� !� ���#��� �� �#��� Mµ+µ− > 4 8�:D
2� \ ����� �� 
���#�#����0 !��
�#�6 �� �����
���� "������ �� ������ �� 
�� ����!#����� ���� #���� ���������� �#�� !�
�# !�#� N�H0 ���� !�� 
�!!������ 
 /
 !�� �!�� 
����#!��� +� ���� #���� ���#����� ���
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���� �)3

!�� ����!�#�� ���� 
���#�� !�� #�6 ������� ��#��������� ��.�0 �� 
�
� # ��� 4����� ���!!�
��� ���� !# 
!#��� �� 
����#!��� 
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 466± = 8784 bcN
 49± = 1346 ΥN
 33±’ = 344 ΥN
 28±’’ = 195 ΥN

2/ndf = 37/38χPb-Pb : 0 < b < 3 fm

���� 3<3 = .
�
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�� 
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�����
�� 
�������� /�5/� #106�$� ���
 ��� �����
���� �� 5 × 1026 
�−2�−1� '�� ���"
�� 
�
��
��
� 

�� ��� ����� Y
���
� �� �� 

������� 

����� �
�� �"������ 	 
����� ����
�7�������� ��
��� �� 
� �
�
����


����#!��� A2�B Υ Υ′ Υ′′

� / 3 G3�G ± NG 3N5 ± 3H GK5 ± 5K

� / 3 A"���B G353 3NG GLH

3 / � 5O35 ± �K O3� ± HK 3LH ± 3L

� / L 5HG� ± NO �5O ± 3O 3H3 ± 35

L / G5 L�L ± 3O 5N3 ± 5G G3N ± GK

G5 / G� G3H ± GO 3G ± G� GL ± O


��< 8��� *.?/ ± ��' '?�/ ± *' �?2? ± .�

���� 3<0 = G��" �� 
�
��
��
� �������� ���
 �� �
�
��
����� 	 ��
�� ��@'2�9 

��
��� ����� Y
���
� #Υ� Υ�� Υ[$� 
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��� 
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�� ��� 

�����
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�
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���� �� 5 × 1026 
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#�� 
���� �#����0 !# ���
����� ��#<�������� 4# E��� ������� ; ��� �#���� ��4#/
��#���� ,µ+µ− > 2 8�:D
2 A
����� ,µ+µ− > 4 8�:D
2 �#�� !# �#���� ���
������B
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 579± = 19739 bcN
 68± = 2852 

Υ
N

 45±’ = 749 
Υ

N
 38±’’ = 390 

Υ
N

2/ndf = 51/38χPb-Pb : 3 < b < 6 fm
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 397± = 15418 bcN
 60± = 2478 

Υ
N

 38±’ = 631 
Υ

N
 31±’’ = 320 

Υ
N

2/ndf = 71/38χPb-Pb : 6 < b < 9 fm
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 155± = 5753 bcN
 35± = 934 

Υ
N

 23±’ = 283 
Υ

N
 17±’’ = 109 

Υ
N

2/ndf = 59/38χPb-Pb : 9 < b < 12 fm
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 36± = 903 bcN
 13± = 135 

Υ
N

 7±’ = 26 
Υ

N
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dMµµ
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+
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+
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+
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dFbb̄
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· 1 + α1 · (Mµµ − α2)
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3 + (Mµµ − α2)2]

α4
+ α5 · G(Mµµ, α6, α7)
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Pb-Pb : 0 < b < 3 fm
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Pb-Pb : Min. Bias
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 / ndf 2χ  59.88 / 63
Constant  1.39± 33.09 
Mean      121± 1.76e+04 
Sigma     99.9± 3592 

Pb-Pb : 0 < b < 3 fm
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Pb-Pb : 0 < b < 3 fm
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Constant  1.16± 28.31 
Mean      15± 5.212e+04 
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Pb-Pb : 0 < b < 3 fm
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Constant  1.38± 31.98 
Mean      10.6± 1196 
Sigma     9.3± 314.8 

Pb-Pb : 0 < b < 3 fm
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Constant  1.3± 32.1 
Mean      1.6± 1302 
Sigma     1.34± 47.86 

Pb-Pb : 0 < b < 3 fm
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Mean      1.0± 355.8 
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Constant  1.53± 35.81 
Mean      1.0± 355.8 
Sigma     0.87± 31.21 

Pb-Pb : 0 < b < 3 fm
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Mean      0.9± 183.9 
Sigma     0.73± 27.15 
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 / ndf 2χ  50.17 / 69
Constant  1.28± 30.95 
Mean      0.9± 183.9 
Sigma     0.73± 27.15 

Pb-Pb : 0 < b < 3 fm
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cc̄ OHHO ± 3�L� GN5G� ± H�LO GGOK� ± 3GNK

bb̄ GO��� ± 3NL� 3O5H� ± HN33 3�5�� ± 5LN�
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ψ� GGL� ± 3GN 5HL� ± HGG 55�K ± 5K5

Υ G3�5 ± HK 5OHH ± O� 5H5N ± NK

Υ� 3N� ± 3G OHK ± H3 �33 ± 3O

Υm GKH ± 5O 3L� ± 3O 3HN ± 3�
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cc̄ HOLK ± GGN3 �HL ± 555 0?')? ± .*?3
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Υm G3� ± GO GK ± O ��?? ± 32

���� 3<2 = G��" �� 
�
��
��
� �������� ���
 �� �
�
��
����� 	 ��
�� ��@'2�9 

��
�� 
����� 

����� #cc̄$� �� ������ 

������ #bb̄$� ��� ����� /�� #H*ψ� ψ�$ �� ��� ����� Y
���
�
#Υ� Υ�� Υ[$� 

�� 
��� 
������ �� 
��������� �� 

�� ��� 

�����
�� + ������� ���� -
#�������� 

�
���$� G
�� ��� ���" �� 
�
��
��
� 

����

����� 	 �� �
�� �� 

�����
��
/�5/� #106�$ ���
 ��� �����
���� �� 5 × 1026 
�−2�−1�



����� ��  � ��!!������� ��� ����� 4!�� �� �03

(�"�	 0�$��������� 
� ��
���

&� �#����� Υ′/Υ # ��� ������ �� 2��
���� �� !# 
����#!���0 �� ���!��#�� !� ���.!� ��
8����� �� :�"� XG5G℄ ���� ��
���� !� ��
#����� �� ����������� ��� ��#�� ����!�� �#��
!� �!#��# �� ��#�F� �� �� "!����� ����� �� ���.!� I ���� �� ���� J0 
����/;/���� ���0
!������ !�� 
��������� �� ����������� ���� #�������� ���� �� ��#� ����!�� 
��������0 !#
����������� ��� �� G��R� ��!�� 
� ���.!�0 !� �!#��# ��� �� ��!��� �?����?�#�����
���#! ��� ���� ��� �4�!����� ������������� &� �#����� Υ′/Υ # ��� ������ �� 
�������#��
���6 �?��� �� �!#��# ��� ���� 	

V �� �!#��# #4�
 ��� ������#���� �� ��
��������� �� 5O� ,�: XGGL℄0  #�� ���
��� 
#!
�!� �� *�
 I ����
��� J W

V �� �!#��# #4�
 ��� ������#���� �� ��
��������� �� GL� ,�: XG5�℄0  #�� ���
��� 
#!
�!� �� *�
 I ������
��� J�

��� ���6 
���6 
������������ ; ���6 
#� �6��E��� �� ������#���� �� ��
�����/
����� &�� ������#����� �� �����
�#���� ��� ��#�� ����!�� ���� �������� �#�� !� �#/
 !�#� N�L0 ���� !�� ���6 �?��� �� �!#��# 
���������� &� ����� ������ �� 2���#���� ���
��#�� ����!�� ��� ���������� �"#!������

Υ Υ′ Υ′′ χb χ′

b

τF A2�D
B �0O� G0L G0L 50� 50�

�DD�c I ����
��� J H0� G0H G0GH G0� G0G�

�DD�c I ������
��� J 50L G0�� G0� G0�O G0�

���� 3</ = G��
� 
�

�� �� �
�����
� #τF$ �� ���
�������� �� ����

����
� #GD$
��� ����� Y
���
�� '�� ���
�������� �� ����

����
� 

����

����� ��" ���" �
�����

�������� ���� �� 

�
� �� ��"���

&# ����������� ��� ��#�� ����!�� ������ ����
��#!����� ��� �#�#�.���� ���4#��� 	
V �#�#�.���� !��� #�6 ��#�� ����!�� ��6/�E��� 	 ����� �� 2���#���� AτFB0 �����/
�#���� �� �����
�#���� A�DB �� ����!���� ��#��4���� ApTB W

V �#�#�.���� !��� #� �?�� �� *8
 	 ������#���� A�QGPB0 �#�!!� ArQGPB �� ����� ��
4�� AτQGPB�


��� ����� ��#� ����!�� ���� �������� �#�� !� *8
0 �! 2#�� ; !# 2��� ��� ��� �����
�� 2���#���� �#�� !� ��2�������! �� *8
 AtFB ���� ��2������ #� ����� �� 4�� �� *8

AτQGPB �� ��� !# ����#�
� �� 2���#���� �� !���#� ����!�� 
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����#!��� ������� ��� �#�6 �� �����
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��������� A
2� �# !�#� N�HB� &�
�#����� Υ′/Υ ��� ������� �4#!�� �� 2��
���� �� !# 
����#!���0 ���� !�� ���6 �?��� ��
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 ��� !��������� �� 5 × 1026 
�−2�−1�
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��������� 
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�0 �!�� ������#���� ���� !� �
��#��� �� �����������
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����.��� ; �����
��%&$��� ��� �#�6 �� �����
���� ��� ��� �6��#��� #� ��?�� ���� #<�������� "!� #! ��
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�� 
�����#����0 ��
�����#��
�� ,����/�#�!� ���2���#�� A#4�
 !# ����� �� 
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���� �� !# 
����#!��� �� !# 
�!!������
%��.� �� ���� �� 
�!!������ 
 /
 ;

√
sNN e N0N ��: #� &(� #4�
 ��� !��������� ��

GHL



�3? � ��	
�����	 �

5×1026 
�−2�−10 �� ��#����� ; �������0 �#�� 
�������� ��� !# 
����#!��� �� !# 
�!!�����0
��4���� ON�� Υ0 5��� Υ� �� G��� Υm #� ��?�� �� ���
����.��� ; ����� ��%&$���
��� �#�6 �� �����
���� ��� ��� �6��#��� #� ��?�� ���� #<�������� "!� #! �� ���
���
�� �#��� ��� ������� �� ��"��� ������� �� ����#�� ��� ����!� �6��������!!� ���� !�

�������� 
����!� �� �� ������#�� ��� ������#
���� �#�2#��� ��  ���� �� 2��� ���/

����!�� 
��� !�� 
��� ��#�
��� �� 
����#!��� 
����������0 �� ���#���� ��� ��#��������
������#��� ���� !� Υ �� ��� ���#�#���� ����� !� ��� ��M������ ��#�� ����!�� �#�� !�
���#��� �� �#��� Mµ+µ− > 4 8�:D
2� &� �E�� �?�� ��#<�������� �#�� !� ���#���
�� �#��� Mµ+µ− > 2 8�:D
20 ������ ���6��#���0 �� �!��0 !�� �#�6 �� �����
���� ���
��#�� 
�� �� !�� 
�����#���� �� 
�#��� �� �� !#  �#��� 
����!�� ����4����!!������ ��
�
������� 
�����#�� ���  ���� 
���#���#�
� ��� 2����� �� 
�� 
�����#����0 ��
�����#��
�� ,����/�#�!� ���2���#�� A#4�
 !# ����� �� 
����� �� ���� !�� �M��� ��
!�#����B�

&������ !� �� 
�� ����!�#��0 ���2���#�
�� ��� ����
����� �
�0 �Q
#
��� �� �#�6 ��
���""��0 ������ ��� ��#�F���#0 4#!��� !�� 
���6 ��� ��� ��� 2#��� �#�� !# 
��
������ ��
���
����.��� ; ����� ��%&$��� ���� �������� ��� !�� �����.��� ������� �� ���
���/
�.��� ; ����� ��%&$��0 #�������� #� 
���� ��� ���!���� #����� ; 4����0 4��������

������� !�� 
��
!������ �� 
�� ����!#����� �� ����������� �� ������ �� �4����
� ���
��"�#�6 
!#��� �� !# 2���#���� ���� �!#��# �� ��#�F� �� �� "!����� ������#��0 �� 2#��
�� ���4�#� ���#��� �� ����"�� ������� �#� !� &(� �� 
�!!������ ������ !�����0 ���
��������� �� ���4��� �#� E��� �6
!������



"���*� "

 � ������ �� �������

�(' �������
����

&� ���.!� "���������� �� ����#�� XG�K℄ ������ �� ���������� ��� ��#������ !����
; ��� 
�!!����� ������/��?#� �� ��?#�/��?#�0 �� ������#�� ������ 
�!!����� ��?#�/
��?#� ��� ��� ������������� ��������#��� �� n 
�!!������ ������/������0 �T n ������
�� !# 
����#!��� �� !# 
�!!������ &� ���! ��"�� �� !� ���� �� ���.!� ��� !� �#�#�.���
�����#
�  A����#�
� �6������ �#�� !� �!#� ��#��4���� ���#�#�� !�� 
������ ��� ���6
��?#�6B ��� ��������� !# 
����#!��� �� !# 
�!!������ ������ !�� � ���4# !��0 ��!!�� ��� !#
��
���� �Q
#
�0 !� �#�6 �� �����
����0 !� ��� �� �� ��
!���� �#���
��#��� �� !� ��� ��
�� 
�!!������ ������ �6������� �� 2��
���� �� �#�#�.��� �����#
� �� !# 
�!!������ 
#��

� ���.!�0 �� ��"!�"��# ���� !�� �M��� ��
!�#���� AI ��#��@��" J0 # �������� ��
!�#���
����#!����B� �� ���.!� �� 2#�� �#� �� ������
���� ����� !�� 
�!!������ ������/�������0
������/������ �� �������/��������

�() 
� ��,��

&# ���#������� ��� ��
!���� #� ���� �� ��?#� ���� ��� �#�#������#���� �� $%%&��

��'%�0 ��� ���������� !# ������� �� ��� # �!��� ����� ��
!��� �� ����� ; ��� ����#�
�
� �� 
����� �� ��?#� �� ���
��� 	

ρA(r) = ρ0
1 + ω(r/RA)2

1 + exp((r − RA)/a)
A%�GB

&� �#�#�.��� RA 
��������� #� �#?�� �� ��?#�� ��� �6�������� ��� !# ���4#��� 	
RA = 1, 19 ·A1/3−1, 61 ·A−1/3 A2�B� &�� �#�#�.���� a0 RA �� ω ���� ��� ��?#�6 �� 
 
�� %� ���� ��"������ �#�� !� �# !�#� %�G� &# ������� �� ��� # �!��� ρA(r) ��� ����#!����
; G0 
����/;/���� ���

∫

ρA(r, z) d2r dz = 1�

% ρ0 A2�−3B ω RA A2�B a A2�B

%� H� H05N ×10−3 /�0G�G 30O�� �0NK�


 5�K O0�L ×10−4 � �0�5H �0NHL

���� �<� = /��������� �� �� ������� ��
������ 

�� ��� �
���" �� 
�
�� #208/�$ ��
�����
� #40@�$�

GNG
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�(0 
�##����� "�����+��,��


#�� ��� 
�!!����� ������/��?#�0 !# ��� # �!��� ��#4��� ��� 
�!!����� ������/������
���!#������ ;  �6� ���
��� 	

q(b) = TA(b) · σinel
pp avec TA(b) =

∫

ρA(z, b) dz A%�5B

�T σinel
pp ��� !# ��
���� �Q
#
� ������/������ ���!#������ �� TA(b) ��#���!!� !# 2��
����

�� ����! ��
!�#��� #���
��� #� ��?#� % ���� �� �#�#�.��� �����#
�  � ����� 2��
����
���������� !# ������� �� ��� # �!��� ρA(r) ���<���� �#�� !� �!#� ��#��4���� A�!#� ���

������� !� �#�#�.��� �����#
�B� +� ������ #!��� !# ��� # �!��� ��#4��� n 
�!!������
������/������ ���!#������� �#��� !�� % ����� !�� 	

pinel
A (n, b) = Cn

A · qn · (1 − q)A−n A%�3B

	�
���� �K
�
� ��� ����$�� �

+� ���� �#�����#�� ����4�� !��6�������� �� !# ��
���� �Q
#
� ���!#������ ���� !��6/
�������� ��� 	

d2σinel
pA

d2b
= 1 − pinel

A (0, b) = 1 −
[

1 − TA(b) σinel
pp

]A
A%�HB

����� �6�������� �� ����!��� �� !# �#��.�� ���4#��� 	

σinel
pA ≃

∫

[

1 − e−σinel
pp ATA(b)

]

d2b car TA(b)σinel
pp ∼ 0 A%�NB

���7�� �� 
�  ������ ��� ����$��� �

+� ���� �"#!����� ������� ��� !� ��� �� ��?�� �� 
�!!������ ���!#������� ������/
������ !��� ����� 
�!!����� ������/��?#� ���� �� �#�#�.��� �����#
�  �6� ���
��� 	

N inel
pA (b) =

A
∑

n=1

n · pinel(n, b) = A · TA(b) · σinel
pp A%��B

���� �� !����
���� ��� !��
����� ���� �


#�� ��� 
�!!����� ������/������0 !� �#�6 �� �����
���� �� ���
����� ���� A�����
/
���� �� ��#�F� !����� �� �� ��#�F���#0 �#� �6���!�B ���
��� 	

N hard
pp =

σhard
pp

σinel
pp

A%�OB


#�� ��� 
�!!����� ������/��?#�0 !� �#�6 �� �����
���� ��?�� ��� ���
����� ����
��� �"#! #� ������� �� ��� �� ��?�� �� 
�!!������ ������/������ ���!#������� �#�� ���

�!!����� ������/��?#� �#� !� �#�6 �� �����
���� �� 
�� ���
����� �#�� ��� 
�!!�����
������/������ 	 
� �#�6 �� �����
���� ���
��� 	

N hard
pA (b) = N inel

pA (b) · N hard
pp = A · TA(b) · σhard

pp A%�KB

�σinel ) ?* �( �6* �(	 , �@ A
# �+�+ A
#	 B�*C℄



��  ����� ��#��9��#�� �3)

&� �#��#"� �� �#�6 �� �����
���� ������/������ #� �#�6 �� �����
���� ������/
��?#� ��#���!!� !� I �
#!��" J  ��#���0 
����/;/���� ������ 
�!!����� ������/��?#� ��� !#
������������� �� N inel

pA 
�!!������ ������/�������

��!!��� �� ����5
����� ��
 ����� �

\ �#���� �� !����#���� ���
������0 �� ���� ������ !� �#����� �� �����
#���� ��/

!�#��� RpA ���� !�� 
�!!������ ������/��?#� �� !# �#��.�� ���4#��� 	

R	�(p�, y, b) =
dN �
��

	� /dp2
Tdy

N inel
pA (b) × dN �
��

		 /dp2
Tdy

A%�LB


#�� !�� 
�!!������ ������/��?#�0 
� �#����� ��� ���!��� ���� ������� !�� �M��� �#��
!���#� �����#! ��!� ��� !� I ��!�� 8!#�� �������#�� J0 !� I ��#��@��" J0 �� !��M�� �������

�(1 
�##����� ��,��+��,��

	�
���� �K
�
� ��� ����$�� �


#� #�#!�"�� #4�
 !�� 
�!!������ ������/��?#�0 �� ���� ����4�� !��6�������� �� !#
��
���� ���!#������ ��?#�/��?#� ��� ���
��� 	

σinel
AB =

∫

[

1 − e−σinel
pp ·AB·TAB(b)

]

d2b A%�G�B

�T TAB(b) ��� !# 2��
���� �� ��
��4������ ��
!�#��� ��� ��?#�6 % �� 7 ���#���
�#� !� �#�#�.��� �����#
�  �#�� !� �!#� ��#��4����� ����� 2��
���� �� ��
��4������
���� ���
���� 
���� !# 
��4�!����� ��� 2��
����� �� ����! ��
!�#��� ��� ��?#�6 % �� 7
��� !��!����� ��#��� d2s A#��� �� ��
��4������ ��� ��?#�6 % �� 7B0 
���� !��!!����� !#
�"��� %�G� ��� �6�������� �#����#����� ��� !# ���4#��� 	

TAB(b) =

∫

TA(s)TB(|�b − �s|)d2s A%�GGB

����� 2��
���� �� ��
��4������ ��� ������� ��� !# �"��� %�5 ���� ��� 
�!!������

 /
 �� %�/%� 
���� ��� 2��
���� �� �#�#�.��� �����#
�  � ����� 2��
���� # ���
#<����� �#� ��� 2��
���� �#��� ��#!!��� "#�������� ; H �#�#�.���� ���� !# 2���� ��� !#
���4#��� 	

TAB(b) = α0 · exp

(

− b2

2α2
1

)

+ α2 · exp

(

− b4

2α4
3

)

A%�G5B

&�� �#�#�.���� ��#<�������� ���� ��"������ �#�� !� �# !�#� %�5�

α0 A� −1B α1 A2�B α2 A� −1B α3 A2�B

�PbPb(b) N0GG�×10−4 H0�L3 G0KLL×10−4 O0KNN

�ArAr(b) G0��O×10−3 50K3� �055G×10−3 H0�KG

���� �<' = /��������� ���7�������� �� �� �
�
��
� �� ��

�������� ��
������ 

��
��� 

�����
�� /�5/� �� @�5@��
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� � #
�������� ����
�
�$� 
X �� ��
���� �s ��A��� �� 
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�������� ���
���" �
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�
���� 

����������

0 2 4 6 8 10 12 14 16 0 1 2 3 4 5 6 7 8 9
0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

−3
10×

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

−3
10×

TPbPb ��(−1	 TArAr ��(
−1	

b �fm	b �fm	

� +

���� �<' = D
�
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������ �� �
�
��
� �� 
�������� ����
�
� ��
�� 

�����
� 

�� ��� 

�����
�� /�5/� #�$ �� @�5@� #�$�

\ �#���� �� !����#���� %�G�0 �� ���� ���������� !# ��
���� �Q
#
� ���!#������ I ����/
���  �#� J A�#�� #�
�� 
���.�� �� 
����#!���B �� ����"�#�� !# ��
���� �Q
#
� ���!#������
��� !� ��#�.��� �� ��?#� A�#�#�.��� �����#
� �#6����B� 
��� ��� 
�!!������ 
 /
 0
!� �#�#�.��� �����#
� �#6���� ��� bmaxeGN 2�0 �#���� ��� ���� ��� 
�!!������ %�/%�0
�! ��� �� !������ �� L 2��

$! 2#�� ����� ��� �#�� !� ���#��� X�0 bmax℄0 !# ��
���� �Q
#
� ���!#������ �� ����!���
�� # ��� ������#�
� ��#��#����� #� �#�#�.��� �����#
� 	

σinel
AB (b) ∝ b2 A%�G3B

���7�� �� 
�  ������ ��� ����$��� �

�� ����#�� �� !# �E�� �#��.��0 �� ���� �"#!����� ���������� !� ��� �� ��?�� ��

�!!������ ���!#������� ������/������ �#�� ��� 
�!!����� ��?#�/��?#� ���� �� �#�#�.���
�����#
� �6� ;  	



��  ����� ��#��9��#�� �33

N inel
AB (b) = AB · TAB(b) · σinel

pp A%�GHB

+� 
����#�� ��� !� 
����������� �� ��� �� ��?�� �� 
�!!������ ���!#������� ������/
������ �� �� ��� �� ��?�� �� ���
����� ���� �� 2��
���� �� �#�#�.��� �����#
�  
��� ����!#��� ; 
�!�� �� !# 2��
���� �� ��
��4������ ��
!�#��� ������� ��� !# �"��� %�5�
���!� !# ����#!��#���� ��� ��������


#�� !� 
#� �� 
�!!������ ��?#�/��?#� �?�������� %/%0 !� ��� �� �� 
�!!������ ��/
�!#������� ���� ; �6������ !� 2#
���� �� �����
#���� ��
!�#��� RAA 	

RAA(p�, y, b) =
dNAA/dp2

�dy

N inel
AA (b) × dNpp/dp2

�dy
A%�GNB

��� !��� ���� ���
���� �� !# 2#U�� ���4#��� 	

RAA(p�, y, b) =
dNAA/dp2

�dy

A2 · TAA(b) · σinel
pp × dNpp/dp2

�dy
A%�G�B

�� 2#
���� 4#�� G �� !�� 
�!!������ ������/������ ���� ��������#���� !��� ����� 
�!/
!����� %/%� 
#� 
�����0 �� 
� 2#
���� ��M.�� �� !������ #!��� !�� 
�!!������ ������/������
�����2.���� ����� �!!���

���7�� �� ��
 ���� !����
�!���� �


#�� ��� 
�!!����� ��?#�/��?#�0 !� ��� �� �� ��
!���� �#���
��#��� ; #� ����� ���

�!!����� ��
!���/��
!��� ���!#������ �#��� !�� %[7 ��
!���� ���
��� 	

N part
AB (b) = A

∫

TA(s) ·
[

1 − pinel
B (0, |�b − �s|)

]

· d2s

+ B

∫

TB(s) ·
[

1 − pinel
A (0, |�b − �s|)

]

· d2s A%�GOB

�T pinel
A ��� ����� ���
������� A
2� ���#���� %�3B� &� ��� �� �� ��
!���� ���
�#�����

; !# 
�!!����� �� ������ #!��� 	

N spec
AB (b) = A + B −N part

AB (b) A%�GKB

����� � ���4# !�0 �����# !� #4�
 �� I 
#!����.��� ; =��� ��"�� J0 ���� E��� ���!����
���� �4#!��� !# 
����#!��� �� !# 
�!!����� ��?#�/��?#��

���� �� !����
���� ��� !��
����� ���� �

�� ��������#�� �� !����#���� %�O0 !� ��� �� ��?�� �� ���
����� ���� A��#�F� !�����
�� ��#�F���#0 �#� �6���!�B �#�� !�� 
�!!������ ��?#�6/��?#�6 ���
���0 ���� �� �#�#�.���
�����#
�  �6� 	

N hard
AB (b) = AB · TAB(b) · σhard

pp A%�GLB


��� ��� 
!#��� �� 
����#!��� ������ Ab1 < b < b2B0 
� �#�6 �� �����
���� ���� E���
��?���� ��� !� ���#��� �� 
����#!��� �� ���6����� 	

< N hard
AB >=

1

π · (b2
2 − b2

1)
×

∫ b2

b1

AB · TAB(b) · σhard
pp d2b = RG × σhard

pp A%�5�B



�3. V �� %��&�� �� ������� V

�T !� 2#
���� RG ��� �� 2#
���� "���������� ��� ������ ���������� �� ���#���
�� 
����#!��� �� ��� ��?#�6 ��� �� <�� !��� �� !# 
�!!������

	�
���� �K
�
� !���  �� !��
����� ���� �

&# ��
���� �Q
#
� ��?#�/��?#� ��� ���
����� ���� �l�
��� 
���� ���� 	

d2σhard
AB

d2b
= AB · TAB(b) σhard

pp A%�5GB


��� ��� 
�!!������ ��?#�/��?#� I �������  �#� J A�#�� #�
�� 
���.�� �� 
����#!���B0
!# ��
���� �Q
#
� �� ����!��� �� ���6����� �� !# �#��.�� ���4#��� 	

σ
hard [MB]
AB = AB · σhard

pp A%�55B

���$���
� ��!�������� � ��� 
�  ������ ��#��9��#�� �


��� ��� !��������� L �6��0 �� ���� ����� ��� !# 2������
� ��� 
�!!������ ��?#�/
��?#� ���� ��� 
!#��� �� 
����#!��� ������ 	

< f coll
AB > = L × < σgeo

AB > A%�53B

�T σgeo
AB ���������� !# ��
���� �Q
#
� "���������� ��?#�/��?#�� ����� �����.�� ���
��� 	

< σgeo
AB > ≃ π × (b2

2 − b2
1) A%�5HB

���$���
� ��!�������� � �� !����
���� ��� !��
����� ���� �


��� ��� 
!#��� �� 
����#!��� ������0 �� ���� �#�����#�� ��# !�� !��6�������� �� !#
2������
� �6��������#!� �� �����
���� ��� ���
����� ����� �!!� ��� ����� #���� 	

< fhard
AB > =< f coll

AB > × < Nhard
AB > =< f coll

AB > ×RG × σhard
pp A%�5NB
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���� �� ����� � ����� !��� ��� ����� �� ���� I ����#��� J ����

���6 4#!���� �� �#��� ������� #4�
 !� �?��.�� %
�!� A�� �#��B �� #4�

�� �?��.�� �� ���
�����#���� ; ����!� ����! A��  #�B� � � � � � � � � � � �H

5�53 �
���# "!� #! �� !��!�
�������� �� I ���""�� J �� ���
����.��� ; �����
��%&$��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � �N

5�5H ��#-�� �������!!� �� !��!�
�������� �� I ���""�� J �� ���
����.��� ;
����� ������ !������#
���� <�����; !# ��
����� �� I ���""�� J "!� #!� � � �N

3�G �
���# �� ���������2 �6��������#! ���!��� !��� ��� ����� ���� 2#��
�#� ��
#�i� 5��3 #� ����0 
������#�� 3 
�#� ��� ; �!� A
Z�B �� 5 ����/
�
���� �� �
����!!#����� �!#������� #���
��� ; ��� �������!���!�
#������ � OG

3�5 
������� �� !# �
� ������ ��� �� ��� �!#�� �� ����
���� �� I ���""�� J
�� ���
����.��� ; ����� A; "#�
��B0 �� ��"����#���� ��� ���6 �!#�� ��
!�
���� � �� ) �� 
���� �
� �� ����� �� I ������ J A; ������B� � � � � � OG

3�3 �
���# ���������#�� ���  #��� �� ��#��������� AI ����� JB� &� ��"�#!
�!�
������ AIiB ������ �#� !� �#��#"� ����� �#���
�!� 
�#�"�� �#�� !� 4�!���
�� "#=0 �� ����#"� <�����; !# 
#��� ���!�
�������� ��7 �� <�����; !# 
#���
��#�#��#���� ��%� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � O5
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3�H ���� �� ���Q
#
��� ���� 
�#
�� ��� ���6 �!#�� A� �� )B0 ���� ���6
��������� ��M������� �� 2#��
�#� ��� !# �
�� � � � � � � � � � � � � � � � ON

3�N :#!��� �� !# �#��� ������� ���� ��� �Q
#
��� �6�� ; K�R �� 2��
���� ��
!# �������� ����=���#!� 6 A!��"���� �� 5G� 
�B0 ���� ��M������� ���������
4����
#!�� ? A�#����� �� O5 
�B� 
!#� �� I ������ J � ; "#�
�� �� �!#�
�� I ������ J ) ; ������� � � � � � � � � � � � � � � � � � � � � � � � � � � O�

3�� :#!��� �� !# �#��� ������� ���� ��� �Q
#
��� �6�� ; LNR �� 2��
���� ��
!# �������� ����=���#!� 6 A!��"���� �� 5G� 
�B0 ���� ��M������� ���������
4����
#!�� ? A�#����� �� O5 
�B� 
!#� �� I ������ J � ; "#�
�� �� �!#�
�� I ������ J ) ; ������� � � � � � � � � � � � � � � � � � � � � � � � � � � O�

3�O �#��� ���Q
#
��� ; K�R �� 2��
���� �� !# �������� �� �� !# �#��� �������
���� !� �!#� �� &��  #���� ������ ������������ !# �������� ��� 
#����
��7 ��� !# �
�� &�� I ������ J ���� ��������
�!#���� ; 
��  #���� #4�

K I ������ J �#�  #����� � � � � � � � � � � � � � � � � � � � � � � � � � � OO

3�K �#��� ���Q
#
��� ; K�R �� 2��
���� �� !# �������� �� �� !# �#��� �������
���� !� �!#� )� &��  #���� ������ ������������ !# �������� ��� 
#����
��7 ��� !# �
�� &�� I ������ J ���� ��������
�!#���� ; 
��  #���� #4�

K I ������ J �#�  #����� � � � � � � � � � � � � � � � � � � � � � � � � � � OK

3�L 
�M����
� ����� !# �#��� ������� ��� !� �!#� � �� !# �#��� ������� ���
!� �!#� ) ���� ��� �Q
#
��� �6�� ; K�R �� 2��
���� �� !# ��������� &#
��"����#���� ��� �!#�� �� !�
���� �� � �� ) ��� �"#!����� ������������ OL

3�G� �#�!!� ��� I 
!������ J ���� ��� I ������ J �� 5 
�0 3�� : #�/������ ��
"����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � K�

3�GG :#!��� ��?���� �� !# �#�!!� ��� I 
!������ J �� 2��
���� �� !# �#���
������� #� 4�����#"� �� "���� A��2����
� � :B ���� ��� I ������ J ��
G 
� �� �!#� �� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � KG

3�G5 :#!��� ��?���� �� !# �#�!!� ��� I 
!������ J �� 2��
���� �� !# �#���
������� #� 4�����#"� �� "���� A��2����
� � :B ���� ��� I ������ J ��
5 
� �� �!#� �� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � KG

3�G3 :#!��� ��?���� �� !# �#�!!� ��� I 
!������ J �� 2��
���� �� !# �#���
������� #� 4�����#"� �� "���� A��2����
� � :B ���� ��� I ������ J ��
H 
� �� �!#� �� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � KG

3�GH I �,� �
� J A; ������B �� I ��"�# �
� J A; "#�
��B �� 2��
���� �� !#
�#��� ������� #� 4�����#"� �� "���� A��2����
� � :B ���� ��� I ������ J
�� 5 
�� &�� 4#��# !�� I �,� �
� J �� I ��"�# �
� J ���� �������
�#�� !� ��6��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � K5

H�G ��� �� ��?�� �� ����� ���� �#�� !�#

���#�
� �� ���
����.��� ;
����� ���� ��� ����!���� ��#��4���� pT ���������� ; �� ����! pT ����/
��� Apmin

T B0 �� ���� !�� ����
��#!�� ����
�� �� ����� XL�℄� � � � � � � � KN
H�5 
����� ������ �� ������/�#������ A#B �� �� ����!���� ��#��4���� A B ���

����� 
�#�"�� �� ��� F#��� 
�#�"�� ���� ��� 
�!!������ 
����#!�� 
 /
 
� ������ #4�
 ������� � � � � � � � � � � � � � � � � � � � � � � � � � � � K�

H�3 
����� ������ �� ������/�#������ ��� �#���
�!�� 
�#�"��� ���� ��� 
�!/
!������ 
����#!�� 
 /
 � ������ ; �#���� �� ��M������ "����#������ &#
2��E��� �� ������/�#������ 5�N d η d H 
��������� ; !�#

���#�
� ��
���
����.��� ; ������ � � � � � � � � � � � � � � � � � � � � � � � � � � � K�

H�H 
����� ������ �� ����!���� ��#��4���� A#0  B �� �� �#������ A
0 �B ���� !�
>Dψ A#0 
B �� ���� !� Υ A 0 �B !��� �� 
�!!������ 
 /
 ; N0N ��: A�������
�� �
� �6��#��!��� ; N0N ��:B� &# ����#!��#���� ��� #� ���#���� � � � � LG
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H�N �Q
#
��� �� ��2����
� �� I ���""�� J ���� ��� ����� ����!�� �� 2��
����
�� !�����!���� ��#��4���� ��� ����� ���� !# 
������  #��� �� pT A#B ��
���� !# 
������ �#��� �� pT A B� � � � � � � � � � � � � � � � � � � � � � LH

H�� �#���� ���Q
#
��� ��� ����� ����!�� �� 2��
���� �� !�����!���� ��#��/
4���� �� �� !# ������/�#������ ��� ����� �#�� 
������ �� pT AI #!! pT J
�� �#��B0 ���� !# 
������  #� pT A#� 
�����B �� ���� !# 
������ �#�� pT

A��  #�B� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � L�

H�O ���
���� �� ����!���� ��#��4���� ��� ����� ����� �� !# �������"�#����
��� �#����� 
�#���� A#B �� ��� �#�����  �#�6 A B� � � � � � � � � � � � LO

H�K �Q
#
��� �� ����
���� �� >Dψ A�� �#��B �� �� Υ A��  #�B �� 2��
����
�� !�����!���� ��#��4���� A; "#�
��B �� �� !# �#������ A; ������B �� !#
�����#�
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � G��

H�L �#
���� "���������� ���� �� ���.!� �� 8!#� �� ARGB ���� !�� 
�!!������

 /
 �� %�/%� �� 2��
���� �� !# 
����#!��� �� !# 
�!!������ � � � � � � � G�N

H�G� ��� �� ��?�� �� ����� ����!�� A�����.�� !�"��B0 �� ������� �� ��"���
��M������ A���6�.�� !�"��B �� �� ������� �� �E�� ��"�� A������.�� !�"��B
�#� �4������� 
 /
 2�#�
����#�� !�� ��M������� 
������� �� I ���"/
"�� J 	 �#�� ��!�
���� �� pT A
������ %��0 �����.�� 
�!����B0 #4�
 !#

������  #��� �� pT A���6�.�� 
�!����B �� #4�
 !# 
������ �#��� �� pT

A������.�� 
�!����B �� 2��
���� �� !# 
����#!��� �� !# 
�!!������ � � � � � GG5

H�GG 
�� # �!��� �� I ���""�� J ���� !�� ����� ����!�� A�����.�� !�"��B0 !��
������� �� ��"��� ��M������ A���6�.�� !�"��B �� !�� ������� �� �E��
��"�� A������.�� !�"��B ���� ��� 
�!!������ 
 /
 �� ���� !�� ��M������
����!� �� pT �� I ���""�� J 	 �#�� ��!�
���� �� pT A
������ %��0 �����.��

�!����B0 #4�
 !# 
������  #��� �� pT A���6�.�� 
�!����B �� #4�
 !# 
��/
���� �#��� �� pT A������.�� 
�!����B� &# ��� # �!��� �� I ���""�� J #
��� ��#������ ���� ����
������ ; �#���� �� !# ������� �� !�#!"������� ��
I ���""�� J A������ �����B0 ���� �� ������#�� �� 
����������� �������/
���� A������ ���"��B A
2� ���#����� H�GO0 H�GK �� H�55B� � � � � � � � � � � GG3

H�G5 �#�6 �� I ���""�� J ����"��� Ab < bmaxB ���� !�� ����� ����!�� A�����.��
!�"��B0 !�� ������� �� ��"��� ��M������ A���6�.�� !�"��B �� !�� �������
�� �E�� ��"�� A������.�� !�"��B ���� ��� 
�!!������ 
 /
 �� ���� !��
��M������ ����!� �� pT �� I ���""�� J 	 �#�� ��!�
���� �� pT A
������ %��0
�����.�� 
�!����B0 #4�
 !# 
������  #��� �� pT A���6�.�� 
�!����B ��
#4�
 !# 
������ �#��� �� pT A������.�� 
�!����B� &�� �#�6 �� I ���""��
�������  �#� J AbmaxeG� 2�B ���� �"#!����� ��������� � � � � � � � � � GGH

H�G3 �#�6 �� I ���""�� J ����"��� Ab < bmaxB ���� !�� ����� ����!�� A�����.��
!�"��B0 !�� ������� �� ��"��� ��M������ A���6�.�� !�"��B �� !�� �������
�� �E�� ��"�� A������.�� !�"��B ���� ��� 
�!!������ %�/%� �� ���� !��
��M������ ����!� �� pT �� I ���""�� J 	 �#�� ��!�
���� �� pT A
������ %��0
�����.�� 
�!����B0 #4�
 !# 
������  #��� �� pT A���6�.�� 
�!����B ��
#4�
 !# 
������ �#��� �� pT A������.�� 
�!����B� &�� �#�6 �� I ���""��
�������  �#� J AbmaxeG� 2�B ���� �"#!����� ��������� � � � � � � � � � GGN
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H�GH �#�6 �� I ���""�� J ����"��� Ab < bmaxB ���� !�� ����� ����!�� A�����.��
!�"��B0 !�� ������� �� ��"��� ��M������ A���6�.�� !�"��B �� !�� �������
�� �E�� ��"�� A������.�� !�"��B ���� ��� 
�!!������ 
 /
 �� ���� !��
��M������ ����!� �� pT �� I ���""�� J 	 �#�� ��!�
���� �� pT A
������ %��0
�����.�� 
�!����B0 #4�
 !# 
������  #��� �� pT A���6�.�� 
�!����B ��
#4�
 !# 
������ �#��� �� pT A������.�� 
�!����B� &�� �#�6 �� I ���""��
�������  �#� J AbmaxeG� 2�B ���� �"#!����� ��������� &�� 
���������
���!����� ���� !� 
#!
�! �� 
�� �#�6 �� I ���""�� J ���� ��������� �#�� !�
��6��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � G5�

H�GN ��� �� �� 
���� A; "#�
��B �� ������� �� 
���� A; ������B ��� !# �����.��

�#� �� �� I ���""�� J �#� 
�!!����� 
����#!� 
 /
 A�� �#��B �� %�/%�
A��  #�B� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � G55

N�G ���
��� �� �#��� ��� ������� ���/
����!�� �� ��"��� ������� A������!!�
����B �� ���
��� ���#! �� �#��� ��� ������� �� ��"��� ������� ��"����#��
!�� 
�����#���� ���/
����!�� �� 
����!�� A!�"�� ���"�B� ��� ���6 ���
����
���� ����#!���� ; �� ���� �� 
�!!������ 
����#!�� 
 /
 � � � � � � � � � � G35

N�5 %<�������� �� !# 2���� �� ����!�� #4�
 ��� 7����/Z�"��� ������� A!�"��
���"� 
�������B �� ��� 
��4�!����� ����� &#��#� #4�
 ��� 8#��������
A!�"�� ����� ���
�������B �� �
��!!� !���#��� A; ������B �� !�"#���������
A; "#�
��B� &�� 2��
����� �� 2���� ���!����� ���� !� ����!�� ���� �������
�#�� !� ��6��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � G33

N�3 %<�������� �� !# 2���� ��� ��#�� ����!��� &# 2��
���� �� 2���� ���!����
���� 
�#��� ��#� ����!�� ��� ������ �#�� !� ��6��� � � � � � � � � � � � � G33

N�H %<�������� �� !# 2���� �� 
�������� 
����!� A
�#��� [  �#���B #4�

��� 2��
���� �6��������!!� �#�� !� ���#��� �� �#��� ��4#��#��� 4 <
Mµ+µ− < 8 �� 11 < Mµ+µ− < 12 8�:D
2� � � � � � � � � � � � � � � � � � G3H

N�N ���
��� �� �#��� ��� ������� 
����!�� �� ��"��� �������0 #��.� ������#
/
���� �#�2#��� �� 
�������� ���/
����!�� �� ���
��� ��� ����#!��� ; ��
���� ��#
��������� �� 
�!!������ 
����#!�� 
 /
 A106�B0 #4�
 ��� !�����/
���� �� 5× 1026 
�−2�−1� &�� �#�6 �� �����
���� ���� !�� ��#�� ����!��
�� !� 
�������� 
����!� ���� �6��#��� ; �#���� ���� #<�������� "!� #! ��

� ���
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � G3N

N�� ���
���� �� �#��� ��� ������� 
����!�� �� ��"��� ������� �� �#�6 ��
�����
���� #������� ���� !�� ��#�� ����!�� 
���������#�� ; �� ���� ��

�!!������ 
 /
 ���� !�� 
!#���� �� 
����#!��� #����� ��� 
�!!� ���������
�"��� N�N �� ���� !�� 
�!!������ �#�� 
���.�� �� 
����#!��� AI �������
 �#� JB� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � G3�

N�O 
����� ������ ��� �#�6 �� �����
���� ��� ��#�� ����!�� AΥ0 Υ�0 ΥmB �6/
��#��� ���� G��� #<��������� ��M������ ���� !�� 
�!!������ 
����#!�� 
 /

 � ��#��� #<�������� 
��������� ; ��� ]�
��#����� ��#��������� I  �� J
; I  �� J ��M������� ���� !� ���
��� ���#! ��� �������� ��� ������ ������
���� #<������ #4�
 ��� "#�������� 	 !# 4#!��� ��?���� �� !��
#�� �?��
������� �����
��4����� !� �#�6 �� �����
���� ��?�� �� !������� ��#���/
����� #���
��� ���� !�� ��#�� ����!��� � � � � � � � � � � � � � � � � � � � G3O

N�K ���
���� �� �#��� ��� ������� �� ��"��� ������� ���4��#�� �� 
�#���

����!� A; "#�
��B �� �� !#  �#��� 
����!�� A; ������B0 #<����� #4�
 !��
2��
����� �� 2���� ������� �#�� !� ��6��0 ���� Mµ+µ− > 2 8�:D
2� � � � G3L
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N�L ���
��� �� �#��� ��� ������� 
����!�� �� ��"��� ������� ���4��#�� �� !#
�������"�#���� �� >Dψ A�� �#��B �� �� ψ′ A��  #�B0 #<���� #4�
 !# 2��
����
�� 2���� ������ �#�� !� ��6��� � � � � � � � � � � � � � � � � � � � � � � � GH�

N�G� ���
��� �� �#��� ��� ������� 
����!�� �� ��"��� ������� �� �#�6 ��
�����
���� #������� ���� !�� ��M������� 
�����#���� �� ���
��� Acc̄0
bb̄0 >Dψ0 ψ�0 Υ0 Υ� �� ΥmB0 ���� !�� 
��� 
!#���� �� 
����#!��� �� ���� !��

�!!������ �#�� 
���.�� �� 
����#!��� AI �������  �#� JB� ��� �#�6 �� ���/
��
����0 �6��#��� ; �#���� ���� #<�������� "!� #! �� ���
��� AMµ+µ− >
2 8�:D
2B #4�
 !�� 2��
����� �� 2���� ��� ��M������� 
�����#����0 
��/
���������� ; �� ���� 
�!!������ 
 /
 A106sB #4�
 ��� !��������� ��
5 × 1026 
�−2�−1� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GHG

N�GG 
����� ������ ��� �#�6 �� �����
���� �6��#��� ���� G��� #<���������
��M������ ���� !�� 
�!!������ 
����#!�� 
 /
 � ��#��� #<�������� 
��/
������� ; ��� ]�
��#����� ��#��������� I  �� J ; I  �� J ��M������� ����
!� ���
��� ���#! ��� �������� ��� ������ ������ ���� #<������ #4�
 ���
"#�������� 	 !# 4#!��� ��?���� �� !��
#�� �?�� ������� �����
��4����� !�
�#�6 �� �����
���� ��?�� �� !������� ��#�������� #���
��� ���� !#  �#���

����!��0 !� 
�#��� 
����!�0 !�� ��#�� 
�� A>Dψ0 ψB �� !�� ��#�� ����!�� AΥ0
Υ′B� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � GH3

N�G5 �#����� Υ′/Υ �� 2��
���� �� ��� �� �� ��
!���� �#���
��#��� ; !# 
�!!�/
���� 
 /
 X�H℄0 �#�� 2���#���� �� �!#��# �� ��#�F� �� �� "!���� A������
����B �� #4�
 2���#���� ���� �!#��# �� ��#�F� �� �� "!���� ���� ���6

#� �6��E��� 
���������#�� �����
��4����� ; ��� ������#���� �� ��/

��������� �� GL� ,�: A������  !#�
B �� 5O� ,�: A���#�"!�� ����B�
�� �#����� �� !�� ������� ��#��������� 
���������#���� ��� ��� ��#������
���� �� ���� �� 
�!!������ 
 /
 #� &(� #4�
 ��� !��������� �� 5×1026
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%�G �
���# ���������#�� !# 
�!!����� �� ���6 ��?#�6 % �� 7 ���#��� �����
����#�
�  A�#�#�.��� �����#
�B0 �T !� 4�
���� �s ������ !� ����� �� ��/

��4������ ��� ���6 ��?#�6� %�� �� ����!���� !� �
���#0 !�� 4�
�����
�b �� �s ���� 
������ 
�!���#����� � � � � � � � � � � � � � � � � � � � � � � � GNH

%�5 ���
���� �� ��
��4������ ��
!�#��� �� 2��
���� �� �#�#�.��� �����#
�
�� !# 
�!!����� ���� ��� 
�!!������ 
 /
 A#B �� %�/%� A B� � � � � � � � � GNH





 

�� ��
 �������*

G�G '���"�� �#�� !� 
����� �� �#��� A
√

sNNB0 ������� ������"�� 
#!
�!�� ����
τ = 1 2�D
 AǫB0 ����� �� 2���#���� �� �!#��# Aτ0B0 ����� �� 4�� ��
�!#��# AτQGPB0 ����� �� I 2���=� ��� J AτfB �� 4�!��� �� I 2���=� ��� J
AVfB ���� ��� 
�!!������ 
����#!�� #� �
�0 #� �($� �� #� &(� XG30 GH0 GN℄� GG

G�5 ���
����
���� ��� ��#�F���# �#�� !� 4��� AMi, ri, ∆EiB0 ������#���� ��
�����
�#���� ��� ��#�F���# �#�� !� ��!��� ATdB X3K℄ �� 
����� ����� ���
��#�� �6
���� ; !���#� 2���#����#! Af i

J/ψ,ΥB XL3℄� Tc ��� !# ������#����

������� ������� ; ��4���� GO3 ,�: �#� !�� 
#!
�!� �� *�
 ��� ����#�� � 5N

G�3 ���
����
���� �6��������#!� ��� ��#�F���# X3L℄� � � � � � � � � � � � � � 5�
G�H 
#�#�.��� �� ���.!� ���4#���#���� �� 
��!��� �6� �#� !�� ������� �6/

��������#!�� XHG℄� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 5L

5�G 
���
��#!�� 
#�#
����������� #�������� #� &(� ���� !�� 2#��
�#�6 �� ���/
��� �� �� �!�� � 
#�� !� 
#� ��� 
�!!������ ��?#�/��?#�0 !# ��
���� �Q
#
�
���!#������ ��� #����6��#��4����� �"#!� ; !# ��
���� �Q
#
� "����������
I �������  �#� J A
2� %���6� %B� � � � � � � � � � � � � � � � � � � � � � 3K

5�5 ����!������ ��#��#!�� Ar − φ0 zB0 ����!� �� ��� !� ��#
��0 ���� !�� �����
��M������� 
��
��� �� ����
����� #� ��!�
��� �� !�$�� A�

0 �

 �� ��
B� HH

5�3 ��"�#�6 �� I ���""�� J ���� !�� ��4�#�6 &� �� &G ���4��#�� ��� ��M������
����
����� ��%&$�� �� ��
���!!�� �#� !� ��
 ���� !�� 
�!!������ 
 /
 � � N�

5�H ���������� �� I ���""�� J ���� !�� 
!#���� �� I ���""�� J ���!���#�� ��
��� I ���""�� J �� ���
����.��� ; ������ � � � � � � � � � � � � � � � � � NO

3�G �#�#
����������� ��� I ������ J �� �� ��"�#! ��#����� ; !# 
#��� ���!�
���/
����� ��7� &# 4#!��� �� Ii ��� ����� #� ���#������� ; Ii e 5 �%� � � � � O5

3�5 :#!��� ��?���� �� !# �#�!!� ��� I 
!������ J #� "���� A�� �#��B #����
���#� ����� �� 2��
���������� A��  #�B ���� ��� I ������ J �� G 
�0
5 
� �� H 
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � K�

H�G 
#�#�.���� ��� ������ ������ �� ������/�#������ ��� ����� �� F#��� 
�#�/
"�� ������ �� ������ ���� ��� 
�!!������ 
����#!�� 
 /
 �� %�/%�� � � � KO

H�5 ,�!���!�
���� �� ����� 
�#�"�� Aπ±B0 �� F#��� 
�#�"�� AS±B �� �� �����
�� F#��� ������� �� 
�#�"�� Aπ0 SBtot �������� �#�� !# 2��E��� #�"�!#���
X�f0 5�f℄ !��� �� 
�!!������ 
����#!�� 
 /
 �� %�/%�� � � � � � � � � � � � KK

H�3 
#�#�.���� ��#<�������� ��� ������ ������ �� �#������ �� �� ����!����
��#��4���� ���� !�� �#����� 
�#���� �� !�� �#�����  �#�6 � ������
#4�
 �	
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � KL

H�H �#�6 �� �����
���� �� 2#
���� �� I ��#��@��" J ���� !�� ��#�F� 
�#����
��  �#�6 �#�� !�� 
�!!������ 
����#!�� 
 /
 A%�/%�B ;

√
sNNeN0N ��:

A�03 ��:B� &# ��
���� �Q
#
� ������/������ ;
√

sNNeN0N ��: A�03 ��:B
��� �"#!����� ��������� � � � � � � � � � � � � � � � � � � � � � � � � � � � L�

G�N
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H�N �#�6 �� �����
���� �� 2#
���� �� I ��#��@��" J A; �#�#�.��� �����#
�
��!B ���� !� φ0 !�� 
�#�����# A>Dψ0 ψ′B �� !��  ��������# AΥ0 Υ′0 Υ′′B �#��
!�� 
�!!������ 
����#!�� 
 /
 A%�/%�B ;

√
sNNeN0N ��: A�03 ��:B� &#

��
���� �Q
#
� ������/������ ;
√

sNNeN0N ��: A�03 ��:B ��� �"#!�����
�������� XL3℄� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � L5

H�� �#�#
����������� #�������� #� &(� !��� ��� 
�!!������ �/�0 %�/%� �� 
 /

 0 �T 〈L〉 ���������� !# !��������� ��?����0 σinel ��� !# ��
���� �Q
#
�
���!#������ �� �coll ��� !� ��� �� �� 
�!!������ ���!#������� �#� ��
����� � L5

H�O 
#�#�.���� �� !# 2��
���� ��� ��������� !# ������� �� I ���""�� J ���4#��
!# 
������ �� pT 
��������� �� ���� !�� ���6 ���������� �� !��Q
#
���
�� I ���""�� J A��2����
� �� "����������B� &��Q
#
��� �����#!� AǫnomB0
�4#!��� ; pT e G� 8�:D
 A#� �!#��#�B0 ��� �������� �"#!������ � � � � � LH

H�K �Q
#
���� �� ��<�
���� ���� !�� ����� �� �������"�#���� ��� πDS0 �#/
����� 
�#���� �� �#�����  �#�6 ���4#�� !# 
������ �� pT #��!������
&������� ��#�������� ��� !�� �Q
#
���� ��� �� !������ �� ��NR� &�� �Q
#
�/
��� �� ��<�
���� ��� ��� 
#!
�!��� ; �#���� �� ���6 ��������0 !# �������
��#��#�� �� !# ������� �#� 
��4�!����� ��� ���
����� � � � � � � � � � � LN

H�L 
#�#�.���� �� !# 2��
���� ��#<�������� �� ���
��� �� ����!���� ��#��/
4���� ��� ����� ����� ��� �#����� 
�#���� ��  �#�6� � � � � � � � � � � LO

H�G� �#
����� ��#

���#�
� "���������� AαgeoB �� ��#

���#�
� 3DH Aαtrig
geo B

���� !�� ��#�F���#� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � LL

H�GG �Q
#
���� �� ����
���� ��� �����#�
�� ���4#�� !# 
������ �� pT #��!�����
#� ��4�#� �� I ���""�� J� &������� ��#�������� ��� !�� �Q
#
���� ��� ��
!������ �� ��NR� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � LL

H�G5 �������
�� AfB �� ��� ��� �� ��#�F���# AN B �� I ���""�� J ���� !��
��M������� �����#�
�� Aφ0 >Dψ0 ψ′0 Υ0 Υ′ �� Υ′′B ���4#�� !# 
������ �� pT

#��!����� #� ��4�#� �� I ���""�� J� &�� 2������
�� ���� ������� ���� !��

�!!������ 
 /
 �� %�/%�0 �#�� #�
�� 
���.�� �� 
����#!��� AI �������
 �#� JB �� !�� �#�6 �� ��
!��
������ ���� ������ ���� �� ���� ��#
���/
������ �� 
 /
 �� %�/%� �#�� #�
�� 
���.�� �� 
����#!���� &# 2������
�
�� 
�!!������ ���!#������� ��� �������� ; ����� �� 
���#�#����� � � � � � � G�G

H�G3 �������� �� I ���""�� J ��� �� ������� #�
�� ��"�#! ������ �� ��"���
��M������� &�� ��� # �!���� #���
���� ; 
�� �?��� �� �������� ���� �"#!�/
���� ���������� &�� ���#����� ���� ������� �#�� !� ��6��� � � � � � � � � G�5

H�GH �������� �� I ���""�� J ��� �� ������� #�
�� ��"�#! ������ �� �E��
��"��� &�� ��� # �!���� #���
���� ; 
�� �?��� �� �������� ���� �"#!�����
���������� &�� ���#����� ���� ������� �#�� !� ��6��� � � � � � � � � � � � G�3

H�GN ��� �� ��?�� �� ����� ��� �#����� !�� ��M������� 
������� �� pT ��
I ���""�� J AI ����� ��
!��
����� JB ���� ��� 
�!!������ 
����#!�� 
 /
 
�� %�/%�� &# 
�����#��� �����0 πDS → µ0 
��������� ; !# ����
� ��
����� �� F#��� �T !�� "�� �� �#��������� ��� ���  !������0 �#���� ���
���� !# 
�����#��� �����0 πDS → #!!0 !� ��4�!�������� ��� "�� �� ���
#�������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � G�K

H�G� �#�6 �� I ���""�� J 
 /
 �� %�/%� I �������  �#� J ���� !�� �����
����!��0 !�� ������� �� ��"��� ��M������ �� !�� ������� �� �E��� ��"���
�#�� ����� �� 
����� ��� �M��� 
�� ��#������0 ���� !�� ��M������ ����!�
�� pT �� I ���""�� J� &� ��� �� �� 
�!!������ ���!#������� �#� ��
����
��� ������� ; ����� �� 
���#�#����� � � � � � � � � � � � � � � � � � � � � G�L
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